#### **Bid #PNC2120194B1 - Parks Construction and Improvements**

Start Date Apr 1, 2020 4:07:44 PM EDT Awarded Date Not Yet Awarded

PNC2120194B101-01 Miscellaneous: Unsuitable Soil M	laterials Removal					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$13.80	20 / cubic yard	\$276.00		Υ	
		Supplier Product Co Supplier Notes:	ode:			
Waypoint Contracting, Inc.	First Offer - \$21.94	20 / cubic yard	\$438.80	Y	Υ	
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:				
West Construction, Inc. [Ad]	First Offer - \$23.00	20 / cubic yard	\$460.00	Υ	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
ENCO, LLC	First Offer - \$30.00	20 / cubic yard	\$600.00	Υ	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
FHP Tectonics Corp	First Offer - \$30.61	20 / cubic yard	\$612.20		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
MBR CONSTRUCTION, INC.	First Offer - \$66.72	20 / cubic yard	\$1,334.40	Υ	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Emerald Construction Corp. [Ad]	First Offer - \$768.00	20 / cubic yard	\$15,360.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$15.53	150 / cubic yard	\$2,329.50		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:			
FHP Tectonics Corp 👔	First Offer - \$15.77	150 / cubic yard	\$2,365.50	Υ	Y	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:			
West Construction, Inc. [Ad]	First Offer - \$23.00	150 / cubic yard	\$3,450.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
MBR CONSTRUCTION, INC. 👔	First Offer - \$23.40	150 / cubic yard	\$3,510.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Waypoint Contracting, Inc.	First Offer - \$26.81	150 / cubic yard	\$4,021.50		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
ENCO, LLC 👔	First Offer - \$35.00	150 / cubic yard	\$5,250.00		Y	
Product Code: Agency Notes:	1 1	Supplier Product Cod Supplier Notes:	e:			
Emerald Construction Corp. [Ad]	First Offer - \$36.00	150 / cubic yard	\$5,400.00		Υ	
Product Code:		Supplier Product Cod	e:			

Agency Notes: Supplier Notes:

PNC2120194B101-03 Miscellaneous: Precast Concrete	е Ва	asketball Standard				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
West Construction, Inc. [Ad]		First Offer - \$6,224.375	2 / lump sum	\$12,448.75		Y
			Supplier Product Supplier Notes:	Code:		
Emerald Construction Corp. [Ad]		First Offer - \$6,600.00	2 / lump sum	\$13,200.00		Υ
			Supplier Product Supplier Notes:	Code:		
ENCO, LLC 🙀		First Offer - \$7,226.00	2 / lump sum	\$14,452.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
FHP Tectonics Corp		First Offer - \$7,865.00	2 / lump sum	\$15,730.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT		First Offer - \$8,672.04	2 / lump sum	\$17,344.08		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Waypoint Contracting, Inc.		First Offer - \$12,397.60	2 / lump sum	\$24,795.20		Υ
		Supplier Product Supplier Notes:	Code:			
MBR CONSTRUCTION, INC.		First Offer - \$15,000.00	2 / lump sum	\$30,000.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		

PNC2120194B101-04 Miscellaneous: Tennis Netting an	d Anchoring Standard				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$360.00	2 / lump sum	\$720.00		Υ
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:			
FHP Tectonics Corp	First Offer - \$1,483.17	2 / lump sum	\$2,966.34		Υ
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:			
ENCO, LLC	First Offer - \$1,711.00	2 / lump sum	\$3,422.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Waypoint Contracting, Inc.	First Offer - \$2,398.89	2 / lump sum	\$4,797.78		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
West Construction, Inc. [Ad]	First Offer - \$2,760.00	2 / lump sum	\$5,520.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$4,095.00	2 / lump sum	\$8,190.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Emerald Construction Corp. [Ad]	First Offer - \$4,200.00	2 / lump sum	\$8,400.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B101-05 Miscellaneous: Aluminum Handrails and Railings								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			

	000				
ENCO, LLC 👔	First Offer - \$43.00	125 / linear foot	\$5,375.00	Y	
Product Code:		<b>Supplier Product Co</b>	de:		
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$61.04	125 / linear foot	\$7,630.00	Y	
Product Code:		Supplier Product Co	de:	'	
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$70.00	125 / linear foot	\$8,750.00	Y	
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$81.90	125 / linear foot	\$10,237.50	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$83.94	125 / linear foot	\$10,492.50	Y	
Product Code:		<b>Supplier Product Co</b>	de:		
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$90.60	125 / linear foot	\$11,325.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$91.40	125 / linear foot	\$11,425.00	Υ	
Product Code:		<b>Supplier Product Co</b>	de:		
Agency Notes:		Supplier Notes:			

PNC2120194B101-06 Miscellaneous: Aluminum Handrail	s and Railings						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ENCO, LLC 🙀	First Offer - \$61.00	25 / linear foot	\$1,525.00		Υ		
		Supplier Product Code: Supplier Notes:					
FHP Tectonics Corp	First Offer - \$61.04	25 / linear foot	\$1,526.00		Y		
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:					
West Construction, Inc. [Ad]	First Offer - \$70.00	25 / linear foot	\$1,750.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$81.90	25 / linear foot	\$2,047.50		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
MBR CONSTRUCTION, INC.	First Offer - \$83.94	25 / linear foot	\$2,098.50		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Waypoint Contracting, Inc.	First Offer - \$91.40	25 / linear foot	\$2,285.00		Υ		
		Supplier Product Co Supplier Notes:	ode:				
Emerald Construction Corp. [Ad]	First Offer - \$114.00	25 / linear foot	\$2,850.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2120194B102-01 Custom Structures: Prototype Small Picnic Shelter									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Emerald Construction Corp. [Ad]	First Offer - \$63,566.40	1 / lump sum	\$63,566.40		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
ENCO, LLC 👔	First Offer - \$64,000.00	1 / lump sum	\$64,000.00		Υ				

		, a a				
		Supplier Product Supplier Notes:				
Agency Notes:						
MBR CONSTRUCTION, INC. 👔		First Offer - \$64,738.80	1 / lump sum	\$64,738.80	Y	
Product Code:			<b>Supplier Product</b>	Code:		
Agency Notes:			Supplier Notes:			
West Construction, Inc. [Ad]		First Offer - \$84,718.00	1 / lump sum	\$84,718.00	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Waypoint Contracting, Inc.		First Offer - \$90,242.97	1 / lump sum	\$90,242.97	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT		First Offer - \$105,300.00	1 / lump sum	\$105,300.00	Y	
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
FHP Tectonics Corp		First Offer - \$158,400.00	1 / lump sum	\$158,400.00	Υ	
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			

PNC2120194B102-02 Custom Structures: Upgrade of Sh	nelter				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$548.43	1 / lump sum	\$548.43		Υ
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$576.00	1 / lump sum	\$576.00		Y
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:			
Emerald Construction Corp. [Ad]	First Offer - \$3,178.32	1 / lump sum	\$3,178.32		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
FHP Tectonics Corp	First Offer - \$3,960.00	1 / lump sum	\$3,960.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$4,000.00	1 / lump sum	\$4,000.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
ENCO, LLC 👔	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$128,700.00	1 / lump sum	\$128,700.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B102-03 Custom Structures: Prototype Medium Picnic Shelter										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
ENCO, LLC 🙀	First Offer - \$66,000.00	1 / lump sum	\$66,000.00		Y					
Product Code:	<b>Supplier Product</b>	Code:								
Agency Notes:		Supplier Notes:								
MBR CONSTRUCTION, INC.	First Offer - \$81,228.00	1 / lump sum	\$81,228.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Emerald Construction Corp. [Ad]	First Offer - \$81,344.40	1 / lump sum	\$81,344.40		Υ					
Product Code:		<b>Supplier Product</b>	Code:							
Agency Notes:		Supplier Notes:								

West Construction, Inc. [Ad]		First Offer - \$101,407.00	1 / lump sum	\$101,407.00		Υ
Product Code:			Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.		First Offer - \$109,262.17	1 / lump sum	\$109,262.17		Υ
			Supplier Product Supplier Notes:	Code:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT		First Offer - \$132,210.00	1 / lump sum	\$132,210.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
FHP Tectonics Corp		First Offer - \$247,500.00	1 / lump sum	\$247,500.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		

PNC2120194B102-04 Custom Structures: Upgrade of Sh	elter				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$609.36	1 / lump sum	\$609.36		Y
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:			
MBR CONSTRUCTION, INC.	First Offer - \$888.00	1 / lump sum	\$888.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Emerald Construction Corp. [Ad]	First Offer - \$4,067.22	1 / lump sum	\$4,067.22		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$6,000.00	1 / lump sum	\$6,000.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
FHP Tectonics Corp	First Offer - \$6,187.50	1 / lump sum	\$6,187.50		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$143,910.00	1 / lump sum	\$143,910.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B1-02-05 Custom Structures: Prototype L	arg	e Picnic Shelter				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC 👔		First Offer - \$68,000.00	1 / lump sum	\$68,000.00		Υ
		Supplier Product Supplier Notes:	Code:			
MBR CONSTRUCTION, INC. 👔	T	First Offer - \$103,958.40	1 / lump sum	\$103,958.40		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]		First Offer - \$106,240.80	1 / lump sum	\$106,240.80		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
West Construction, Inc. [Ad]		First Offer - \$129,902.00	1 / lump sum	\$129,902.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Waypoint Contracting, Inc.		First Offer - \$132,430.81	1 / lump sum	\$132,430.81		Y

Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$163,800.00	1 / lump sum	\$163,800.00	Υ
Product Code:		<b>Supplier Product</b>	Code:	
Agency Notes:		Supplier Notes:		
FHP Tectonics Corp	First Offer - \$356,400.00	1 / lump sum	\$356,400.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	

PNC2120194B1-02-06 Custom Structures: Upgrade of S	helter					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Waypoint Contracting, Inc.	First Offer - \$731.23	1 / lump sum	\$731.23		Υ	
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:				
MBR CONSTRUCTION, INC. 👔	First Offer - \$1,272.00	1 / lump sum	\$1,272.00		Y	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
ENCO, LLC	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Y	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
Emerald Construction Corp. [Ad]	First Offer - \$5,312.04	1 / lump sum	\$5,312.04		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
West Construction, Inc. [Ad]	First Offer - \$8,000.00	1 / lump sum	\$8,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
FHP Tectonics Corp 👔	First Offer - \$8,910.00	1 / lump sum	\$8,910.00		Y	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$187,200.00	1 / lump sum	\$187,200.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			

PNC2120194B102-07 Custom Structures: Prototype Res	troom with Janitor Closet				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC 👔	First Offer - \$130,000.00	1 / lump sum	\$130,000.00		Y
		Supplier Product Supplier Notes:	Code:		
MBR CONSTRUCTION, INC. 👔	First Offer - \$239,046.00	1 / lump sum	\$239,046.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Emerald Construction Corp. [Ad]	First Offer - \$263,141.56	1 / lump sum	\$263,141.56		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$263,560.00	1 / lump sum	\$263,560.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Waypoint Contracting, Inc.	First Offer - \$264,215.22	1 / lump sum	\$264,215.22		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
West Construction, Inc. [Ad]	First Offer - \$285,200.00	1 / lump sum	\$285,200.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$292,500.00	1 / lump sum	\$292,500.00	Y
Product Code:		<b>Supplier Product</b>	Code:	
Agency Notes:		Supplier Notes:		

PNC2120194B102-08 Custom Structures: Prototype Res	troom with Storage				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC 👔	First Offer - \$130,000.00	1 / lump sum	\$130,000.00		Y
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:			
MBR CONSTRUCTION, INC.	First Offer - \$220,507.20	1 / lump sum	\$220,507.20		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Emerald Construction Corp. [Ad]	First Offer - \$254,397.29	1 / lump sum	\$254,397.29		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$255,399.98	1 / lump sum	\$255,399.98		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$267,960.00	1 / lump sum	\$267,960.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
West Construction, Inc. [Ad]	First Offer - \$283,946.00	1 / lump sum	\$283,946.00		Υ
		Supplier Product Supplier Notes:	Code:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$304,200.00	1 / lump sum	\$304,200.00		Υ
		Supplier Product Supplier Notes:	Code:		

PNC2120194B102-09 Custom Structures: Prototype Re	estr	oom with Office				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC 👔		First Offer - \$135,000.00	1 / lump sum	\$135,000.00		Y
			Supplier Product Supplier Notes:	Code:		
MBR CONSTRUCTION, INC. 👔		First Offer - \$231,202.80	1 / lump sum	\$231,202.80		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
West Construction, Inc. [Ad]		First Offer - \$267,331.00	1 / lump sum	\$267,331.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp		First Offer - \$267,960.00	1 / lump sum	\$267,960.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.		First Offer - \$270,745.52	1 / lump sum	\$270,745.52		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Emerald Construction Corp. [Ad]		First Offer - \$284,558.12	1 / lump sum	\$284,558.12		Υ
		Supplier Product Supplier Notes:	Code:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT		First Offer - \$315,900.00	1 / lump sum	\$315,900.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		

PNC2120194B103-01 Division 7: Aluminum Standing Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
West Construction, Inc. [Ad]	First Offer - \$2.6795	600 / square foot	\$1,607.70		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Waypoint Contracting, Inc.	First Offer - \$4.08	600 / square foot	\$2,448.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$5.80	600 / square foot	\$3,480.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
ENCO, LLC	First Offer - \$16.00	600 / square foot	\$9,600.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	): :			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$19.89	600 / square foot	\$11,934.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			
Emerald Construction Corp. [Ad]	First Offer - \$21.60	600 / square foot	\$12,960.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			
FHP Tectonics Corp	First Offer - \$57.20	600 / square foot	\$34,320.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	<b>:</b>			

PNC2120194B104-01 Division 10: Informational Kiosk							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
MBR CONSTRUCTION, INC.		First Offer - \$14,370.36	2 / lump sum	\$28,740.72		Y	
			Supplier Product Supplier Notes:	Code:			
Waypoint Contracting, Inc.		First Offer - \$22,100.32	2 / lump sum	\$44,200.64		Y	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			
West Construction, Inc. [Ad]		First Offer - \$26,604.10	2 / lump sum	\$53,208.20		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
ENCO, LLC		First Offer - \$27,340.00	2 / lump sum	\$54,680.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
FHP Tectonics Corp		First Offer - \$32,443.40	2 / lump sum	\$64,886.80		Y	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT		First Offer - \$34,508.00	2 / lump sum	\$69,016.00		Υ	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			
Emerald Construction Corp. [Ad]		First Offer - \$35,391.73	2 / lump sum	\$70,783.46		Y	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			

PNC2120194B104-02 Division 10: Informational Kiosk E-coating								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ENCO, LLC 👔	First Offer - \$2,344.00	1 / lump sum	\$2,344.00		Y			
Product Code:		Supplier Product	Code:					

Agency Notes:	Supplier Notes:				
FHP Tectonics Corp	First Offer - \$2,344.10	1 / lump sum	\$2,344.10	Y	
Product Code:		Supplier Product (	Code:		
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$2,400.00	1 / lump sum	\$2,400.00	Y	
Product Code:		Supplier Product (	Code:		
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$2,450.65	1 / lump sum	\$2,450.65	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2,494.00	1 / lump sum	\$2,494.00	Υ	
Product Code:		Supplier Product (	Code:		
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$2,556.44	1 / lump sum	\$2,556.44	Υ	
Product Code:		Supplier Product (	Code:		
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$5,191.76	1 / lump sum	\$5,191.76	Υ	
Product Code:		Supplier Product (	Code:		
Agency Notes:		Supplier Notes:			

PNC2120194B105-01 Division 11: Playground A					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp 🙀	First Offer - \$63,471.10	1 / lump sum	\$63,471.10		Y
		Supplier Product Supplier Notes:	Code:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$67,511.00	1 / lump sum	\$67,511.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Emerald Construction Corp. [Ad]	First Offer - \$69,240.42	1 / lump sum	\$69,240.42		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
MBR CONSTRUCTION, INC.	First Offer - \$69,240.42	1 / lump sum	\$69,240.42		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Waypoint Contracting, Inc.	First Offer - \$70,685.92	1 / lump sum	\$70,685.92		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$73,000.00	1 / lump sum	\$73,000.00		Υ
Product Code:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$81,471.00	1 / lump sum	\$81,471.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B105-02 Division 11: Playground B					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp	First Offer - \$97,838.40	1 / lump sum	\$97,838.40		Y
Product Code:		<b>Supplier Product</b>	Code:		
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$103,385.00	1 / lump sum	\$103,385.00		Y
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			

H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$104,065.00	1 / lump sum	\$104,065.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$106,732.25	1 / lump sum	\$106,732.25	Y	
Product Code:	Supplier Product	Code:			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$106,732.25	1 / lump sum	\$106,732.25	Υ	
Product Code:		<b>Supplier Product</b>	Code:		
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$110,593.00	1 / lump sum	\$110,593.00	Υ	
Product Code:		<b>Supplier Product</b>	Code:		
Agency Notes:		Supplier Notes:			
ENCO, LLC	First Offer - \$115,840.00	1 / lump sum	\$115,840.00	Y	
Product Code:		<b>Supplier Product</b>	Code:		
Agency Notes:		Supplier Notes:			

PNC2120194B105-03 Division 11: Playground C						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
MBR CONSTRUCTION, INC.	First Offer - \$94,800.00	1 / lump sum	\$94,800.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Emerald Construction Corp. [Ad]	First Offer - \$103,467.34	1 / lump sum	\$103,467.34		Υ	
		Supplier Product Supplier Notes:	Code:			
West Construction, Inc. [Ad]	First Offer - \$115,345.00	1 / lump sum	\$115,345.00		Υ	
Product Code:		Supplier Product Code: Supplier Notes:				
FHP Tectonics Corp	First Offer - \$119,138.80	1 / lump sum	\$119,138.80		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$126,720.00	1 / lump sum	\$126,720.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Waypoint Contracting, Inc.	First Offer - \$130,322.66	1 / lump sum	\$130,322.66		Υ	
		Supplier Product Code: Supplier Notes:				
ENCO, LLC	First Offer - \$139,640.00	1 / lump sum	\$139,640.00		Y	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			

Unit Price	Qty/Unit	Total Price	Attch.	Docs		
First Offer - \$90,208.80	1 / lump sum	\$90,208.80		Y		
			Supplier Product Code: Supplier Notes:			
First Offer - \$94,388.55	1 / lump sum	\$94,388.55		Υ		
	Supplier Product Supplier Notes:	Code:				
First Offer - \$95,949.00	1 / lump sum	\$95,949.00		Υ		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
First Offer - \$98,408.48	1 / lump sum	\$98,408.48		Y		
	First Offer - \$90,208.80  First Offer - \$94,388.55  First Offer - \$95,949.00	First Offer - \$90,208.80 1 / lump sum  Supplier Product Supplier Notes:  First Offer - \$94,388.55 1 / lump sum  Supplier Product Supplier Notes:  First Offer - \$95,949.00 1 / lump sum  Supplier Product Supplier Product Supplier Notes:	First Offer - \$90,208.80 1 / lump sum \$90,208.80  Supplier Product Code: Supplier Notes:  First Offer - \$94,388.55 1 / lump sum \$94,388.55  Supplier Product Code: Supplier Notes:  First Offer - \$95,949.00 1 / lump sum \$95,949.00  Supplier Product Code: Supplier Notes:	First Offer - \$90,208.80   1 / lump sum   \$90,208.80		

Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
Emerald Construction Corp. [Ad]	First Offer - \$98,409.32	1 / lump sum	\$98,409.32	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
Waypoint Contracting, Inc.	First Offer - \$100,309.42	1 / lump sum	\$100,309.42	Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$108,209.00	1 / lump sum	\$108,209.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	,

PNC2120194B105-05 Division 11: Playground E					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
West Construction, Inc. [Ad]	First Offer - \$85,100.00	1 / lump sum	\$85,100.00		Υ
		Supplier Product Supplier Notes:	Code:		
MBR CONSTRUCTION, INC. 👔	First Offer - \$122,146.61	1 / lump sum	\$122,146.61		Υ
		Supplier Product Supplier Notes:	Code:		
FHP Tectonics Corp	First Offer - \$139,865.00	1 / lump sum	\$139,865.00		Y
		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$148,766.00	1 / lump sum	\$148,766.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$152,579.81	1 / lump sum	\$152,579.81		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$157,154.11	1 / lump sum	\$157,154.11		Υ
		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$157,865.00	1 / lump sum	\$157,865.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B105-06 Division 11: Playground F					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$110,400.00	1 / lump sum	\$110,400.00		Υ
		Supplier Product Supplier Notes:	Code:		
Emerald Construction Corp. [Ad]	First Offer - \$127,880.88	1 / lump sum	\$127,880.88		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
West Construction, Inc. [Ad]	First Offer - \$132,480.00	1 / lump sum	\$132,480.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$136,225.00	1 / lump sum	\$136,225.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$138,124.80	1 / lump sum	\$138,124.80		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$146,880.00	1 / lump sum	\$146,880.00	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$150,523.54	1 / lump sum	\$150,523.54	Υ
Product Code:		<b>Supplier Product</b>	Code:	
Agency Notes:		Supplier Notes:		

PNC2120194B105-07 Division 11: Playground G						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
MBR CONSTRUCTION, INC. 🙀	First Offer - \$40,320.00	1 / lump sum	\$40,320.00		Y	
		Supplier Product C Supplier Notes:	Code:			
Emerald Construction Corp. [Ad]	First Offer - \$48,437.77	1 / lump sum	\$48,437.77		Υ	
		Supplier Product ( Supplier Notes:	Code:			
West Construction, Inc. [Ad]	First Offer - \$48,714.00	1 / lump sum	\$48,714.00		Y	
		Supplier Product Code: Supplier Notes:				
FHP Tectonics Corp	First Offer - \$51,001.50	1 / lump sum	\$51,001.50		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Waypoint Contracting, Inc.	First Offer - \$57,287.30	1 / lump sum	\$57,287.30		Υ	
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$62,880.00	1 / lump sum	\$62,880.00		Υ	
		Supplier Product Code: Supplier Notes:				
ENCO, LLC 👔	First Offer - \$68,902.00	1 / lump sum	\$68,902.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			

PNC2120194B105-08 Division 11: Playground H						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
MBR CONSTRUCTION, INC.	First Offer - \$54,696.10	1 / lump sum	\$54,696.10		Υ	
		Supplier Product Supplier Notes:	Code:			
West Construction, Inc. [Ad]	First Offer - \$69,000.00	1 / lump sum	\$69,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
ENCO, LLC	First Offer - \$69,211.00	1 / lump sum	\$69,211.00		Υ	
		Supplier Product Code: Supplier Notes:				
FHP Tectonics Corp	First Offer - \$69,212.00	1 / lump sum	\$69,212.00		Y	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$73,616.00	1 / lump sum	\$73,616.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
Emerald Construction Corp. [Ad]	First Offer - \$75,502.90	1 / lump sum	\$75,502.90		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
Waypoint Contracting, Inc.	First Offer - \$78,875.74	1 / lump sum	\$78,875.74		Υ	
Product Code:		Supplier Product	Code:			

Agency Notes: Supplier Notes:

PNC2120194B105-09 Division 11: Playground I					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC. 🙀	First Offer - \$90,000.00	1 / lump sum	\$90,000.00		Y
		Supplier Product Supplier Notes:	Code:		
Emerald Construction Corp. [Ad]	First Offer - \$106,392.48	1 / lump sum	\$106,392.48		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
West Construction, Inc. [Ad]	First Offer - \$109,250.00	1 / lump sum	\$109,250.00		Y
		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$112,927.10	1 / lump sum	\$112,927.10		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$116,527.00	1 / lump sum	\$116,527.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$119,643.00	1 / lump sum	\$119,643.00		Υ
		Supplier Product Supplier Notes:	Code:		
Waypoint Contracting, Inc.	First Offer - \$123,243.95	1 / lump sum	\$123,243.95		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B105-10 Division 11: Playground J						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.		First Offer - \$95,110.78	1 / lump sum	\$95,110.78		Y
			Supplier Product Supplier Notes:	Code:		
ENCO, LLC 🙀		First Offer - \$110,381.00	1 / lump sum	\$110,381.00		Y
Product Code: Agency Notes:	•		Supplier Product Supplier Notes:	Code:		
FHP Tectonics Corp		First Offer - \$110,381.70	1 / lump sum	\$110,381.70		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
West Construction, Inc. [Ad]		First Offer - \$115,345.00	1 / lump sum	\$115,345.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT		First Offer - \$117,406.00	1 / lump sum	\$117,406.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Emerald Construction Corp. [Ad]		First Offer - \$120,415.78	1 / lump sum	\$120,415.78		Υ
		Supplier Product Supplier Notes:	Code:			
Waypoint Contracting, Inc.		First Offer - \$124,488.24	1 / lump sum	\$124,488.24		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		

PNC2120194B105-11 Division 11: Play Components Price Group A						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	

st Offer - \$5,038 st Offer - \$5,038 st Offer - \$5,359 t Offer - \$11,613	Supplier Product Supplier Notes:  3 / each Supplier Product Supplier Notes:  3 / each Supplier Product Supplier Notes:  3 / each Supplier Notes:  Supplier Notes:	\$15,114.00   Code: \$16,077.00   Code: \$34,839.63   Code: \$40,296.72	Y
st Offer - \$5,038 st Offer - \$5,359 t Offer - \$11,613	Supplier Product Supplier Notes:  3 / each Supplier Product Supplier Notes:  3 / each Supplier Product Supplier Notes:  3 / each Supplier Notes:  Supplier Notes:	\$15,114.00   \$15,114.00   Code: \$16,077.00   Code: \$34,839.63   Code:	Y
st Offer - \$5,038 st Offer - \$5,359	Supplier Product Supplier Notes:  3 / each Supplier Product Supplier Notes:  3 / each Supplier Product Supplier Product Supplier Notes:  3 / each Supplier Notes:	Code:  \$15,114.00  Code:  \$16,077.00  Code:  \$34,839.63	Y
st Offer - \$5,038 st Offer - \$5,359	Supplier Product Supplier Notes: 0 3 / each Supplier Product Supplier Notes: 0 3 / each Supplier Product Supplier Notes:	\$15,114.00 Code:  \$16,077.00 Code:	Y
st Offer - \$5,038	Supplier Product Supplier Notes:  3 / each Supplier Product Supplier Notes:  3 / each Supplier Product Supplier Product	Code: \$15,114.00   Code: \$16,077.00	
st Offer - \$5,038	Supplier Product Supplier Notes:  3 / each Supplier Product Supplier Notes:	\$15,114.00 Code:	
	Supplier Product Supplier Notes: 0 3 / each Supplier Product	<b>Code:</b> \$15,114.00	Y
	Supplier Product Supplier Notes:	Code:	Y
st Offer - \$5,038	Supplier Product		
st Offer - \$5,038	0 37 each	\$15,114.00	
	0 2 /  -		Υ
	Supplier Product Supplier Notes:	Code:	
st Offer - \$4,513	5 3 / each	\$13,541.25	Y
	Supplier Product Supplier Notes:	Code:	
st Offer - \$1,800	0 3 / each	\$5,400.00	Y
		Supplier Product Supplier Notes: st Offer - \$4,513.75 3 / each	Supplier Product Code: Supplier Notes: st Offer - \$4,513.75  3 / each  \$13,541.25

PNC2120194B105-12 Division 11: Play Components Pri	ce Group B				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC. 👔	First Offer - \$5,400.00	3 / each	\$16,200.00		Y
		Supplier Produc Supplier Notes:	t Code:		
FHP Tectonics Corp 👔	First Offer - \$8,644.90	3 / each	\$25,934.70		Y
		Supplier Produc Supplier Notes:	t Code:		
West Construction, Inc. [Ad]	First Offer - \$9,085.00	3 / each	\$27,255.00		Y
Product Code: Agency Notes:		Supplier Produc Supplier Notes:	t Code:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$9,195.00	3 / each	\$27,585.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$24,000.00	3 / each	\$72,000.00		Y
Product Code: Agency Notes:		Supplier Produc Supplier Notes:	t Code:		
Waypoint Contracting, Inc.	First Offer - \$53,412.14	3 / each	\$160,236.42		Υ
Product Code: Agency Notes:		Supplier Produc Supplier Notes:	t Code:		
Emerald Construction Corp. [Ad]	First Offer - \$57,071.66	3 / each	\$171,214.98		Υ
Product Code: Agency Notes:		Supplier Produc Supplier Notes:	t Code:		

PNC2120194B1–05-13 Division 11: Play Components Price Group C								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
MBR CONSTRUCTION, INC.	First Offer - \$9,600.00	1 / each	\$9,600.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
FHP Tectonics Corp	First Offer - \$12,774.30	1 / each	\$12,774.30		Y			

			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT		First Offer - \$13,587.00	1 / each	\$13,587.00		Υ
Product Code:			<b>Supplier Product</b>	Code:		
Agency Notes:			Supplier Notes:			
West Construction, Inc. [Ad]		First Offer - \$14,806.25	1 / each	\$14,806.25		Y
Product Code:			<b>Supplier Product</b>	Code:		
Agency Notes:			Supplier Notes:			
ENCO, LLC		First Offer - \$30,000.00	1 / each	\$30,000.00		Υ
Product Code:			<b>Supplier Product</b>	Code:		
Agency Notes:			Supplier Notes:			
Waypoint Contracting, Inc.		First Offer - \$102,576.16	1 / each	\$102,576.16		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Emerald Construction Corp. [Ad]		First Offer - \$141,644.00	1 / each	\$141,644.00		Υ
Product Code:			<b>Supplier Product</b>	Code:		
Agency Notes:			Supplier Notes:			

PNC2120194B105-14 Division 11: Play Components Price	ce Group D				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC. 👔	First Offer - \$15,600.00	1 / each	\$15,600.00		Y
		Supplier Production Supplier Notes:	t Code:		
West Construction, Inc. [Ad]	First Offer - \$16,258.70	1 / each	\$16,258.70		Y
Product Code: Agency Notes:		Supplier Production Supplier Notes:	t Code:		
FHP Tectonics Corp 👔	First Offer - \$18,213.80	1 / each	\$18,213.80		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$18,214.00	1 / each	\$18,214.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$19,374.00	1 / each	\$19,374.00		Υ
Product Code: Agency Notes:		Supplier Production Supplier Notes:	t Code:		
Waypoint Contracting, Inc.	First Offer - \$63,781.52	1 / each	\$63,781.52		Υ
Product Code: Agency Notes:		Supplier Production Supplier Notes:	t Code:		
Emerald Construction Corp. [Ad]	First Offer - \$64,124.21	1 / each	\$64,124.21		Υ
Product Code: Agency Notes:		Supplier Production Supplier Notes:	t Code:		

PNC2120194B106-01 Division 13: Square Prefab Shel	ter					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC. 👔		First Offer - \$38,002.80	1 / lump sum	\$38,002.80		Υ
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
West Construction, Inc. [Ad]		First Offer - \$51,462.50	1 / lump sum	\$51,462.50		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Emerald Construction Corp. [Ad]		First Offer - \$58,500.00	1 / lump sum	\$58,500.00		Υ
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			

	· , ·			
Waypoint Contracting, Inc.	First Offer - \$65,183.39	1 / lump sum	\$65,183.39	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
FHP Tectonics Corp	First Offer - \$65,446.70	1 / lump sum	\$65,446.70	Y
Product Code:		<b>Supplier Product</b>	Code:	
Agency Notes:		Supplier Notes:		
ENCO, LLC	First Offer - \$65,447.00	1 / lump sum	\$65,447.00	Y
Product Code:		<b>Supplier Product</b>	Code:	
Agency Notes:		Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$69,611.00	1 / lump sum	\$69,611.00	Υ
Product Code:		<b>Supplier Product</b>	Code:	
Agency Notes:		Supplier Notes:		

PNC2120194B106-02 Division 13: Hexagonal Prefab Sh	elter				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC. 👔	First Offer - \$36,578.40	2 / lump sum	\$73,156.80		Υ
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:			
West Construction, Inc. [Ad]	First Offer - \$50,830.00	2 / lump sum	\$101,660.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Emerald Construction Corp. [Ad]	First Offer - \$55,728.00	2 / lump sum	\$111,456.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Waypoint Contracting, Inc.	First Offer - \$69,924.22	2 / lump sum	\$139,848.44		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$70,211.00	2 / lump sum	\$140,422.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
FHP Tectonics Corp	First Offer - \$70,211.90	2 / lump sum	\$140,423.80		Y
		Supplier Product Supplier Notes:	Code:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$74,680.00	2 / lump sum	\$149,360.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B106-03 Division 13: Additional E-coating					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$0.01	3 / lump sum	\$0.03		Υ
Product Code: Agency Notes:		Supplier Product ( Supplier Notes: N		anufactur	e.
Emerald Construction Corp. [Ad]	First Offer - \$2,640.00	3 / lump sum	\$7,920.00		Y
		Supplier Product ( Supplier Notes:	Code:		
ENCO, LLC	First Offer - \$5,347.00	3 / lump sum	\$16,041.00		Υ
Product Code:		Supplier Product	Code:		

Agency Notes:			Supplier Notes:			
FHP Tectonics Corp		First Offer - \$5,348.20	3 / lump sum	\$16,044.60	Y	ľ
			Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]		First Offer - \$5,591.30	3 / lump sum	\$16,773.90	Y	ľ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT		First Offer - \$5,688.00	3 / lump sum	\$17,064.00	Y	Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Waypoint Contracting, Inc.		First Offer - \$5,924.22	3 / lump sum	\$17,772.66	Y	ľ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		

PNC2120194B106-04 Division 13: Square Prefab Shelte	r				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$45,643.20	1 / lump sum	\$45,643.20		Y
		Supplier Product Supplier Notes:	Code:		
West Construction, Inc. [Ad]	First Offer - \$62,100.00	1 / lump sum	\$62,100.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$73,200.00	1 / lump sum	\$73,200.00		Υ
		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$74,924.00	1 / lump sum	\$74,924.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$74,925.40	1 / lump sum	\$74,925.40		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$75,886.21	1 / lump sum	\$75,886.21		Υ
		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$79,693.00	1 / lump sum	\$79,693.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B106-05 Division 13: Additional E-coating					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC. 🙀	First Offer - \$0.01	1 / lump sum	\$0.01		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes: N		anufactur	e.
FHP Tectonics Corp 👔	First Offer - \$5,177.70	1 / lump sum	\$5,177.70		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
	First Offer - \$5,178.00	1 / lump sum	\$5,178.00		Υ

ENCO, LLC				
Product Code:		<b>Supplier Product</b>	Code:	
Agency Notes:		Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$5,411.90	1 / lump sum	\$5,411.90	Υ
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$5,507.00	1 / lump sum	\$5,507.00	Υ
Product Code:		<b>Supplier Product</b>	Code:	
Agency Notes:		Supplier Notes:		
Emerald Construction Corp. [Ad]	First Offer - \$5,700.00	1 / lump sum	\$5,700.00	Υ
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$5,736.44	1 / lump sum	\$5,736.44	Υ
Product Code:		<b>Supplier Product</b>	Code:	
		Supplier Notes:		

PNC2120194B1-06-06 Division 13: Hexagonal Prefab Sh					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC. 👔	First Offer - \$56,324.40	1 / lump sum	\$56,324.40		Y
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:		
West Construction, Inc. [Ad]	First Offer - \$75,555.00	1 / lump sum	\$75,555.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$87,384.00	1 / lump sum	\$87,384.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$92,834.99	1 / lump sum	\$92,834.99		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$93,181.00	1 / lump sum	\$93,181.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$93,183.20	1 / lump sum	\$93,183.20		Y
		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$99,114.00	1 / lump sum	\$99,114.00		Υ
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:		

PNC2120194B106-07 Division 13: Additional E-coating					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$0.01	1 / lump sum	\$0.01		Y
Product Code: Agency Notes:		Supplier Product of Supplier Notes: No		anufactur	e.
Emerald Construction Corp. [Ad]	First Offer - \$5,700.00	1 / lump sum	\$5,700.00		Υ
Product Code:		Supplier Product	Code:		

Agency Notes:		Supplier Notes:		
ENCO, LLC	First Offer - \$9,854.00	1 / lump sum	\$9,854.00	Y
Product Code:		<b>Supplier Product</b>	Code:	
Agency Notes:		Supplier Notes:		
FHP Tectonics Corp	First Offer - \$9,854.90	1 / lump sum	\$9,854.90	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$10,301.70	1 / lump sum	\$10,301.70	Y
Product Code:		<b>Supplier Product</b>	Code:	
Agency Notes:		Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$10,482.00	1 / lump sum	\$10,482.00	Υ
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$10,917.37	1 / lump sum	\$10,917.37	Υ
Product Code:		<b>Supplier Product</b>	Code:	
Agency Notes:		Supplier Notes:		

PNC2120194B106-08 Division 13: Prefab Shelter Upgrad	de					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
MBR CONSTRUCTION, INC. 👔	First Offer - \$1,200.00	6 / each	\$7,200.00		Υ	
		Supplier Product Supplier Notes:	Code:			
ENCO, LLC 👔	First Offer - \$1,500.00	6 / each	\$9,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
FHP Tectonics Corp	First Offer - \$2,750.00	6 / each	\$16,500.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$3,899.91	6 / each	\$23,399.46		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$9,360.00	6 / each	\$56,160.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
West Construction, Inc. [Ad]	First Offer - \$11,500.00	6 / each	\$69,000.00		Y	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
Emerald Construction Corp. [Ad]	First Offer - \$31,200.00	6 / each	\$187,200.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			

PNC2120194B106-09 Division 13: Prefab Shelter Upgrade							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
MBR CONSTRUCTION, INC.	First Offer - \$900.00	6 / each	\$5,400.00		Υ		
		Supplier Product Code: Supplier Notes:					
ENCO, LLC 👔	First Offer - \$1,500.00	6 / each	\$9,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
FHP Tectonics Corp	First Offer - \$1,650.00	6 / each	\$9,900.00		Y		
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:				

Waypoint Contracting, Inc.	First Offer - \$3,899.91	6 / each	\$23,399.46	Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$4,680.00	6 / each	\$28,080.00	Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
West Construction, Inc. [Ad]	First Offer - \$5,750.00	6 / each	\$34,500.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$25,200.00	6 / each	\$151,200.00	Y	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B106-10 Division 13: Shade Structure						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
MBR CONSTRUCTION, INC.	First Offer - \$14,400.00	1 / lump sum	\$14,400.00		Y	
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:			
Industrial Shadeports	First Offer - \$14,500.00	1 / lump sum	\$14,500.00	Y	Υ	
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:			
ENCO, LLC 👔	First Offer - \$17,697.00	1 / lump sum	\$17,697.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Emerald Construction Corp. [Ad]	First Offer - \$19,305.30	1 / lump sum	\$19,305.30		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$25,300.00	1 / lump sum	\$25,300.00		Υ	
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:			
Waypoint Contracting, Inc.	First Offer - \$26,146.48	1 / lump sum	\$26,146.48		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
FHP Tectonics Corp	First Offer - \$35,607.00	1 / lump sum	\$35,607.00		Y	
		Supplier Product Code: Supplier Notes:				
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$37,874.00	1 / lump sum	\$37,874.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			

PNC2120194B106-11 Division 13: Shade Structure					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Industrial Shadeports	First Offer - \$16,400.00	1 / lump sum	\$16,400.00	Υ	Υ
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$18,996.00	1 / lump sum	\$18,996.00		Y
Product Code:		Supplier Product (	Code:		
Agency Notes:		Supplier Notes:			
ENCO, LLC	First Offer - \$20,307.00	1 / lump sum	\$20,307.00		Y
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$22,153.20	1 / lump sum	\$22,153.20		Υ
Product Code:		Supplier Product	Code:		

Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$29,727.50	1 / lump sum	\$29,727.50	Y	
		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$32,834.83	1 / lump sum	\$32,834.83	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$46,015.20	1 / lump sum	\$46,015.20	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$48,945.00	1 / lump sum	\$48,945.00	Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B1–06-12 Division 13: Shade Structure						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Industrial Shadeports	First Offer - \$17,200.00	1 / lump sum	\$17,200.00	Υ	Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
ENCO, LLC 👔	First Offer - \$20,939.00	1 / lump sum	\$20,939.00		Y	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
MBR CONSTRUCTION, INC.	First Offer - \$22,698.00	1 / lump sum	\$22,698.00		Y	
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:				
Emerald Construction Corp. [Ad]	First Offer - \$22,842.71	1 / lump sum	\$22,842.71		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
West Construction, Inc. [Ad]	First Offer - \$31,377.50	1 / lump sum	\$31,377.50		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Waypoint Contracting, Inc.	First Offer - \$34,581.26	1 / lump sum	\$34,581.26		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
FHP Tectonics Corp	First Offer - \$47,591.50	1 / lump sum	\$47,591.50		Y	
		Supplier Product Supplier Notes:	Code:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$50,622.00	1 / lump sum	\$50,622.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			

PNC2120194B106-13 Division 13: Shade Structure					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Industrial Shadeports	First Offer - \$24,800.00	2 / lump sum	\$49,600.00	Υ	Υ
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
ENCO, LLC	First Offer - \$26,368.00	2 / lump sum	\$52,736.00		Υ
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$27,860.40	2 / lump sum	\$55,720.80		Y
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$39,890.00	2 / lump sum	\$79,780.00		Υ

		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$53,360.00	2 / lump sum	\$106,720.00	Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Waypoint Contracting, Inc.	First Offer - \$58,950.84	2 / lump sum	\$117,901.68	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$64,431.40	2 / lump sum	\$128,862.80	Y	
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$68,533.00	2 / lump sum	\$137,066.00	Y	
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:		

PNC2120194B1-06-14 Division 13: Shade Structure							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Industrial Shadeports	Т	First Offer - \$26,100.00	2 / lump sum	\$52,200.00		Υ	
Product Code:			Supplier Product	Code:			
Agency Notes:	_		Supplier Notes:				
ENCO, LLC		First Offer - \$27,867.00	2 / lump sum	\$55,734.00		Υ	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			
MBR CONSTRUCTION, INC.		First Offer - \$28,240.80	2 / lump sum	\$56,481.60		Υ	
			Supplier Product Supplier Notes:	Code:			
Emerald Construction Corp. [Ad]		First Offer - \$30,400.80	2 / lump sum	\$60,801.60		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
West Construction, Inc. [Ad]		First Offer - \$57,557.50	2 / lump sum	\$115,115.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Waypoint Contracting, Inc.		First Offer - \$65,783.00	2 / lump sum	\$131,566.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
FHP Tectonics Corp		First Offer - \$68,462.90	2 / lump sum	\$136,925.80		Y	
		Supplier Product Code: Supplier Notes:					
H G CONSTRUCTION DEVELOPMENT & INVESTMENT		First Offer - \$72,820.00	2 / lump sum	\$145,640.00		Υ	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			

PNC2120194B107-01 Division 22: Freestanding water cooler with bottle filler								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Emerald Construction Corp. [Ad]	First Offer - \$4,200.00	2 / lump sum	\$8,400.00		Υ			
		Supplier Product Supplier Notes:	Code:					
FHP Tectonics Corp	First Offer - \$6,594.50	2 / lump sum	\$13,189.00		Y			
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:					
West Construction, Inc. [Ad]	First Offer - \$6,865.50	2 / lump sum	\$13,731.00		Y			
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:					

	,			
ENCO, LLC 👔	First Offer - \$8,370.00	2 / lump sum	\$16,740.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	·
MBR CONSTRUCTION, INC.	First Offer - \$8,795.34	2 / lump sum	\$17,590.68	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
Waypoint Contracting, Inc.	First Offer - \$9,621.82	2 / lump sum	\$19,243.64	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$21,645.00	2 / lump sum	\$43,290.00	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	

Cumplior	Unit Price	Oty/Unit	Total Price	Attch.	Docs	
Supplier		( )		Atten.		
Emerald Construction Corp. [Ad]	First Offer - \$2,782.80	1 / lump sum	\$2,782.80		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
West Construction, Inc. [Ad] 👔	First Offer - \$5,175.00	1 / lump sum	\$5,175.00		Y	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
FHP Tectonics Corp 👔	First Offer - \$5,494.50	1 / lump sum	\$5,494.50		Y	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
MBR CONSTRUCTION, INC. 🙀	First Offer - \$7,777.38	1 / lump sum	\$7,777.38		Y	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
Waypoint Contracting, Inc.	First Offer - \$8,226.38	1 / lump sum	\$8,226.38		Y	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
ENCO, LLC 👔	First Offer - \$9,283.00	1 / lump sum	\$9,283.00		Y	
Product Code:		Supplier Product C	ode:			
		Supplier Notes:				
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$15,210.00	1 / lump sum	\$15,210.00		Y	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				

PNC2120194B108-01 Division 26: Solar Powered Area Lui	minaire, 4500K					
Supplier	Unit Price	ce Qty/Unit Total Price Attch				
Waypoint Contracting, Inc.	First Offer - \$1,340.60	10 / each	\$13,406.00		Υ	
		Supplier Product Code: Supplier Notes:				
West Construction, Inc. [Ad]	First Offer - \$2,875.00	10 / each	\$28,750.00		Y	
Product Code:		Supplier Product Code: Supplier Notes:				
Emerald Construction Corp. [Ad]	First Offer - \$3,000.00	10 / each	\$30,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
ENCO, LLC	First Offer - \$3,401.00	10 / each	\$34,010.00		Υ	
		Supplier Product Supplier Notes:	Code:			
FHP Tectonics Corp	First Offer - \$3,834.60	10 / each	\$38,346.00		Υ	

Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
MBR CONSTRUCTION, INC.	First Offer - \$3,954.00	10 / each	\$39,540.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$9,126.00	10 / each	\$91,260.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B108-02 Division 26: Solar Powered Area	Luminaire, 4500K					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Waypoint Contracting, Inc.	First Offer - \$1,340.60	10 / each	\$13,406.00		Υ	
		Supplier Product Supplier Notes:	Code:			
Emerald Construction Corp. [Ad]	First Offer - \$2,640.00	10 / each	\$26,400.00		Υ	
		Supplier Product Supplier Notes:	Code:			
MBR CONSTRUCTION, INC. 🙀	First Offer - \$3,954.00	10 / each	\$39,540.00		Υ	
		Supplier Product Code: Supplier Notes:				
West Construction, Inc. [Ad]	First Offer - \$4,048.00	10 / each	\$40,480.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
ENCO, LLC 👔	First Offer - \$4,418.00	10 / each	\$44,180.00		Y	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
FHP Tectonics Corp 👔	First Offer - \$4,748.70	10 / each	\$47,487.00		Υ	
		Supplier Product Supplier Notes:	Code:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$9,945.00	10 / each	\$99,450.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			

PNC2120194B108-03 Division 26: Matching Pole for Solar	Powered Area Luminair	e					
Supplier	Unit Price		Total Price	Attch.	Docs		
ENCO, LLC	First Offer - \$1,086.00	10 / each	\$10,860.00		Υ		
		Supplier Product Supplier Notes:	Code:				
West Construction, Inc. [Ad]	First Offer - \$1,840.00	10 / each	\$18,400.00		Y		
		Supplier Product Code: Supplier Notes:					
MBR CONSTRUCTION, INC.	First Offer - \$2,490.66	10 / each	\$24,906.60		Υ		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Emerald Construction Corp. [Ad]	First Offer - \$2,760.00	10 / each	\$27,600.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Waypoint Contracting, Inc.	First Offer - \$2,924.93	10 / each	\$29,249.30		Υ		
		Supplier Product Supplier Notes:	Code:				
FHP Tectonics Corp	First Offer - \$4,061.20	10 / each	\$40,612.00		Υ		
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:				

H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$4,914.00	10 / each	\$49,140.00	Υ
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		

PNC2120194B108-04 Division 26: Solar Powered Lumina	aire with Pole				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$4,265.53	10 / each	\$42,655.30		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Emerald Construction Corp. [Ad]	First Offer - \$6,600.00	10 / each	\$66,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$7,130.78	10 / each	\$71,307.80		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:		
FHP Tectonics Corp	First Offer - \$7,378.80	10 / each	\$73,788.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$8,123.00	10 / each	\$81,230.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$8,395.00	10 / each	\$83,950.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$15,795.00	10 / each	\$157,950.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B108-05 Division 26: LED Bollard					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp 👔	First Offer - \$886.60	10 / each	\$8,866.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
ENCO, LLC 🙀	First Offer - \$1,204.00	10 / each	\$12,040.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$1,259.46	10 / each	\$12,594.60		Y
		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$1,279.66	10 / each	\$12,796.60		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$1,560.00	10 / each	\$15,600.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
West Construction, Inc. [Ad]	First Offer - \$2,587.50	10 / each	\$25,875.00		Y
		Supplier Product Supplier Notes:	Code:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$5,616.00	10 / each	\$56,160.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC	First Offer - \$716.00	10 / each	\$7,160.00	Atten.	Y
Product Code: Agency Notes:	oduct Code:		: Code:		
MBR CONSTRUCTION, INC.	First Offer - \$730.45	10 / each	\$7,304.50		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$810.70	10 / each	\$8,107.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$1,249.19	10 / each	\$12,491.90		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
West Construction, Inc. [Ad]	First Offer - \$2,369.00	10 / each	\$23,690.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$2,400.00	10 / each	\$24,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$9,945.00	10 / each	\$99,450.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B108-07 Division 26: LED Area Luminaire	5000K				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC 👔	First Offer - \$716.00	10 / each	\$7,160.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
MBR CONSTRUCTION, INC. 👔	First Offer - \$855.00	10 / each	\$8,550.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
FHP Tectonics Corp	First Offer - \$1,321.10	10 / each	\$13,211.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$1,771.00	10 / each	\$17,710.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$2,681.19	10 / each	\$26,811.90		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Emerald Construction Corp. [Ad]	First Offer - \$3,000.00	10 / each	\$30,000.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$12,636.00	10 / each	\$126,360.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B108-08 Division 26: LED Area Luminaire 5000K							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ENCO, LLC 👔	First Offer - \$780.00	10 / each	\$7,800.00		Y		
Product Code:		Supplier Product Code:					

Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$983.40	10 / each	\$9,834.00	Y	
Product Code:		Supplier Product	Code:	·	
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$1,325.50	10 / each	\$13,255.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$2,293.10	10 / each	\$22,931.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$3,240.00	10 / each	\$32,400.00	Y	
Product Code:		<b>Supplier Product</b>	Code:		
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$3,473.36	10 / each	\$34,733.60	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$16,263.00	10 / each	\$162,630.00	Υ	
Product Code:		<b>Supplier Product</b>	Code:		
Agency Notes:		Supplier Notes:			

PNC2120194B108-09 Division 26: LED Area Luminaire 5	6000K				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp	First Offer - \$810.70	10 / each	\$8,107.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
ENCO, LLC 🙀	First Offer - \$838.00	10 / each	\$8,380.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
MBR CONSTRUCTION, INC.	First Offer - \$855.00	10 / each	\$8,550.00		Y
		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$1,805.50	10 / each	\$18,055.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$3,290.55	10 / each	\$32,905.50		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Emerald Construction Corp. [Ad]	First Offer - \$3,420.00	10 / each	\$34,200.00		Υ
		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$7,605.00	10 / each	\$76,050.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B108-10 Division 26: LED Area Luminaire 400	00K				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$745.86	10 / each	\$7,458.60		Y
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$777.70	10 / each	\$7,777.00		Y
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			

ENCO, LLC 👔	First Offer - \$940.00	10 / each	\$9,400.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$1,805.50	10 / each	\$18,055.00	Y	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$2,681.19	10 / each	\$26,811.90	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$3,000.00	10 / each	\$30,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$8,424.00	10 / each	\$84,240.00	Υ	
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			

PNC2120194B108-11 Division 26: LED Flood Light 5700K	(				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$503.22	5 / each	\$2,516.10		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
FHP Tectonics Corp	First Offer - \$653.40	5 / each	\$3,267.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$684.00	5 / each	\$3,420.00		Y
		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$1,260.00	5 / each	\$6,300.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$1,380.00	5 / each	\$6,900.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Waypoint Contracting, Inc.	First Offer - \$3,412.42	5 / each	\$17,062.10		Υ
		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$8,073.00	5 / each	\$40,365.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B108-12 Division 26: FWC certified LED Street Light						
Supplier	Unit Price	te Qty/Unit Total Price Attch.				
Emerald Construction Corp. [Ad]	First Offer - \$1,440.00	10 / each	\$14,400.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
MBR CONSTRUCTION, INC.	First Offer - \$2,395.80	10 / each	\$23,958.00		Y	
		Supplier Product Code: Supplier Notes:				
ENCO, LLC 👔	First Offer - \$2,688.00	10 / each	\$26,880.00		Υ	
		Supplier Product Code: Supplier Notes:				
Waypoint Contracting, Inc.	First Offer - \$2,803.06	10 / each	\$28,030.60		Y	
Product Code:		Supplier Product	Code:			

Agency Notes:		Supplier Notes:		
FHP Tectonics Corp	First Offer - \$4,232.80	10 / each	\$42,328.00	Y
		Supplier Product Code: Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$6,210.00	10 / each	\$62,100.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$15,093.00	10 / each	\$150,930.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	

PNC2120194B108-13 Division 26: Round Concrete Pole	Standard				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$1,560.00	10 / each	\$15,600.00		Υ
		Supplier Product Supplier Notes:	Code:		
Waypoint Contracting, Inc.	First Offer - \$1,828.08	10 / each	\$18,280.80		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
ENCO, LLC 🙀	First Offer - \$2,024.00	10 / each	\$20,240.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
MBR CONSTRUCTION, INC. 👔	First Offer - \$3,067.68	10 / each	\$30,676.80		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$3,582.70	10 / each	\$35,827.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
West Construction, Inc. [Ad]	First Offer - \$3,680.00	10 / each	\$36,800.00		Y
		Supplier Product Supplier Notes:	Code:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$9,945.00	10 / each	\$99,450.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B108-14 Division 26: Round Concrete	or Cor	nposite Pole Standard				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Emerald Construction Corp. [Ad]		First Offer - \$1,800.00	10 / each	\$18,000.00		Υ
		Supplier Product Supplier Notes:	Code:			
Agency Notes:  ENCO, LLC		First Offer - \$1,941.00	10 / each	\$19,410.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Waypoint Contracting, Inc.		First Offer - \$2,254.64	10 / each	\$22,546.40		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.		First Offer - \$2,387.16	10 / each	\$23,871.60		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
West Construction, Inc. [Ad]		First Offer - \$2,760.00	10 / each	\$27,600.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		

	- \$11,349.00   10 / each   \$113,490.00   <b>Y</b>
Agency Notes:	Supplier Notes:
Product Code:	Supplier Product Code:
FHP Tectonics Corp First Offer	r - \$3,979.80   10 / each   \$39,798.00   <b>Y</b>

PNC2120194B108-15 Division 26: Round Concrete or C	omposite Pole Standard				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$2,010.89	10 / each	\$20,108.90		Υ
		Supplier Product Supplier Notes:	t Code:		
ENCO, LLC 👔	First Offer - \$2,069.00	10 / each	\$20,690.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$2,400.00	10 / each	\$24,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$2,541.24	10 / each	\$25,412.40		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	t Code:		
West Construction, Inc. [Ad]	First Offer - \$2,990.00	10 / each	\$29,900.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	t Code:		
FHP Tectonics Corp	First Offer - \$3,979.80	10 / each	\$39,798.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	t Code:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$12,636.00	10 / each	\$126,360.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	t Code:		

PNC2120194B1-08-16 Division 26: Round Concrete or C	Composite Pole Standard				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC 👔	First Offer - \$2,230.00	5 / each	\$11,150.00		Y
Product Code: Agency Notes:		Supplier Produc Supplier Notes:	t Code:		
Waypoint Contracting, Inc.	First Offer - \$2,437.45	5 / each	\$12,187.25		Υ
Product Code: Agency Notes:		Supplier Produc Supplier Notes:	t Code:		
MBR CONSTRUCTION, INC.	First Offer - \$2,765.94	5 / each	\$13,829.70		Υ
Product Code: Agency Notes:		Supplier Produc Supplier Notes:	t Code:		
Emerald Construction Corp. [Ad]	First Offer - \$3,000.00	5 / each	\$15,000.00		Υ
Product Code: Agency Notes:		Supplier Produc Supplier Notes:	t Code:		
West Construction, Inc. [Ad]	First Offer - \$3,335.00	5 / each	\$16,675.00		Y
Product Code: Agency Notes:		Supplier Produc Supplier Notes:	t Code:		
FHP Tectonics Corp	First Offer - \$3,979.80	5 / each	\$19,899.00		Y
Product Code: Agency Notes:		Supplier Produc Supplier Notes:	t Code:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$14,391.00	5 / each	\$71,955.00		Υ

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

PNC2120194B108-17 Division 26: Ameron Washington	Pole				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$1,645.28	5 / each	\$8,226.40		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	: Code:		
ENCO, LLC 👔	First Offer - \$2,435.00	5 / each	\$12,175.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$4,061.20	5 / each	\$20,306.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
MBR CONSTRUCTION, INC.	First Offer - \$4,897.38	5 / each	\$24,486.90		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Emerald Construction Corp. [Ad]	First Offer - \$5,400.00	5 / each	\$27,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$5,750.00	5 / each	\$28,750.00		Y
Product Code: Agency Notes:	, ,	Supplier Product Supplier Notes:	Code:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$16,965.00	5 / each	\$84,825.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B108-18 Division 26: Precast Concrete Pole	2				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC 👔	First Offer - \$1,029.00	10 / each	\$10,290.00		Y
		Supplier Product Supplier Notes:	Code:		
Waypoint Contracting, Inc.	First Offer - \$1,523.40	10 / each	\$15,234.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
MBR CONSTRUCTION, INC.	First Offer - \$1,847.88	10 / each	\$18,478.80		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
West Construction, Inc. [Ad]	First Offer - \$2,185.00	10 / each	\$21,850.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$2,732.40	10 / each	\$27,324.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Emerald Construction Corp. [Ad]	First Offer - \$4,560.00	10 / each	\$45,600.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$7,605.00	10 / each	\$76,050.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B1–08-19 Division 26: Precast Concrete Pole			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC 👔	First Offer - \$1,151.00	10 / each	\$11,510.00		Y
Product Code:		Supplier Produc	ct Code:		
Agency Notes:		<b>Supplier Notes:</b>			
Waypoint Contracting, Inc.	First Offer - \$1,828.08	10 / each	\$18,280.80		Υ
Product Code:		Supplier Produc	ct Code:		
Agency Notes:		<b>Supplier Notes:</b>			
West Construction, Inc. [Ad]	First Offer - \$2,070.00	10 / each	\$20,700.00		Y
Product Code:		Supplier Produc	ct Code:		
Agency Notes:		<b>Supplier Notes:</b>			
MBR CONSTRUCTION, INC. 👔	First Offer - \$2,077.68	10 / each	\$20,776.80		Υ
Product Code:		Supplier Produc	ct Code:		
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$3,084.40	10 / each	\$30,844.00		Y
Product Code:		Supplier Produc	ct Code:		
Agency Notes:		<b>Supplier Notes:</b>			
Emerald Construction Corp. [Ad]	First Offer - \$5,040.00	10 / each	\$50,400.00		Υ
Product Code:		Supplier Produc	ct Code:		
Agency Notes:		<b>Supplier Notes:</b>			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$9,126.00	10 / each	\$91,260.00		Υ
Product Code:		Supplier Produc	ct Code:		
Agency Notes:		<b>Supplier Notes:</b>			

PNC2120194B108-20 Division 26: Precast Concrete Pole	9				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC	First Offer - \$1,459.00	10 / each	\$14,590.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
MBR CONSTRUCTION, INC.	First Offer - \$2,199.66	10 / each	\$21,996.60		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$2,437.45	10 / each	\$24,374.50		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
West Construction, Inc. [Ad]	First Offer - \$2,760.00	10 / each	\$27,600.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
FHP Tectonics Corp	First Offer - \$3,397.90	10 / each	\$33,979.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Emerald Construction Corp. [Ad]	First Offer - \$5,520.00	10 / each	\$55,200.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$11,466.00	10 / each	\$114,660.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B108-21 Division 26: Meter Can					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$360.00	2 / each	\$720.00		Υ
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
	First Offer - \$450.00	2 / each	\$900.00		Y

	_	ounty Commissioners			
ENCO, LLC 👔					
Product Code:			Supplier Product	Code:	
Agency Notes:			Supplier Notes:		
MBR CONSTRUCTION, INC.		First Offer - \$647.94	2 / each	\$1,295.88	Υ
Product Code:			<b>Supplier Product</b>	Code:	
Agency Notes:			Supplier Notes:		
FHP Tectonics Corp		First Offer - \$726.00	2 / each	\$1,452.00	Y
Product Code:			Supplier Product	Code:	·
Agency Notes:			Supplier Notes:		
Waypoint Contracting, Inc.		First Offer - \$1,401.53	2 / each	\$2,803.06	Y
Product Code:			<b>Supplier Product</b>	Code:	
Agency Notes:			Supplier Notes:		
West Construction, Inc. [Ad]		First Offer - \$1,840.00	2 / each	\$3,680.00	Y
Product Code:			Supplier Product	Code:	
Agency Notes:			Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT		First Offer - \$2,223.00	2 / each	\$4,446.00	Y
Product Code:			<b>Supplier Product</b>	Code:	
Agency Notes:			Supplier Notes:		

PNC2120194B1–08-22 Division 26: Meter Can						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ENCO, LLC 👔	First Offer - \$450.00	2 / each	\$900.00		Y	
		Supplier Product Code: Supplier Notes:				
Emerald Construction Corp. [Ad]	First Offer - \$840.00	2 / each	\$1,680.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
FHP Tectonics Corp 👔	First Offer - \$1,210.00	2 / each	\$2,420.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
MBR CONSTRUCTION, INC. 🙀	First Offer - \$1,458.00	2 / each	\$2,916.00		Y	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
Waypoint Contracting, Inc.	First Offer - \$2,254.64	2 / each	\$4,509.28		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
West Construction, Inc. [Ad]	First Offer - \$2,300.00	2 / each	\$4,600.00		Y	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2,691.00	2 / each	\$5,382.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			

PNC2120194B108-23 Division 26: Disconnect Switch					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$767.80	2 / each	\$1,535.60		Y
Product Code:		<b>Supplier Product</b>	Code:		
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$2,040.00	2 / each	\$4,080.00		Y
Product Code:		<b>Supplier Product</b>	Code:		
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$2,420.00	2 / each	\$4,840.00		Y

Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
MBR CONSTRUCTION, INC.	First Offer - \$2,582.40	2 / each	\$5,164.80	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	·
ENCO, LLC	First Offer - \$2,600.00	2 / each	\$5,200.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$4,797.00	2 / each	\$9,594.00	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
West Construction, Inc. [Ad]	First Offer - \$5,175.00	2 / each	\$10,350.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	

PNC2120194B108-24 Division 26: Disconnect Switch					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$1,176.07	2 / each	\$2,352.14		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Emerald Construction Corp. [Ad]	First Offer - \$3,000.00	2 / each	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
ENCO, LLC 🙀	First Offer - \$3,500.00	2 / each	\$7,000.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
FHP Tectonics Corp 👔	First Offer - \$3,509.00	2 / each	\$7,018.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
MBR CONSTRUCTION, INC.	First Offer - \$4,054.80	2 / each	\$8,109.60		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$6,552.00	2 / each	\$13,104.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
West Construction, Inc. [Ad]	First Offer - \$6,670.00	2 / each	\$13,340.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PNC2120194B108-25 Division 26: Disconnect Switch					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$2,534.94	2 / each	\$5,069.88		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Emerald Construction Corp. [Ad]	First Offer - \$4,200.00	2 / each	\$8,400.00		Υ
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$4,563.00	2 / each	\$9,126.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
MBR CONSTRUCTION, INC.	First Offer - \$5,606.40	2 / each	\$11,212.80		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

	County Commissioners			
FHP Tectonics Corp	First Offer - \$6,050.00	2 / each	\$12,100.00	Y
Product Code:		Supplier Produ	ct Code:	
Agency Notes:		<b>Supplier Notes</b>	:	
ENCO, LLC	First Offer - \$7,500.00	2 / each	\$15,000.00	Y
Product Code:		Supplier Produ	ct Code:	
Agency Notes:		<b>Supplier Notes</b>	:	
West Construction, Inc. [Ad]	First Offer - \$12,075.00	2 / each	\$24,150.00	Y
Product Code:	1 1	Supplier Produ	ct Code:	

Product Code: Supplier Product Code
Agency Notes: Supplier Notes:

#### PNC2120194B1--08-26 Division 26: Panel Board

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC 🙀	First Offer - \$450.00	2 / each	\$900.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
FHP Tectonics Corp 👔	First Offer - \$484.00	2 / each	\$968.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
Waypoint Contracting, Inc.	First Offer - \$1,072.48	2 / each	\$2,144.96		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$1,177.86	2 / each	\$2,355.72		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
West Construction, Inc. [Ad]	First Offer - \$2,760.00	2 / each	\$5,520.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
MBR CONSTRUCTION, INC.	First Offer - \$3,582.00	2 / each	\$7,164.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$6,669.00	2 / each	\$13,338.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		

#### PNC2120194B1--08-27 Division 26: Panel Board

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp 👔	First Offer - \$726.00	2 / each	\$1,452.00		Y
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
ENCO, LLC 👔	First Offer - \$2,000.00	2 / each	\$4,000.00		Y
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$2,160.00	2 / each	\$4,320.00		Υ
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$3,582.00	2 / each	\$7,164.00		Y
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$4,600.00	2 / each	\$9,200.00		Y
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$4,996.76	2 / each	\$9,993.52		Υ

	Broward County Board of County Commissioners		Ex Page 36	hibit 1 of 200	NC2120194B
Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes:	First Offer - \$9,711.00	Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes:	\$19,422.00		Y
PNC2120194B108-28 Division 26: Panel Board Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC	First Offer - \$500.00	-	\$1,000.00	71000111	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
FHP Tectonics Corp	First Offer - \$605.00	2 / each	\$1,210.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$780.00		\$1,560.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$1,462.47		\$2,924.94		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	•		
West Construction, Inc. [Ad]	First Offer - \$2,875.00		\$5,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
MBR CONSTRUCTION, INC. $\overline{\begin{tikzpicture}(4,0) \put(0,0){\line(1,0){100}} \put(0,0){\line(1,0){$	First Offer - \$3,511.20	2 / each	\$7,022.40		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes:	First Offer - \$12,285.00	2 / each  Supplier Product Code: Supplier Notes:	\$24,570.00		Y
		эмррия несер			
PNC2120194B108-29 Division 26: Panel Board	Huit Buiss	Otro (I Inch	Tatal Brian	0 44 ala	D
Supplier ENCO, LLC	First Offer - \$600.00	<b>Qty/Unit</b> 2 / each	<b>Total Price</b> \$1,200.00	Attch.	Docs Y
Product Code: Agency Notes:	1113COTTCT \$000.00	Supplier Product Code: Supplier Notes:	¥1,200.00		•
Emerald Construction Corp. [Ad]	First Offer - \$900.00	2 / each	\$1,800.00		Υ
Product Code:		Supplier Product Code:	·		
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$968.00		\$1,936.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$3,680.00	2 / each	\$7,360.00		Υ
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:	·		
Waypoint Contracting, Inc.	First Offer - \$3,717.10		\$7,434.20		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer #4.036.00	Supplier Notes:	¢0 0E2 00		v
MBR CONSTRUCTION, INC.	First Offer - \$4,026.00	2 / each	\$8,052.00		Y

First Offer - \$5,031.00

**Supplier Product Code: Supplier Notes:** 

**Supplier Product Code:** 

**Supplier Notes:** 

\$10,062.00

Υ

2 / each

**Product Code:** 

**Agency Notes:** 

**Product Code:** 

**Agency Notes:** 

H G CONSTRUCTION DEVELOPMENT & INVESTMENT

PNC2120194B108-30 Division 26: Grounding Electrode					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$138.28	20 / each	\$2,765.60		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
ENCO, LLC	First Offer - \$155.00	20 / each	\$3,100.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Emerald Construction Corp. [Ad]	First Offer - \$192.00	20 / each	\$3,840.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Waypoint Contracting, Inc.	First Offer - \$274.21	20 / each	\$5,484.20		Υ
Product Code:		Supplier Product Code Supplier Notes:	e:		
Agency Notes: West Construction, Inc. [Ad]	First Offer - \$287.50	20 / each	\$5,750.00		Υ
Product Code:	1113CONC1 \$207.50	Supplier Product Code			•
Agency Notes:	First Offer #262.00	Supplier Notes:	¢7.260.00		v
FHP Tectonics Corp	First Offer - \$363.00	20 / each	\$7,260.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$7,956.00	20 / each	\$159,120.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
PNC2120194B108-31 Division 26: Pull and Junction Boxes				_	
Supplier		Qty/Unit	Total Price	Attch.	Docs
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$396.00	50 / each <b>Supplier Product Code</b>	\$19,800.00		Υ
Agency Notes:		Supplier Notes:	с.		
Waypoint Contracting, Inc.	First Offer - \$426.55	50 / each	\$21,327.50		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
MBR CONSTRUCTION, INC.	First Offer - \$574.80	50 / each	\$28,740.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	<b>e</b> :		
ENCO, LLC	First Offer - \$700.00	50 / each	\$35,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
West Construction, Inc. [Ad]	First Offer - \$874.00	50 / each	\$43,700.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
FHP Tectonics Corp	First Offer - \$968.00	50 / each	\$48,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$5,967.00	50 / each	\$298,350.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
PNC2120194B108-32 Division 26: Circuit Breaker					
Supplier					
Waypoint Contracting, Inc.	<b>Unit Price</b> First Offer - \$30.47	<b>Qty/Unit</b> 10 / each	<b>Total Price</b> \$304.70	Attch.	Docs Y

	Broward County Board of		Ex Page 38	xhibit 1 of 200	NC2120194B1
Product Code:	County Commissioners	Supplier Product Code:	· ·		
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC. 🔓	First Offer - \$99.60	10 / each	\$996.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$115.00		\$1,150.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$115.00		\$1,150.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$120.00	10 / each	\$1,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 🙀	First Offer - \$121.00	10 / each	\$1,210.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$7,371.00	10 / each	\$73,710.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B108-33 Division 26: Circuit Breaker					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Waypoint Contracting, Inc.		10 / each	\$402.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$125.00	10 / each	\$1,250.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$172.50	10 / each	\$1,725.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$178.80	10 / each	\$1,788.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$234.00	10 / each	\$2,340.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$242.00	10 / each	\$2,420.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$585.00	10 / each	\$5,850.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B108-34 Division 26: Circuit Breaker					
Supplier		Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$152.34		\$1,523.40		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$154.00		\$1,540.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

	Broward County Board of County Commissioners		Ex Page 39	hibit 1 of 200	NC2120194B1
Emerald Construction Corp. [Ad]	First Offer - \$246.00	10 / each	\$2,460.00		Υ
Product Code:		Supplier Product Code	•		
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$252.25	10 / each	\$2,522.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
West Construction, Inc. [Ad]	First Offer - \$380.65	10 / each	\$3,806.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
FHP Tectonics Corp 👔	First Offer - \$605.00	10 / each	\$6,050.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$1,755.00	10 / each	\$17,550.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
PNC2120194B108-35 Division 26: Circuit Breaker					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$42.66	10 / each	\$426.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$117.00	10 / each	\$1,170.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$156.00	10 / each	\$1,560.00		Υ
Product Code:		Supplier Product Code:	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
Agency Notes:		Supplier Notes:			
ENCO, LLC 👔	First Offer - \$165.00	10 / each	\$1,650.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$343.73	10 / each	\$3,437.30		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$437.00	10 / each	\$4,370.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$605.00	10 / each	\$6,050.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B108-36 Division 26: Circuit Breaker				_	_
Supplier	Unit Price	-	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$45.09	10 / each	\$450.90		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$165.00	10 / each	\$1,650.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$180.00	10 / each	\$1,800.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$234.00	10 / each	\$2,340.00		Υ
Product Code:		Supplier Product Code:			

	Broward County Board of County Commissioners		Ex Page 40	hibit 1 of 200	NC2120194B1
Agency Notes:	, ,	Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$343.73	10 / each	\$3,437.30		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$437.00	10 / each	\$4,370.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$605.00	10 / each	\$6,050.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B108-37 Division 26: Circuit Breaker					
Supplier		Qty/Unit	<b>Total Price</b>	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$97.50	10 / each	\$975.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$165.00	10 / each	\$1,650.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$198.00	10 / each	\$1,980.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:	F: + O. (	Supplier Notes:	#2.427.20		v
MBR CONSTRUCTION, INC.	First Offer - \$343.73	10 / each	\$3,437.30		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$351.00	10 / each	\$3,510.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$437.00	10 / each	\$4,370.00		Υ
Product Code:		Supplier Product Code:	,		
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$726.00	10 / each	\$7,260.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B108-38 Division 26: Circuit Breaker					
Supplier		e Qty/Unit	<b>Total Price</b>	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$176.71		\$1,236.97		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
ENCO, LLC	First Offer - \$240.00		\$1,680.00		Υ
Product Code:		Supplier Product Code	·		
Agency Notes: Emerald Construction Corp. [Ad]	First Offer - \$246.00	Supplier Notes:  7 / each	\$1,722.00		Υ
Product Code:	30 31101 42-10.00	Supplier Product Code	•		-
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$351.00		\$2,457.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
MBR CONSTRUCTION, INC.	First Offer - \$417.88		\$2,925.16		Υ
Product Code:		Supplier Product Code	·		
Agency Notes:		Supplier Notes:	-		

Exhibit 1 Page 41 of 200 PNC2120194B1

West Construction, Inc. [Ad] First Offer - \$618.00 7 / each \$4,326.00 Y

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

FHP Tectonics Corp | First Offer - \$1,210.00 7 / each \$8,470.00 **Y** 

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

#### PNC2120194B1--08-39 Division 26: Electrical service feeder

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$1.26	300 / linear foot	\$378.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$3.00	300 / linear foot	\$900.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$3.11	300 / linear foot	\$933.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$3.53	300 / linear foot	\$1,059.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$4.255	300 / linear foot	\$1,276.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$4.62	300 / linear foot	\$1,386.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$14.05	300 / linear foot	\$4,215.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

#### PNC2120194B1--08-40 Division 26: Electrical service feeder

PNC2120194B108-40 Division 26: Electrical service feeder					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$2.46	300 / linear foot	\$738.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$3.00	300 / linear foot	\$900.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$3.85	300 / linear foot	\$1,155.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$5.00	300 / linear foot	\$1,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$5.175	300 / linear foot	\$1,552.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$5.62	300 / linear foot	\$1,686.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$17.55	300 / linear foot	\$5,265.00		Υ
	Supplier  Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  ENCO, LLC  Product Code: Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:  West Construction, Inc. [Ad]  Product Code: Agency Notes:  Mest Construction, Inc. [Ad]  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes:	Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  ENCO, LLC First Offer - \$3.00  Product Code: Agency Notes:  FHP Tectonics Corp First Offer - \$3.85  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:  West Construction, Inc. [Ad] First Offer - \$5.175  Product Code: Agency Notes:  Mest Construction, Inc. [Ad] First Offer - \$5.175  Product Code: Agency Notes:  MBR CONSTRUCTION, INC. First Offer - \$5.62  Product Code: Agency Notes:	Supplier  Emerald Construction Corp. [Ad]  First Offer - \$2.46  300 / linear foot  Supplier Product Code: Agency Notes:  ENCO, LLC \( \)  Product Code: Agency Notes:  ENCO, LLC \( \)  Product Code: Agency Notes:  First Offer - \$3.00  First Offer - \$3.00  First Offer - \$3.00  Agency Notes:  First Offer - \$3.85  300 / linear foot  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:  West Construction, Inc. [Ad] \( \)  First Offer - \$5.175  Supplier Product Code: Agency Notes:  West Construction, Inc. [Ad] \( \)  First Offer - \$5.175  Supplier Product Code: Agency Notes:  First Offer - \$5.175  Supplier Product Code: Agency Notes:  First Offer - \$5.175  Supplier Product Code: Agency Notes:  First Offer - \$5.175  Supplier Product Code: Agency Notes:  MBR CONSTRUCTION, INC. \( \)  First Offer - \$5.62  Supplier Product Code: Agency Notes:  Supplier Product Code: Agency Notes:	Supplier       Unit Price       Qty/Unit       Total Price         Emerald Construction Corp. [Ad]       First Offer - \$2.46       300 / linear foot       \$738.00         Product Code:       Supplier Product Code:       Supplier Product Code:       \$900.00         Agency Notes:       Supplier Product Code:       \$900.00         Product Code:       Supplier Product Code:       \$900.00         Agency Notes:       Supplier Product Code:       \$1,155.00         Agency Notes:       Supplier Product Code:       \$1,550.00         Agency Notes:       Supplier Product Code:       \$1,500.00         Agency Notes:       Supplier Product Code:       \$1,500.00         Agency Notes:       Supplier Product Code:       \$1,552.50         Agency Notes:       Supplier Product Code:       \$1,552.50         Agency Notes:       Supplier Product Code:       \$1,686.00         Agency Notes:       First Offer - \$5.62       300 / linear foot       \$1,686.00         Product Code:       Agency Notes:       Supplier Product Code:       \$1,686.00         Agency Notes:       Supplier Product Code:       \$1,686.00         Agency Notes:       Supplier Notes:       \$1,686.00	Supplier       Unit Price       Qty/Unit       Total Price       Attch.         Emerald Construction Corp. [Ad]       First Offer - \$2.46       300 / linear foot       \$738.00       Product Code:       Supplier Product Code:       \$300 / linear foot       \$900.00

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

PNC2120194B108-41 Division 26: Electrical service f	feeder				
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$3.60	300 / linear foot	\$1,080.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer - \$4.00	<b>Supplier Notes:</b> 300 / linear foot	\$1,200.00		Υ
ENCO, LLC	1113t Office \$4.00		Ψ1,200.00		•
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$5.43	300 / linear foot	\$1,629.00		Υ
Product Code:		Supplier Product Code:	•		
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$6.58	300 / linear foot	\$1,974.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer # #7.1.4	Supplier Notes:	¢2.1.12.00		v
MBR CONSTRUCTION, INC.	First Offer - \$7.14		\$2,142.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
	First Offer - \$7.5325	300 / linear foot	\$2,259.75		Υ
West Construction, Inc. [Ad]	11136 01161 47.13323		42,233.73		•
Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$22.23		\$6,669.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
PNC2120194B108-42 Division 26: Electrical service f		Oty/Unit	Total Price	Δttch	Docs
Supplier	Unit Price	• •	Total Price \$1.440.00	Attch.	Docs Y
		300 / linear foot	<b>Total Price</b> \$1,440.00	Attch.	Docs Y
Supplier Emerald Construction Corp. [Ad]	Unit Price	-		Attch.	
Supplier Emerald Construction Corp. [Ad] Product Code:	Unit Price	300 / linear foot Supplier Product Code: Supplier Notes:		Attch.	
Supplier Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC  Product Code:	<b>Unit Price</b> First Offer - \$4.80	300 / linear foot  Supplier Product Code: Supplier Notes: 300 / linear foot  Supplier Product Code:	\$1,440.00	Attch.	Y
Supplier Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes:	Unit Price First Offer - \$4.80 First Offer - \$7.00	300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Notes:	\$1,440.00 \$2,100.00	Attch.	Y
Supplier Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC  Product Code:	<b>Unit Price</b> First Offer - \$4.80	300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Notes:	\$1,440.00	Attch.	Y
Supplier Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes: FHP Tectonics Corp Product Code:	Unit Price First Offer - \$4.80 First Offer - \$7.00	300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code:	\$1,440.00 \$2,100.00	Attch.	Y
Supplier  Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  ENCO, LLC  Product Code: Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:	Unit Price First Offer - \$4.80  First Offer - \$7.00  First Offer - \$7.39	300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes:	\$1,440.00 \$2,100.00 \$2,217.00	Attch.	Y Y
Supplier Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC  Product Code: Agency Notes: FHP Tectonics Corp  Product Code: Agency Notes: Waypoint Contracting, Inc.	Unit Price First Offer - \$4.80 First Offer - \$7.00	300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 300 / linear foot	\$1,440.00 \$2,100.00	Attch.	Y
Supplier  Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  ENCO, LLC  Product Code: Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:	Unit Price First Offer - \$4.80  First Offer - \$7.00  First Offer - \$7.39	300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes:	\$1,440.00 \$2,100.00 \$2,217.00	Attch.	Y Y
Supplier Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC  Product Code: Agency Notes: FHP Tectonics Corp  Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code:	Unit Price First Offer - \$4.80  First Offer - \$7.00  First Offer - \$7.39	300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes:	\$1,440.00 \$2,100.00 \$2,217.00	Attch.	Y Y
Supplier  Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  ENCO, LLC  Product Code: Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:	Unit Price First Offer - \$4.80  First Offer - \$7.00  First Offer - \$7.39  First Offer - \$8.65	300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes:	\$1,440.00 \$2,100.00 \$2,217.00 \$2,595.00	Attch.	Y Y Y
Supplier  Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  ENCO, LLC  Product Code: Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  Waypoint Contracting, Inc. Product Code: Agency Notes:  MBR CONSTRUCTION, INC.	Unit Price First Offer - \$4.80  First Offer - \$7.00  First Offer - \$7.39  First Offer - \$8.65	300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Notes: 300 / linear foot	\$1,440.00 \$2,100.00 \$2,217.00 \$2,595.00 \$2,670.00	Attch.	Y Y Y
Supplier  Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  ENCO, LLC  Product Code: Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  Waypoint Contracting, Inc. Product Code: Agency Notes:  MBR CONSTRUCTION, INC.	Unit Price First Offer - \$4.80  First Offer - \$7.00  First Offer - \$7.39  First Offer - \$8.65	300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Notes:	\$1,440.00 \$2,100.00 \$2,217.00 \$2,595.00	Attch.	Y Y Y
Supplier Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes: FHP Tectonics Corp Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: MBR CONSTRUCTION, INC. Product Code: Agency Notes: West Construction, Inc. [Ad]	Unit Price First Offer - \$4.80  First Offer - \$7.00  First Offer - \$7.39  First Offer - \$8.65	300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Notes:	\$1,440.00 \$2,100.00 \$2,217.00 \$2,595.00 \$2,670.00	Attch.	Y Y Y Y
Supplier  Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  ENCO, LLC Product Code: Agency Notes:  FHP Tectonics Corp Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: MBR CONSTRUCTION, INC. Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes:	Unit Price First Offer - \$4.80  First Offer - \$7.00  First Offer - \$7.39  First Offer - \$8.65  First Offer - \$8.90  First Offer - \$10.0855	300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	\$1,440.00 \$2,100.00 \$2,217.00 \$2,595.00 \$2,670.00 \$3,025.65	Attch.	Y Y Y Y
Supplier  Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  ENCO, LLC  Product Code: Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes:  West Construction, Inc. [Ad]  Product Code: Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT	Unit Price First Offer - \$4.80  First Offer - \$7.00  First Offer - \$7.39  First Offer - \$8.65	300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Notes:	\$1,440.00 \$2,100.00 \$2,217.00 \$2,595.00 \$2,670.00	Attch.	Y Y Y Y
Supplier  Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  ENCO, LLC Product Code: Agency Notes:  FHP Tectonics Corp Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: MBR CONSTRUCTION, INC. Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes:	Unit Price First Offer - \$4.80  First Offer - \$7.00  First Offer - \$7.39  First Offer - \$8.65  First Offer - \$8.90  First Offer - \$10.0855	300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 300 / linear foot Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	\$1,440.00 \$2,100.00 \$2,217.00 \$2,595.00 \$2,670.00 \$3,025.65	Attch.	Y Y Y Y

## PNC2120194B1--08-43 Division 26: Electrical service feeder

	County Commissioners		Page 43	of 200 Pr	NC212019
Supplier		Qty/Unit	Total Price	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$8.40	300 / linear foot	\$2,520.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$13.79	300 / linear foot	\$4,137.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 🔓	First Offer - \$14.23	300 / linear foot	\$4,269.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$14.38	300 / linear foot	\$4,314.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$17.595	300 / linear foot	\$5,278.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$18.00	300 / linear foot	\$5,400.00		Υ
Product Code:			12/12112		
Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$36.27	300 / linear foot	\$10,881.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B108-44 Division 26: Electrical service feed					
Supplier		Qty/Unit	Total Price	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$12.00	300 / linear foot	\$3,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$15.17	300 / linear foot	\$4,551.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$16.86	300 / linear foot	\$5,058.00		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$17.27	300 / linear foot	\$5,181.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:	First Office #10.150	Supplier Notes: 300 / linear foot	¢F 747 70		v
West Construction, Inc. [Ad]	First Offer - \$19.159		\$5,747.70		Y
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer - \$20.00	Supplier Notes: 300 / linear foot	\$6,000.00		Υ
ENCO, LLC	First Offer - \$20.00		\$0,000.00		•
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$40.95	300 / linear foot	\$12,285.00		Υ
Product Code:	1113C OTTC: 440.93	Supplier Product Code:	¥12,203.00		•
Agency Notes:		Supplier Notes:			
PNC2120194B108-45 Division 26: Electrical service feed	er				
Supplier		e Qty/Unit	Total Price	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$20.40	-	\$6,120.00		Y
Product Code:		Supplier Product Code:	•		
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$21.88	300 / linear foot	\$6,564.00		Y

	Broward County Board of County Commissioners		Exi Page 44 d	hibit 1 of 200	NC2120194B1
Product Code:	County Commissioners	Supplier Product Code:			
Agency Notes:  MBR CONSTRUCTION, INC.	First Offer - \$24.18	Supplier Notes: 300 / linear foot	\$7,254.00		Υ
Product Code:		Supplier Product Code:	, ,		
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$26.58		\$7,974.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$29.0375		\$8,711.25		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	F: . 0 %	Supplier Notes:	+0.000.00		.,
ENCO, LLC	First Offer - \$30.00		\$9,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$49.14		\$14,742.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Agency Notes.		эфристичесь.			
PNC2120194B108-46 Division 26: Electrical service feed	der				
Supplier	Unit Price	-	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$24.00	300 / linear foot <b>Supplier Product Code:</b>	\$7,200.00		Υ
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC. $ig $	First Offer - \$29.80	300 / linear foot	\$8,940.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes: ENCO, LLC	First Offer - \$30.00	Supplier Notes: 300 / linear foot	\$9,000.00		Υ
Product Code:	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Supplier Product Code:	, , , , , , , , , , , , , , , , , , , ,		-
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$30.04	300 / linear foot	\$9,012.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$33.14	300 / linear foot	\$9,942.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes: West Construction, Inc. [Ad]	First Offer - \$34,201	Supplier Notes: 300 / linear foot	\$10,260.30		Υ
Product Code:	1113C OTTC: \$3 1.201	Supplier Product Code:	410,200.50		•
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$58.50	300 / linear foot	\$17,550.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B108-47 Division 26: Electrical service feed					_
Supplier Waypoint Contracting, Inc.	First Offer - \$58.50	<b>Qty/Unit</b> 300 / linear foot	<b>Total Price</b> \$17,550.00	Attcn.	Docs Y
Product Code:	1 11 5C OTTC1 - 430,30	Supplier Product Code:	¥17,330.00		•
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$71.30	300 / linear foot	\$21,390.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$73.91	300 / linear foot	\$22,173.00		Υ
Product Code:		Supplier Product Code:			

	Broward County Board of County Commissioners		Ex Page 45	hibit 1 of 200 Pi	NC2120194B1
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$93.86	300 / linear foot	\$28,158.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$100.00		\$30,000.00		Υ
Product Code:		Supplier Product Code:	, ,		
Agency Notes: Emerald Construction Corp. [Ad]	First Offer - \$102.00	Supplier Notes: 300 / linear foot	\$30,600.00		Υ
Product Code: Agency Notes:	First Offer - \$102.00	Supplier Product Code: Supplier Notes:	\$30,000.00		•
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$140.40		\$42,120.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	+ .2/.20.00		
DNC2120104D1 09 49 Division 25: DVC Conduit					
PNC2120194B108-48 Division 26: PVC Conduit Supplier		Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$2.62		\$786.00	Accen.	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
FHP Tectonics Corp	First Offer - \$3.64		\$1,092.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$4.44		\$1,332.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$4.715	300 / linear foot	\$1,414.50		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
ENCO, LLC	First Offer - \$7.00	300 / linear foot	\$2,100.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer - \$9.77	Supplier Notes:	\$2,931.00		Υ
MBR CONSTRUCTION, INC.  Product Code:	riist Offer - \$5.77	Supplier Product Code:	\$2,751.00		•
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes:	First Offer - \$17.55	Supplier Product Code: Supplier Notes:	\$5,265.00		Y
PNC2120194B108-49 Division 26: PVC Conduit					
Supplier	Unit Price	e Qty/Unit	Total Price	Attch.	Docs
West Construction, Inc. [Ad]	First Offer - \$2.7025		\$810.75		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$6.48		\$1,944.00		Υ
Product Code:		Supplier Product Code: Supplier Notes:			
Agency Notes: Emerald Construction Corp. [Ad]	First Offer - \$7.22	300 / linear foot	\$2,166.00		Υ
Product Code:		Supplier Product Code:	, . 20.00		
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$7.31	300 / linear foot	\$2,193.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
	First Offer - \$8.00	300 / linear foot	\$2,400.00		Υ

Υ

Υ

\$3,000.00

\$3,912.00



First Offer - \$10.00 300 / linear foot

First Offer - \$13.04 300 / linear foot

**Supplier Product Code:** 

**Supplier Notes:** 

ENCO, LLC 👔

**Product Code:** 

**Agency Notes:** 

MBR CONSTRUCTION, INC.

Page 47 of 200 PNC2120194B1 Exhibit 1

**Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** H G CONSTRUCTION DEVELOPMENT & INVESTMENT First Offer - \$40.95 300 / linear foot \$12,285.00 Υ **Supplier Product Code: Product Code: Agency Notes: Supplier Notes:** PNC2120194B1--08-52 Division 26: PVC Conduit Total Price Attch. **Supplier** Unit Price Qty/Unit **Docs** 300 / linear foot FHP Tectonics Corp First Offer - \$7.67 \$2,301.00 Υ **Product Code: Supplier Product Code:** Supplier Notes: **Agency Notes:** ENCO, LLC First Offer - \$11.00 300 / linear foot \$3,300.00 Υ **Product Code: Supplier Product Code: Agency Notes:** Supplier Notes: First Offer - \$11.27 300 / linear foot \$3,381.00 Υ Waypoint Contracting, Inc. **Supplier Product Code: Product Code: Agency Notes:** Supplier Notes: 300 / linear foot First Offer - \$12.2245 \$3.667.35 Υ West Construction, Inc. [Ad] **Supplier Product Code: Product Code:** Supplier Notes: **Agency Notes:** First Offer - \$16.08 300 / linear foot Υ Emerald Construction Corp. [Ad] \$4,824.00 **Supplier Product Code: Product Code: Supplier Notes: Agency Notes:** MBR CONSTRUCTION, INC. First Offer - \$21.79 300 / linear foot \$6,537.00 Υ **Product Code:** Supplier Product Code: Supplier Notes: **Agency Notes:** H G CONSTRUCTION DEVELOPMENT & INVESTMENT First Offer - \$52.65 300 / linear foot Υ \$15,795.00 **Product Code: Supplier Product Code:** Supplier Notes: **Agency Notes:** PNC2120194B1--08-53 Division 26: GRC Conduit Unit Price Qty/Unit **Total Price** Attch. Docs Supplier FHP Tectonics Corp 🔓 First Offer - \$4.00 300 / linear foot \$1,200.00 Υ **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** 300 / linear foot Waypoint Contracting, Inc. First Offer - \$5.28 \$1,584.00 Υ **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** First Offer - \$5.336 300 / linear foot West Construction, Inc. [Ad] \$1,600.80 Υ **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** Emerald Construction Corp. [Ad] First Offer - \$6.00 300 / linear foot \$1,800.00 Υ **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** MBR CONSTRUCTION, INC. First Offer - \$6.89 300 / linear foot \$2.067.00 ٧ **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** First Offer - \$9.00 300 / linear foot \$2,700.00 ENCO, LLC Υ **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** H G CONSTRUCTION DEVELOPMENT & INVESTMENT First Offer - \$25.74 300 / linear foot \$7,722.00 Υ **Product Code: Supplier Product Code: Supplier Notes:** 

**Agency Notes:** 

PNC2120194B108-54 Division 26: GRC Conduit					
Supplier	Unit Price	<u>-</u>	Total Price	Attch.	Docs
FHP Tectonics Corp 👔	First Offer - \$5.56	100 / linear foot	\$556.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$8.188	100 / linear foot	\$818.80		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$8.29	100 / linear foot	\$829.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$9.00	100 / linear foot	\$900.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$9.60	100 / linear foot	\$960.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$10.69	100 / linear foot	\$1,069.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$33.93	100 / linear foot	\$3,393.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Agency Notes.		supplier Notes.			
PNC2120194B108-55 Division 26: GRC Conduit					
Supplier	Unit Price	e Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC 🙀	First Offer - \$9.00	100 / linear foot	\$900.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$11.06		\$1,106.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$14.6625	100 / linear foot	\$1,466.25		Υ
Product Code:					
Agency Notes:		Supplier Product Code: Supplier Notes:			
Agency Notes: Waypoint Contracting, Inc.	First Offer - \$16.33	Supplier Notes:	\$1,633.00		Y
		Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Notes:	\$1,633.00		Y
Waypoint Contracting, Inc.  Product Code: Agency Notes: Emerald Construction Corp. [Ad]	First Offer - \$16.33 First Offer - \$20.40	Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Notes: 100 / linear foot	\$1,633.00 \$2,040.00		Y
Waypoint Contracting, Inc.  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code:		Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Notes: 100 / linear foot Supplier Product Code:			
Waypoint Contracting, Inc.  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code: Agency Notes:		Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$20.40	Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Notes: 100 / linear foot	\$2,040.00		Y
Waypoint Contracting, Inc.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: MBR CONSTRUCTION, INC.	First Offer - \$20.40	Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Notes:	\$2,040.00		Y
Waypoint Contracting, Inc.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: MBR CONSTRUCTION, INC. Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$20.40	Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 100 / linear foot	\$2,040.00		Y
Waypoint Contracting, Inc.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: MBR CONSTRUCTION, INC.  Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code:	First Offer - \$20.40 First Offer - \$22.10	Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 100 / linear foot Supplier Notes:	\$2,040.00 \$2,210.00		Y Y
Waypoint Contracting, Inc.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: MBR CONSTRUCTION, INC. Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$20.40 First Offer - \$22.10	Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 100 / linear foot	\$2,040.00 \$2,210.00		Y Y
Waypoint Contracting, Inc.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: MBR CONSTRUCTION, INC.  Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code:	First Offer - \$20.40 First Offer - \$22.10	Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 100 / linear foot Supplier Notes:	\$2,040.00 \$2,210.00		Y Y
Waypoint Contracting, Inc.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: MBR CONSTRUCTION, INC. Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes:	First Offer - \$20.40  First Offer - \$22.10  First Offer - \$40.95	Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Notes: 100 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 100 / linear foot Supplier Notes:	\$2,040.00 \$2,210.00	Attch.	Y Y

	Broward County Board of County Commissioners		Exi Page 49 d	nibit 1 of 200	NC2120194B1
Product Code:	County Commiscioners	Supplier Product Code:			
Agency Notes:	F: . 0 %	Supplier Notes:	+0.000.00		
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$33.60	100 / linear foot <b>Supplier Product Code:</b>	\$3,360.00		Υ
Agency Notes:		Supplier Notes:			
ENCO, LLC 👔	First Offer - \$35.00	100 / linear foot	\$3,500.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer \$41.07	Supplier Notes:	¢410700		V
Waypoint Contracting, Inc.  Product Code:	First Offer - \$41.07	Supplier Product Code:	\$4,107.00		Υ
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$43.861	100 / linear foot	\$4,386.10		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer - \$51.14	Supplier Notes:	¢E 114.00		Υ
MBR CONSTRUCTION, INC.	First Offer - \$51.14		\$5,114.00		T
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$58.50		\$5,850.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Prisoner and the second printing and an indicating	Consultant or				
PNC2120194B109-01 Divisions 26 and 32: Irrigation S Supplier	_	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$0.38	1000 / linear foot	\$380.00	71000111	Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$0.97	1000 / linear foot	\$970.00		Υ
Product Code:		Supplier Product Code: Supplier Notes:			
Agency Notes: ENCO, LLC	First Offer - \$1.50	1000 / linear foot	\$1,500.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$1.80	1000 / linear foot	\$1,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$2.3115	1000 / linear foot	\$2,311.50		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$2.52	1000 / linear foot	\$2,520.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$11.12		\$11,120.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
DNC2120104D1 00 02 Divisions 2C and 22 Invication	'ommon Miro				
PNC2120194B109-02 Divisions 26 and 32: Irrigation C Supplier		Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$0.58	1000 / linear foot	\$580.00	71000111	Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$1.09	1000 / linear foot	\$1,090.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

	Broward County Board or County Commissioners	f	Ext Page 50 c	nibit 1 pNC2120194B1
ENCO, LLC 🙀	First Offer - \$1.50	1000 / linear foot	\$1,500.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	, ,	
Waypoint Contracting, Inc.	First Offer - \$2.34	1000 / linear foot	\$2,340.00	Υ
Product Code:		Supplier Product Code:	, ,-	
Agency Notes:		Supplier Notes:		
Emerald Construction Corp. [Ad]	First Offer - \$2.40	1000 / linear foot	\$2,400.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:	Final Office #2 CECE	Supplier Notes:	#2.CEC.EO	V
West Construction, Inc. [Ad]	First Offer - \$2.6565		\$2,656.50	Υ
Product Code:		Supplier Product Code:		
Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$14.63	Supplier Notes: 1000 / linear foot	\$14,630.00	Υ
Product Code:	riist Ollei - \$14.03	Supplier Product Code:	\$14,030.00	•
Agency Notes:		Supplier Notes:		
		• •		
PNC2120194B109-03 Divisions 26 and 32: Irrigation	Wire Splice Box			
Supplier	•	e Qty/Unit	Total Price	Attch. Docs
MBR CONSTRUCTION, INC.	First Offer - \$3.8	4 25 / linear foot	\$96.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
ENCO, LLC 👔	First Offer - \$6.5	0 25 / linear foot	\$162.50	Υ
Product Code:		Supplier Product Code: Supplier Notes:		
Agency Notes: Emerald Construction Corp. [Ad]	First Offer - \$120.0		\$3,000.00	Υ
Product Code:	1113t Offer - \$120.0	Supplier Product Code:	45,000.00	'
Agency Notes:		Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$146.2	5 25 / linear foot	\$3,656.25	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
FHP Tectonics Corp 👔	First Offer - \$234.9	8 25 / linear foot	\$5,874.50	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$548.4	3 25 / linear foot	\$13,710.75	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$575.0		\$14,375.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
PNC2120194B109-04 Divisions 26 and 32: Irrigation	Power Wire			
Supplier		Qty/Unit	<b>Total Price</b>	Attch. Docs
Waypoint Contracting, Inc.	First Offer - \$3.03	1000 / linear foot	\$3,030.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$3.059	1000 / linear foot	\$3,059.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC.	First Offer - \$3.84	1000 / linear foot	\$3,840.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
FHP Tectonics Corp	First Offer - \$5.54	1000 / linear foot	\$5,540.00	Υ

	Broward County Board o County Commissioners	f	Ex Page 51 o	hibit 1 of 200	IC2120194B1
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$6.60	1000 / linear foot	\$6,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$8.50	1000 / linear foot	\$8,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$31.59		\$31,590.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B109-05 Divisions 26 and 32: Irrigation I	Power Wire				
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
West Construction, Inc. [Ad]	First Offer - \$3.703	1000 / linear foot	\$3,703.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$3.75	1000 / linear foot	\$3,750.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:  FHP Tectonics Corp	First Offer - \$6.02	<b>Supplier Notes:</b> 1000 / linear foot	\$6,020.00		Υ
Product Code:	1.131.0.101. 40102	Supplier Product Code:	+ 0/020.00		·
Agency Notes:  MBR CONSTRUCTION, INC.	First Offer - \$6.30	<b>Supplier Notes:</b> 1000 / linear foot	\$6,300.00		Υ
Product Code:	1.1131.01101. 40.000	Supplier Product Code:	4 0,000.00		·
Agency Notes:	First Offer - \$8.50	<b>Supplier Notes:</b> 1000 / linear foot	\$8,500.00		Υ
ENCO, LLC  Product Code:	11136 Offer - \$6.50		Ψ0,500.00		•
Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$10.20		\$10,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$39.78	1000 / linear foot	\$39,780.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B109-06 Divisions 26 and 32: Irrigation I	Power Wire				
Supplier		e Qty/Unit	Total Price	Attch.	Docs
West Construction, Inc. [Ad]	First Offer - \$4.7495	1000 / linear foot	\$4,749.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$4.87	1000 / linear foot	\$4,870.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$6.90		\$6,900.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:  FHP Tectonics Corp	First Offer - \$7.23	Supplier Notes: 1000 / linear foot	\$7,230.00		Υ
Product Code:		Supplier Product Code:	, , ,		-
Agency Notes:	First Offer - \$8.50	Supplier Notes: 1000 / linear foot	\$8,500.00		Υ
ENCO, LLC  Product Code:	rii St Oilet - \$8,50	Supplier Product Code:	₽O,⊃UU.UU		ī
Agency Notes:		Supplier Notes:			
1/2020	DidCyna				50

West Construction, Inc. [Ad]

**Product Code:** 

First Offer - \$575.00

10 / each

**Supplier Product Code:** 

\$5,750.00

Υ

Agency Notes: Supplier Notes:

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	NT First Offer - \$380.25	2 / each	\$760.50		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$635.25	2 / each	\$1,270.50		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$907.95	2 / each	\$1,815.90		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$1,200.00	2 / each	\$2,400.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$1,420.96	2 / each	\$2,841.92		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
ENCO, LLC 👔	First Offer - \$1,800.00	2 / each	\$3,600.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$6,325.00	2 / each	\$12,650.00		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			

## PNC2120194B1--09-10 Divisions 26 and 32: Irrigation Pump Station Disconnect

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$485.55	2 / each	\$971.10		Υ
Product Code:		Supplier Product Code	;		
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$840.95	2 / each	\$1,681.90		Υ
Product Code:		Supplier Product Code	;		
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$944.51	2 / each	\$1,889.02		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$1,200.00	2 / each	\$2,400.00		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$1,420.96	2 / each	\$2,841.92		Υ
Product Code:		Supplier Product Code	;		
Agency Notes:		Supplier Notes:			
ENCO, LLC 👔	First Offer - \$1,800.00	2 / each	\$3,600.00		Υ
Product Code:		<b>Supplier Product Code</b>	:		
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$6,325.00	2 / each	\$12,650.00		Υ
Product Code:		<b>Supplier Product Code</b>	;		
Agency Notes:		Supplier Notes:			

# PNC2120194B1--09-11 Divisions 26 and 32: Irrigation Pump Station Disconnect

Unit Price	Qty/Unit	Total Price	Attch.	Docs
	Unit Price	Unit Price Qty/Unit	Unit Price Qty/Unit Total Price	Unit Price Qty/Unit Total Price Attch.

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
West Construction, Inc. [Ad]	First Offer - \$138.00	50 / hour	\$6,90
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$136.50	50 / hour	\$6,82

**Supplier Product Code: Product Code: Agency Notes: Supplier Notes:** Waypoint Contracting, Inc. First Offer - \$201.09 50 / hour \$10,054.50

First Offer - \$189.60

50 / hour

Υ

\$9,480.00

Υ **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** ENCO, LLC 👔 First Offer - \$400.00 50 / hour \$20,000.00 Υ

**Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** 

#### PNC2120194B1--10-05 Division 31: Foliar Removal of Exotics Crew

Emerald Construction Corp. [Ad]

1 NCZ 120154D1=10-05 DIVISION 51. Polici Removal of Exotics	CICW					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs	
MBR CONSTRUCTION, INC.	First Offer - \$84.00	25 / hour	\$2,100.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
FHP Tectonics Corp	First Offer - \$96.80	25 / hour	\$2,420.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$136.50	25 / hour	\$3,412.50		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
West Construction, Inc. [Ad]	First Offer - \$138.00	25 / hour	\$3,450.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Emerald Construction Corp. [Ad]	First Offer - \$240.00	25 / hour	\$6,000.00		Υ	
Product Code:		<b>Supplier Product Code:</b>				

Exhibit 1 PAGE 57 of 200 PNC2120194B1

Agency Notes: Supplier Notes:

Waypoint Contracting, Inc. First Offer - \$243.74 25 / hour \$6,093.50 **Y** 

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

ENCO, LLC First Offer - \$400.00 25 / hour \$10,000.00 **Y** 

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

#### PNC2120194B1--10-06 Division 31: Stump Treatment

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$300.00	2 / acre	\$600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$440.00	2 / acre	\$880.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$1,200.00	2 / acre	\$2,400.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$1,218.72	2 / acre	\$2,437.44		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$3,045.00	2 / acre	\$6,090.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$3,600.00	2 / acre	\$7,200.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$6,900.00	2 / acre	\$13,800.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

# PNC2120194B1--10-07 Division 31: Basal Bark Removal of Exotics

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$240.00	2 / acre	\$480.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
ENCO, LLC	First Offer - \$1,200.00	2 / acre	\$2,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$1,320.00	2 / acre	\$2,640.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2,310.00	2/acre	\$4,620.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$3,000.00	2 / acre	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$3,046.81	2 / acre	\$6,093.62		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
	First Offer - \$7,820.00	2/acre	\$15,640.00		Υ





Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

## PNC2120194B1--10-08 Division 31: Removal of Exotics, Frill and Girdle

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$120.00	25 / hour	\$3,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$122.10	25 / hour	\$3,052.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$178.50	25 / hour	\$4,462.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$184.00	25 / hour	\$4,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$243.74	25 / hour	\$6,093.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$360.00	25 / hour	\$9,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$450.00	25 / hour	\$11,250.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

## PNC2120194B1--10-09 Division 31: Chipping with recycling

Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
First Offer - \$143.00	25 / hour	\$3,575.00		Υ
	<b>Supplier Product Code:</b>			
	Supplier Notes:			
First Offer - \$178.50	25 / hour	\$4,462.50		Υ
	<b>Supplier Product Code:</b>			
	Supplier Notes:			
First Offer - \$192.00	25 / hour	\$4,800.00		Υ
	<b>Supplier Product Code:</b>			
	Supplier Notes:			
First Offer - \$304.68	25 / hour	\$7,617.00		Υ
	<b>Supplier Product Code:</b>			
	Supplier Notes:			
First Offer - \$327.75	25 / hour	\$8,193.75		Υ
	<b>Supplier Product Code:</b>			
	Supplier Notes:			
First Offer - \$420.00	25 / hour	\$10,500.00		Y
	<b>Supplier Product Code:</b>			
	Supplier Notes:			
First Offer - \$450.00	25 / hour	\$11,250.00		Υ
	<b>Supplier Product Code:</b>			
	Supplier Notes:			
	First Offer - \$143.00  First Offer - \$178.50  First Offer - \$192.00  First Offer - \$304.68  First Offer - \$327.75  First Offer - \$420.00	Supplier Product Code: Supplier Notes:  First Offer - \$178.50 25 / hour Supplier Product Code: Supplier Notes:  First Offer - \$192.00 25 / hour Supplier Product Code: Supplier Notes:  First Offer - \$304.68 25 / hour Supplier Product Code: Supplier Notes:  First Offer - \$327.75 25 / hour Supplier Product Code: Supplier Notes:  First Offer - \$420.00 25 / hour Supplier Product Code: Supplier Notes:  First Offer - \$450.00 25 / hour Supplier Product Code: Supplier Product Code: Supplier Notes:	First Offer - \$143.00         25 / hour         \$3,575.00           Supplier Product Code: Supplier Notes:           First Offer - \$178.50         25 / hour         \$4,462.50           Supplier Product Code: Supplier Notes:           First Offer - \$192.00         25 / hour         \$4,800.00           Supplier Product Code: Supplier Notes:           First Offer - \$304.68         25 / hour         \$7,617.00           Supplier Product Code: Supplier Notes:           First Offer - \$420.00         25 / hour         \$8,193.75           Supplier Product Code: Supplier Notes:           First Offer - \$420.00         25 / hour         \$10,500.00           Supplier Product Code: Supplier Notes:           First Offer - \$450.00         25 / hour         \$11,250.00           Supplier Product Code: Supplier Product Code: Supplier Notes:	First Offer - \$143.00

## PNC2120194B1--10-10 Division 31: Chipping for stockpiling

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$126.00	25 / hour	\$3,150.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 🙀	First Offer - \$127.60	25 / hour	\$3,190.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$182.81	25 / hour	\$4,570.25		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$192.00	25 / hour	\$4,800.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$212.75	25 / hour	\$5,318.75		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$420.00	25 / hour	\$10,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$450.00	25 / hour	\$11,250.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

## PNC2120194B1--11-01 Division 32: Color-coated Chain Link Fence

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$26.40	1000 / linear foot	\$26,400.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$26.81	1000 / linear foot	\$26,810.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$29.04	1000 / linear foot	\$29,040.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$29.90	1000 / linear foot	\$29,900.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$31.20	1000 / linear foot	\$31,200.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
ENCO, LLC 👔	First Offer - \$45.00	1000 / linear foot	\$45,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$47.91	1000 / linear foot	\$47,910.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

## PNC2120194B1--11-02 Division 32: Color-coated Chain Link Fence

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$28.80	1000 / linear foot	\$28,800.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

	Broward County Board of County Commissioners		Ex Page 60	hibit 1 of 200 PNC2120194B1
West Construction, Inc. [Ad]	First Offer - \$34.50		\$34,500.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$35.34		\$35,340.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:	First Offer - \$36.00	<b>Supplier Notes:</b> 1000 / linear foot	¢26,000,00	Υ
MBR CONSTRUCTION, INC.	First Offer - \$30.00		\$36,000.00	ĭ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
FHP Tectonics Corp	First Offer - \$37.75	1000 / linear foot	\$37,750.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
ENCO, LLC 👔	First Offer - \$49.00	1000 / linear foot	\$49,000.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$52.07	1000 / linear foot	\$52,070.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2120194B111-03 Division 32: Color-coated Chain	Link Fence			
Supplier		Qty/Unit	Total Price	
Emerald Construction Corp. [Ad]	First Offer - \$34.20		\$34,200.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$42.66		\$42,660.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
FHP Tectonics Corp	First Offer - \$44.04	1000 / linear foot	\$44,040.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$46.00	1000 / linear foot	\$46,000.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$48.00	1000 / linear foot	\$48,000.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
ENCO, LLC 👔	First Offer - \$53.00	1000 / linear foot	\$53,000.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$56.32		\$56,320.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2120194B111-04 Division 32: Grounding of Chair	Link Fencing			
Supplier		rice Qty/Unit	Total Price	Attch. Docs
ENCO, LLC	First Offer - \$100		\$1,000.00	Υ
Product Code: Agency Notes:	F1 . 25	Supplier Product Code Supplier Notes:		
FHP Tectonics Corp	First Offer - \$102		\$1,028.50	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:		
Emerald Construction Corp. [Ad]	First Offer - \$114	.00 10 / each	\$1,140.00	Y

	County Commissioners		•	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
West Construction, Inc. [Ad]	First Offer - \$201.25	10 / each	\$2,012.50	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$204.75	10 / each	\$2,047.50	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
Waypoint Contracting, Inc.	First Offer - \$213.28	10 / each	\$2,132.80	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
MBR CONSTRUCTION, INC.	First Offer - \$1,500.00	10 / each	\$15,000.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	

#### PNC2120194B1--11-05 Division 32: Bottom Rail for Chain Link Fence

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp	First Offer - \$3.94	1000 / linear foot	\$3,940.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$4.20	1000 / linear foot	\$4,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$4.40	1000 / linear foot	\$4,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$4.80	1000 / linear foot	\$4,800.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$5.175	1000 / linear foot	\$5,175.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$5.27	1000 / linear foot	\$5,270.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$6.10	1000 / linear foot	\$6,100.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

## PNC2120194B1--11-06 Division 32: Remove and Dispose of Fencing

**Agency Notes:** 

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp	First Offer - \$3.33	1000 / linear foot	\$3,330.00		Y
Product Code: Agency Notes: ENCO, LLC	First Offer - \$3.60	Supplier Product Code: Supplier Notes: 1000 / linear foot	\$3,600.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$3.84	1000 / linear foot	\$3,840.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$3.90	1000 / linear foot	\$3,900.00		Υ
Product Code:		Supplier Product Code:			

**Supplier Notes:** 

	Broward County Board of County Commissioners	f	Ex Page 62	chibit 1 of 200 PNC2120194B1
Waypoint Contracting, Inc.  Product Code: Agency Notes:	First Offer - \$4.88	1000 / linear foot Supplier Product Code: Supplier Notes:	\$4,880.00	Υ
West Construction, Inc. [Ad]	First Offer - \$5.175	1000 / linear foot	\$5,175.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$5.27	1000 / linear foot	\$5,270.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2120194B111-07 Division 32: Remove and Dispo	_	On // Init	Tatal Drice	Attala Daga
Supplier ENCO, LLC 🍃	First Offer - \$4.80	• <b>Qty/Unit</b> 200 / linear foot	<b>Total Price</b> \$960.00	Attch. Docs Y
Product Code: Agency Notes:	7113COTTC1 \$4.00	Supplier Product Code: Supplier Notes:	4300.00	·
FHP Tectonics Corp	First Offer - \$4.84		\$968.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$4.88	200 / linear foot	\$976.00	Y
Product Code: Agency Notes:	5' . 0"	Supplier Product Code: Supplier Notes:	*4.000.00	
MBR CONSTRUCTION, INC.	First Offer - \$5.40		\$1,080.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$5.94	200 / linear foot <b>Supplier Product Code:</b>	\$1,188.00	Υ
Agency Notes:		Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$6.325	200 / linear foot	\$1,265.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes:	First Offer - \$6.44	200 / linear foot Supplier Product Code: Supplier Notes:	\$1,288.00	Y
PNC2120194B111-08 Division 32: Additional Line Pos	st with Caps			
Supplier		ce Qty/Unit	<b>Total Price</b>	
West Construction, Inc. [Ad]	First Offer - \$69.0		\$3,450.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC.	First Offer - \$72.0		\$3,600.00	Υ
Product Code: Agency Notes:	5 0%	Supplier Product Code: Supplier Notes:		
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$78.0	00 50 / each Supplier Product Code:	\$3,900.00	Υ
Agency Notes:		Supplier Notes:		
FHP Tectonics Corp 👔	First Offer - \$84.7	'0 50 / each	\$4,235.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$91.4		\$4,570.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
ENCO, LLC	First Offer - \$110.0	0 50 / each	\$5,500.00	Υ

Exhibit 1 PNC2120194B1 Page 63 of 200

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

H G CONSTRUCTION DEVELOPMENT & INVESTMENT First Offer - \$117.00 50 / each \$5,850.00 Y

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

#### PNC2120194B1--11-09 Division 32: Corner Post with Complete Double Brace

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
West Construction, Inc. [Ad]	First Offer - \$172.50	50 / each	\$8,625.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$174.00	50 / each	\$8,700.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$175.50	50 / each	\$8,775.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$180.00	50 / each	\$9,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$218.00	50 / each	\$10,900.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$229.90	50 / each	\$11,495.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$243.75	50 / each	\$12,187.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

## PNC2120194B1--11-10 Division 32: Additional Line Post with Caps

Treez 12013-451-11-10 Division 32. Additional Line 1 03t With	cups				
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$78.00	2 / each	\$156.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$92.00	2 / each	\$184.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$96.00	2 / each	\$192.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$96.80	2 / each	\$193.60		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$121.87	2 / each	\$243.74		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$143.00	2 / each	\$286.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$152.10	2 / each	\$304.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2120194B111-11 Division 32: Corner Post with Doubl	e Brace Assembly				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$174.00	4 / each	\$696.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$186.00	4 / each	\$744.00		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:	=1	Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$248.00	4 / each	\$992.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:	F: + 0.55 + 0.50 75	Supplier Notes:	*4.005.00		.,
West Construction, Inc. [Ad]	First Offer - \$258.75	4 / each	\$1,035.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:	F: + 0.55 + 0.50 0.5	Supplier Notes:	*4.050.00		.,
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$263.25	4 / each	\$1,053.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$272.25	4 / each	\$1,089.00		Υ
	1.1.50 0.1.0. 427 2.123		+ 1,005100		-
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$292.50	4 / each	\$1,170.00		Υ
Product Code:	1.1.50 0.1.61 4252.150	Supplier Product Code:	+ 1,17 0100		-
Agency Notes:		Supplier Notes:			
PNC2120194B111-12 Division 32: Single Gate, 4 x 6 ft.					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
MBR CONSTRUCTION, INC. 🔓	First Offer - \$420.00	10 / each	\$4,200.00		Υ
	11130 01101 4 120.00	107 60611	4-1,200.00		-
Product Code:	1 113c 3 11c 1 4 120.00		¥-1,200.00		•
Product Code: Agency Notes:	1113C OHC!	Supplier Product Code: Supplier Notes:	Ψ-1,200.00		
	First Offer - \$660.00	Supplier Product Code:	\$6,600.00		Y
Agency Notes: Emerald Construction Corp. [Ad] Product Code:		Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code:			
Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes:	First Offer - \$660.00	Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes:	\$6,600.00		Y
Agency Notes: Emerald Construction Corp. [Ad] Product Code:		Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes:			
Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC  Product Code:	First Offer - \$660.00	Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code:	\$6,600.00		Y
Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes:	First Offer - \$660.00 First Offer - \$750.00	Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes:	\$6,600.00 \$7,500.00		Y
Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC  Product Code:	First Offer - \$660.00	Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 10 / each	\$6,600.00		Y
Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC  Product Code: Agency Notes: FHP Tectonics Corp  Product Code:	First Offer - \$660.00 First Offer - \$750.00	Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code:	\$6,600.00 \$7,500.00		Y
Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC  Product Code: Agency Notes: FHP Tectonics Corp  Product Code: Agency Notes:	First Offer - \$660.00  First Offer - \$750.00  First Offer - \$804.65	Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Notes: 20 / each Supplier Product Code: Supplier Product Code: Supplier Notes:	\$6,600.00 \$7,500.00 \$8,046.50		Y Y Y
Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC  Product Code: Agency Notes: FHP Tectonics Corp  Product Code: Agency Notes: Waypoint Contracting, Inc.	First Offer - \$660.00 First Offer - \$750.00	Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Notes: 10 / each	\$6,600.00 \$7,500.00		Y
Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC  Product Code: Agency Notes: FHP Tectonics Corp  Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code:	First Offer - \$660.00  First Offer - \$750.00  First Offer - \$804.65	Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code:	\$6,600.00 \$7,500.00 \$8,046.50		Y Y Y
Agency Notes:  Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  ENCO, LLC  Product Code: Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:	First Offer - \$660.00  First Offer - \$750.00  First Offer - \$804.65  First Offer - \$853.11	Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Notes: 10 / each	\$6,600.00 \$7,500.00 \$8,046.50 \$8,531.10		Y Y Y
Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC  Product Code: Agency Notes: FHP Tectonics Corp  Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: West Construction, Inc. [Ad]	First Offer - \$660.00  First Offer - \$750.00  First Offer - \$804.65	Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each	\$6,600.00 \$7,500.00 \$8,046.50		Y Y Y
Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC  Product Code: Agency Notes: FHP Tectonics Corp  Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code:	First Offer - \$660.00  First Offer - \$750.00  First Offer - \$804.65  First Offer - \$853.11	Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code:	\$6,600.00 \$7,500.00 \$8,046.50 \$8,531.10		Y Y Y
Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes: FHP Tectonics Corp Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes:	First Offer - \$660.00  First Offer - \$750.00  First Offer - \$804.65  First Offer - \$853.11	Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each	\$6,600.00 \$7,500.00 \$8,046.50 \$8,531.10 \$9,775.00		Y Y Y
Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC  Product Code: Agency Notes: FHP Tectonics Corp  Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code:	First Offer - \$660.00  First Offer - \$750.00  First Offer - \$804.65  First Offer - \$853.11  First Offer - \$977.50	Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 10 / each Supplier Notes: 10 / each	\$6,600.00 \$7,500.00 \$8,046.50 \$8,531.10		Y Y Y Y
Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC  Product Code: Agency Notes: FHP Tectonics Corp  Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$660.00  First Offer - \$750.00  First Offer - \$804.65  First Offer - \$853.11  First Offer - \$977.50	Supplier Product Code: Supplier Notes: 10 / each	\$6,600.00 \$7,500.00 \$8,046.50 \$8,531.10 \$9,775.00		Y Y Y Y
Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC  Product Code: Agency Notes: FHP Tectonics Corp  Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code:	First Offer - \$660.00  First Offer - \$750.00  First Offer - \$804.65  First Offer - \$853.11  First Offer - \$977.50	Supplier Product Code: Supplier Notes: 10 / each Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes:	\$6,600.00 \$7,500.00 \$8,046.50 \$8,531.10 \$9,775.00		Y Y Y Y
Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC  Product Code: Agency Notes: FHP Tectonics Corp  Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code:	First Offer - \$660.00  First Offer - \$750.00  First Offer - \$804.65  First Offer - \$853.11  First Offer - \$977.50	Supplier Product Code: Supplier Notes: 10 / each Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes:	\$6,600.00 \$7,500.00 \$8,046.50 \$8,531.10 \$9,775.00		Y Y Y Y
Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC  Product Code: Agency Notes: FHP Tectonics Corp  Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes:	First Offer - \$660.00  First Offer - \$750.00  First Offer - \$804.65  First Offer - \$853.11  First Offer - \$977.50  First Offer - \$994.50	Supplier Product Code: Supplier Notes: 10 / each Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes:	\$6,600.00 \$7,500.00 \$8,046.50 \$8,531.10 \$9,775.00	Attch.	Y Y Y Y
Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC  Product Code: Agency Notes: FHP Tectonics Corp  Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes:	First Offer - \$660.00  First Offer - \$750.00  First Offer - \$804.65  First Offer - \$853.11  First Offer - \$977.50  First Offer - \$994.50	Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Product Code: Supplier Notes: 10 / each Supplier Notes:	\$6,600.00 \$7,500.00 \$8,046.50 \$8,531.10 \$9,775.00 \$9,945.00	Attch.	Y Y Y Y

	Broward County Board of			hibit 1	NC2120194B1
	County Commissioners		Page 65	of 200 F	NG2 120 1946 1
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$1,090.0	0 6 / each	\$6,540.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$1,154.3		\$6,926.04		Υ
Product Code: Agency Notes:	· ,	Supplier Product Code: Supplier Notes:	•		
Emerald Construction Corp. [Ad]	First Offer - \$1,320.0		\$7,920.00		Υ
Product Code:		Supplier Product Code:	•		-
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$1,322.5	0 6 / each	\$7,935.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$1,345.5	0 6 / each	\$8,073.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$1,462.4	7 6 / each	\$8,774.82		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-14 Division 32: Double Gate, 12 to 16	ft.				
Supplier		e Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp	First Offer - \$1,391.5	0 4 / each	\$5,566.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$1,441.0	0 4 / each	\$5,764.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$1,572.0	0 4 / each	\$6,288.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$1,740.0	0 4 / each	\$6,960.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$1,840.0	0 4 / each	\$7,360.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$1,872.0	0 4 / each	\$7,488.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$2,071.8		\$8,287.32		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-15 Division 32: Double Gate, 20 to 24	ft.				
Supplier	Unit Pric	e Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$1,800.0	0 1 / each	\$1,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$1,867.0	3 1 / each	\$1,867.03		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

	Broward County Board of County Commissioners		Ex Page 66	hibit 1 of 200 Pi	NC2120194B1
ENCO, LLC 🍹	First Offer - \$2,167.00	1 / each	\$2,167.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$2,346.00	1 / each	\$2,346.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$2,364.00	1 / each	\$2,364.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2,387.00	1 / each	\$2,387.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer \$2 FEO 22	Supplier Notes:	¢2 EEO 22		v
Waypoint Contracting, Inc.  Product Code: Agency Notes:	First Offer - \$2,559.32	Supplier Product Code: Supplier Notes:	\$2,559.32		Y
PNC2120194B111-16 Division 32: Single Gate, 4 x 8 ft.					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$432.00	3 / each	\$1,296.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$530.00	3 / each	\$1,590.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$562.65	3 / each	\$1,687.95		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$828.00		\$2,484.00		Υ
Product Code: Agency Notes:	Fi	Supplier Product Code: Supplier Notes:			v
West Construction, Inc. [Ad]	First Offer - \$1,035.00	3 / each	\$3,105.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code:	First Offer - \$1,054.00	3 / each <b>Supplier Product Code:</b>	\$3,162.00		Υ
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.  Product Code:	First Offer - \$1,096.85		\$3,290.55		Υ
Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-17 Division 32: Double Gate, 8 x 8 ft		Oh./Illmit	Takel D. J.	A++-1-	Des-
Supplier  ENCOLLE	Unit Price First Offer - \$790.00	<b>Qty/Unit</b> 1 / each	<b>Total Price</b> \$790.00	Attch.	Docs Y
ENCO, LLC	FII St OHEI - \$730.00				ı
Product Code: Agency Notes:	First Offer \$947.00	Supplier Product Code: Supplier Notes: 1 / each			Y
FHP Tectonics Corp	First Offer - \$847.00		\$847.00		ı
Product Code: Agency Notes:	First Office #050.00	Supplier Product Code: Supplier Notes:			V
MBR CONSTRUCTION, INC.	First Offer - \$858.00	1 / each	\$858.00		Υ
Product Code: Agency Notes:	F: 10% 1:055	Supplier Product Code: Supplier Notes:			v
Emerald Construction Corp. [Ad]	First Offer - \$1,266.00	1 / each	\$1,266.00		Υ

Υ

H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2,779.00	2 / each	\$5,558.00	Υ
Product Code:		<b>Supplier Product Code:</b>		
Agency Notes:		Supplier Notes:		

Waypoint Contracting, Inc.

First Offer - \$2,985.87 2 / each \$5,971.74

Product Code:

Supplier Product Code:

Agency Notes: Supplier Notes:

## PNC2120194B1--11-20 Division 32: Cantilevered Sliding Double Gate

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer -	\$3,540.00	1 / each	\$3,540.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer -	\$4,440.00	1 / each	\$4,440.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer -	\$4,600.42	1 / each	\$4,600.42		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer -	\$5,290.00	1 / each	\$5,290.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer -	\$5,412.00	1 / each	\$5,412.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer -	\$5,728.00	1 / each	\$5,728.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer -	\$5,756.40	1 / each	\$5,756.40		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			

# PNC2120194B1--11-21 Division 32: Cantilevered Sliding Double Gate

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	Offer - \$3,852.00	1 / each	\$3,852.00		Υ
Product Code: Agency Notes:	:	Supplier Product Code: Supplier Notes:	#4 OFO 1F		Υ
FHP Tectonics Corp First  Product Code: Agency Notes:		1 / each  Supplier Product Code: Supplier Notes:	\$4,858.15		T
Emerald Construction Corp. [Ad]  Product Code: Agency Notes:		1 / each Supplier Product Code: Supplier Notes:	\$5,520.00		Y
West Construction, Inc. [Ad]	•	1 / each	\$5,865.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
	Offer - \$5,874.00	1 / each	\$5,874.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT First  Product Code:  Agency Notes:		1 / each  Supplier Product Code: Supplier Notes:	\$6,262.60		Y
Waypoint Contracting, Inc. First  Product Code:	Offer - \$6,337.36	1 / each <b>Supplier Product Code:</b>	\$6,337.36		Υ

Docs Y

Υ

Υ

Υ

Υ

Υ

\$6,786.00

\$7,068.59

Agency Notes: Supplier Notes:

PNC2120194B111-22 Division 32: Cantilevered Sliding Dou	ıble Gate			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.
MBR CONSTRUCTION, INC.	First Offer - \$4,164.00	1 / each	\$4,164.00	

Product Code: Supplier Product Code:

Agency Notes:Supplier Notes:FHP Tectonics Corp First Offer - \$5,178.801 / each\$5,178.80

Product Code: Supplier Product Code:

Agency Notes:Supplier Notes:Emerald Construction Corp. [Ad]First Offer - \$5,400.001 / each\$5,400.00

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

West Construction, Inc. [Ad] First Offer - \$6,210.00 1 / each \$6,210.00 Y

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

ENCO, LLC | \$6,358.00 1 / each \$6,358.00 **Y** 

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

Waypoint Contracting, Inc. First Offer - \$6,581.10 1 / each \$6,581.10 **Y** 

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

H G CONSTRUCTION DEVELOPMENT & INVESTMENT First Offer - \$6,763.00 1 / each \$6,763.00

Product Code: Supplier Product Code:

Agency Notes: Supplier Notes:

#### PNC2120194B1--11-23 Division 32: Cantilevered Sliding Double Gate

Supplier	Unit	t Price	Qty/Unit	Total Price	Attch.	Docs	
Emerald Construction Corp. [Ad]	First Offer - \$3,6	500.00	1 / each	\$3,600.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
FHP Tectonics Corp 🙀	First Offer - \$4,6	583.91	1 / each	\$4,683.91		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
ENCO, LLC 🙀	First Offer - \$5,1	100.00	1 / each	\$5,100.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
MBR CONSTRUCTION, INC. $ ightharpoonup$	First Offer - \$5,9	904.00	1 / each	\$5,904.00		Y	
Product Code:			Supplier Product Code:				

Product Code: Supplier Product Code:

Agency Notes: Supplier Product Code.

Supplier Product Code.

Supplier Product Code.

West Construction, Inc. [Ad] First Offer - \$6,670.00 1 / each \$6,670.00

Product Code: Supplier Product Code:

Agency Notes: Supplier Notes:

H G CONSTRUCTION DEVELOPMENT & INVESTMENT

Product Code:

Agency Notes:

First Offer - \$6,786.00 1 / each

Supplier Product Code:

Supplier Notes:

Waypoint Contracting, Inc. First Offer - \$7,068.59 1 / each

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

#### PNC2120194B1--11-24 Division 32: Cantilevered Sliding Double Gate

Supplier Unit Price Qty/Unit Total Price Attch. Docs

	Broward County Board of County Commissioners		Ex Page 70	hibit 1 of 200 PNC2120194B1
ENCO, LLC 🍃	First Offer - \$4,600.00	1 / each	\$4,600.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
FHP Tectonics Corp	First Offer - \$5,173.96		\$5,173.96	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Emerald Construction Corp. [Ad]	First Offer - \$5,520.00	1 / each	\$5,520.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC. 👔	First Offer - \$6,408.00	1 / each	\$6,408.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$7,130.00	1 / each	\$7,130.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$7,254.00	1 / each	\$7,254.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$7,556.08		\$7,556.08	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2120194B111-25 Division 32: Cantilevered Sliding	-	O White	Takal Balan	Aud Dav
Supplier	First Offer - \$4,700.00	<b>Qty/Unit</b> 1 / each	<b>Total Price</b> \$4,700.00	Attch. Docs Y
Product Code:	First Offer - \$4,700.00	Supplier Product Code:	,	1
Agency Notes: Emerald Construction Corp. [Ad]	First Offer - \$4,920.00	Supplier Notes: 1 / each	\$4,920.00	Υ
Product Code: Agency Notes:	1113C OHCI \$4,320.00	Supplier Product Code: Supplier Notes:	•	•
FHP Tectonics Corp	First Offer - \$5,382.08		\$5,382.08	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC. 🔓	First Offer - \$6,936.00	1 / each	\$6,936.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$7,590.00	1 / each	\$7,590.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$7,722.00	1 / each	\$7,722.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$8,043.57	1 / each	\$8,043.57	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2120194B111-26 Division 32: Temporary Fence				
Supplier	Unit Price Q	-	Total Price	
Emerald Construction Corp. [Ad]  Product Code:		000 / linear foot	\$7,200.00	Υ
Agency Notes:		ipplier Product Code. ipplier Notes:		
MBR CONSTRUCTION, INC.		000 / linear foot	\$9,000.00	Υ

	Broward County Board of County Commissioners	f	Ex Page 71	hibit 1 of 200	NC2120194B1
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.  Product Code:	First Offer - \$3.48	3000 / linear foot  Supplier Product Code:	\$10,440.00		Y
Agency Notes:	First Offers &C OF	Supplier Notes:	¢10.150.00		V
FHP Tectonics Corp  Product Code:	First Offer - \$6.05	3000 / linear foot  Supplier Product Code:	\$18,150.00		Υ
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$6.90	3000 / linear foot	\$20,700.00		Υ
Product Code: Agency Notes:	First Office do 20	Supplier Product Code: Supplier Notes:	#20.000.00		V
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code:	First Offer - \$9.36	3000 / linear foot <b>Supplier Product Code:</b>	\$28,080.00		Υ
Agency Notes:		Supplier Notes:			
ENCO, LLC	First Offer - \$12.00	3000 / linear foot	\$36,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-27 Division 32: Steel Picket Fence					
Supplier		e Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp	First Offer - \$58.08		\$23,232.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$72.00		\$28,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$75.00	400 / linear foot	\$30,000.00		Υ
Product Code:		Supplier Product Code: Supplier Notes:			
Agency Notes:  West Construction, Inc. [Ad]	First Offer - \$86.25		\$34,500.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$87.75	<b>Supplier Notes:</b> 400 / linear foot	\$35,100.00		Υ
Product Code:		Supplier Product Code:	, , , , , , , , , , , , , , , , , , , ,		
Agency Notes:  MBR CONSTRUCTION, INC.	First Offer - \$90.00	<b>Supplier Notes:</b> 400 / linear foot	\$36,000.00		Υ
Product Code:	11130 01101 430.00	Supplier Product Code:	430,000.00		•
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.  Product Code:	First Offer - \$97.50	400 / linear foot  Supplier Product Code:	\$39,000.00		Υ
Agency Notes:		Supplier Notes:			
PNC2120194B111-28 Division 32: Steel Picket Fence S					
Supplier	<b>Unit Pr</b> First Offer - \$990.	r <b>ice Qty/Unit</b> .00 4 / each	Total Price	Attch.	Docs Y
ENCO, LLC  Product Code:	Filst Offer - \$990.		\$3,960.00		ĭ
Agency Notes:		Supplier Product Code: Supplier Notes:	•		
Emerald Construction Corp. [Ad]	First Offer - \$1,020.		\$4,080.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
FHP Tectonics Corp	First Offer - \$1,089.		\$4,356.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		

First Offer - \$9,300.00 2 / each

**Supplier Notes:** 

Υ

\$18,600.00

**Agency Notes:** 

ENCO, LLC 🔓

	Supplier Produc	t Code:	
	<b>Supplier Notes:</b>		
ffer - \$10,109.55	2 / each	\$20,219.10	Y
	Supplier Produc	t Code:	
	<b>Supplier Notes:</b>		
ffer - \$11,577.87	2 / each	\$23,155.74	Υ
	• •		
	ffer - \$10,109.55	Supplier Produc Supplier Notes: 2 / each Supplier Produc Supplier Notes: 2 / each Supplier Produc Supplier Produc	Supplier Product Code: Supplier Notes:  ffer - \$10,109.55 2 / each \$20,219.10  Supplier Product Code: Supplier Notes:

### PNC2120194B1--11-31 Division 32: Masonry Column

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC. 👔	First Offer - \$762.53	10 / each	\$7,625.30		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$960.00	10 / each	\$9,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
FHP Tectonics Corp	First Offer - \$1,650.00	10 / each	\$16,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
ENCO, LLC	First Offer - \$2,000.00	10 / each	\$20,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
West Construction, Inc. [Ad]	First Offer - \$2,070.00	10 / each	\$20,700.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2,691.00	10 / each	\$26,910.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	;		
Waypoint Contracting, Inc.	First Offer - \$3,168.68	10 / each	\$31,686.80		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		

#### PNC2120194B1--11-32 Division 32: Recycled Plastic Double Rail Fence

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp 👔	First Offer - \$13.20	100 / linear foot	\$1,320.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$18.00	100 / linear foot	\$1,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$74.50	100 / linear foot	\$7,450.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$74.75	100 / linear foot	\$7,475.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$76.05	100 / linear foot	\$7,605.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$78.00	100 / linear foot	\$7,800.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

Exhibit 1 PNC2120194B1

Waypoint Contracting, Inc. First Offer - \$85.32 100 / linear foot \$8,532.00 **Y** 

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

#### PNC2120194B1--11-33 Division 32: HDPE Four Rail Equine Fence

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$18.00	500 / linear foot	\$9,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$39.60	500 / linear foot	\$19,800.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$42.66	500 / linear foot	\$21,330.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$45.00	500 / linear foot	\$22,500.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$48.92	500 / linear foot	\$24,460.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$149.50	500 / linear foot	\$74,750.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$152.10	500 / linear foot	\$76,050.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

#### PNC2120194B1--11-34 Division 32: Tree Relocation 21 to 30 ft.

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC 👔	First Offer - \$420.00	3 / each	\$1,260.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$540.00	3 / each	\$1,620.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
FHP Tectonics Corp 👔	First Offer - \$962.50	3 / each	\$2,887.50		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Waypoint Contracting, Inc.	First Offer - \$2,193.70	3 / each	\$6,581.10		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2,625.00	3 / each	\$7,875.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
MBR CONSTRUCTION, INC.	First Offer - \$3,600.00	3 / each	\$10,800.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
West Construction, Inc. [Ad]	First Offer - \$4,485.00	3 / each	\$13,455.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

#### PNC2120194B1--11-35 Division 32: Tree Removal greater than 30 ft.

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC	First Offer - \$480.00	2 / each	\$960.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$660.00	2 / each	\$1,320.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$1,650.00	2 / each	\$3,300.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$1,725.00	2 / each	\$3,450.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2,520.00	2 / each	\$5,040.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$6,000.00	2 / each	\$12,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$6,093.61	2 / each	\$12,187.22		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

#### PNC2120194B1--11-36 Division 32: Palm Relocation less than 15 ft.

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp 👔	First Offer - \$143.00	3 / each	\$429.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$230.00	3 / each	\$690.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$240.00	3 / each	\$720.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$324.00	3 / each	\$972.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$365.62	3 / each	\$1,096.86		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$472.50	3 / each	\$1,417.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$840.00	3 / each	\$2,520.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

#### PNC2120194B1--11-37 Division 32: Palm Relocation 15 to 25 ft.

Supplier	Unit Price	Qty/Unit	Total Price Attch.	Docs
West Construction, Inc. [Ad]	First Offer - \$258.75	3 / each	\$776.25	Y
Product Code:		Supplier Produ	ict Code.	

	Broward County Board of County Commissioners		Ex Page 76	hibit 1 of 200	NC2120194B1
Agency Notes:		Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$300.00	3 / each	\$900.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$357.50	3 / each	\$1,072.50		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer #420.00	Supplier Notes:	£1 2C0 00		V
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$420.00	3 / each Supplier Product Code:	\$1,260.00		Υ
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$426.55	3 / each	\$1,279.65		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code:	First Offer - \$892.50	3 / each  Supplier Product Code:	\$2,677.50		Υ
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$1,020.00	3 / each	\$3,060.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
PNC2120194B111-38 Division 32: Palm Relocation 25	to 35 ft.				
Supplier		Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp 👔	First Offer - \$467.50	3 / each	\$1,402.50		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer - \$517.50	Supplier Notes:	¢1 EE2 E0		Υ
West Construction, Inc. [Ad]	FIISLOHEI - \$517.50		\$1,552.50		ĭ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$540.00	3 / each	\$1,620.00		Υ
Product Code:		Supplier Product Code:	• •		
Agency Notes:		Supplier Notes:			
ENCO, LLC 👔	First Offer - \$720.00	3 / each	\$2,160.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	F: . O.C	Supplier Notes:	+2.500.00		
MBR CONSTRUCTION, INC.	First Offer - \$1,200.00	3 / each	\$3,600.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes: Waypoint Contracting, Inc.	First Offer - \$1,462.47	Supplier Notes: 3 / each	\$4,387.41		Υ
Product Code:	11130 OHCI - \$1,402.47	Supplier Product Code:	•		•
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$1,470.00	3 / each	\$4,410.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
PNC2120194B111-39 Division 32: Palm Relocation gre	eater than 35 ft				
Supplier		Qty/Unit	Total Price	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$720.00	2 / each	\$1,440.00		Y
Dundrick Codes		Committee Durado at Carda	•		

#### ENCO, LLC 👔 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** First Offer - \$1,045.00 2 / each \$2,090.00 Υ

First Offer - \$720.00 2 / each

**Product Code: Agency Notes:**  Supplier Product Code:

\$1,440.00

Υ

**Supplier Notes:** 

	Broward County Board of County Commissioners		Ex Page 77 (	hibit 1 of 200 PNC2120194
FHP Tectonics Corp				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$1,092.50		\$2,185.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC. 🙀	First Offer - \$1,440.00	) 2 / each	\$2,880.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$1,995.00	) 2 / each	\$3,990.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$2,437.45		\$4,874.90	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2120194B111-40 Division 32: Landscaping Tre	es Price Group A			
Supplier	Unit Price	Qty/Unit	Total Price	Attch. Docs
Waypoint Contracting, Inc.	First Offer - \$12.63	350 / linear foot	\$4,420.50	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:	¢0.700.00	v
FHP Tectonics Corp	First Offer - \$25.14		\$8,799.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
ENCO, LLC	First Offer - \$28.50	350 / linear foot	\$9,975.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$31.05	350 / linear foot	\$10,867.50	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC.	First Offer - \$38.40	350 / linear foot	\$13,440.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$63.00	350 / linear foot	\$22,050.00	Υ
Product Code: Agency Notes:	5	Supplier Product Code: Supplier Notes:		
Emerald Construction Corp. [Ad]		350 / linear foot	\$32,550.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

## PNC2120194B1--11-41 Division 32: Landscaping Trees Price Group B

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$18.90	350 / linear foot	\$6,615.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$25.70	350 / linear foot	\$8,995.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$31.05	350 / linear foot	\$10,867.50		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$33.00	350 / linear foot	\$11,550.00		Y

	Broward County Board of County Commissioners		Ex Page 78 (	hibit 1 of 200	NC2120194B1	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
MBR CONSTRUCTION, INC.	First Offer - \$61.20		\$21,420.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes:	First Offer - \$63.00	350 / linear foot Supplier Product Code: Supplier Notes:	\$22,050.00		Υ	
Emerald Construction Corp. [Ad] Product Code: Agency Notes:	First Offer - \$184.80	350 / linear foot Supplier Product Code: Supplier Notes:	\$64,680.00		Y	
PNC2120194B111-42 Division 32: Landscaping Trees	s Price Group C					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs	
Waypoint Contracting, Inc.  Product Code:  Agency Notes:	First Offer - \$21.33	Supplier Product Code:	\$7,465.50		Υ	
Agency Notes:  FHP Tectonics Corp	First Offer - \$26.99	Supplier Notes: 350 / linear foot	\$9,446.50		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
West Construction, Inc. [Ad]	First Offer - \$33.35	350 / linear foot	\$11,672.50		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
MBR CONSTRUCTION, INC. $ig $	First Offer - \$49.20	350 / linear foot	\$17,220.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
ENCO, LLC 👔	First Offer - \$62.50		\$21,875.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$73.50	350 / linear foot	\$25,725.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Emerald Construction Corp. [Ad]	First Offer - \$256.80		\$89,880.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
PNC2120194B111-43 Division 32: Landscaping Trees	s Price Group D					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
FHP Tectonics Corp 👔	First Offer - \$30.72	350 / linear foot	\$10,752.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Waypoint Contracting, Inc.  Product Code:	First Offer - \$31.08	350 / linear foot <b>Supplier Product Code:</b>	\$10,878.00		Υ	
Agency Notes:		Supplier Notes:				
West Construction, Inc. [Ad]	First Offer - \$46.00		\$16,100.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
ENCO, LLC	First Offer - \$57.00		\$19,950.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
MBR CONSTRUCTION, INC. $ig $	First Offer - \$67.20	350 / linear foot	\$23,520.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
1/2020	DidCyno				n 70	

	Broward County Board of County Commissioners		Ex Page 79	hibit 1 of 200 PNC2120194	4B1
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$89.25	350 / linear foot	\$31,237.50	Y	
Product Code:		Supplier Product Code:	40.7207.00	•	
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$136.80	350 / linear foot	\$47,880.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
PNC2120194B111-44 Division 32: Landscaping Trees	Price Group E				
Supplier	•	Qty/Unit	Total Price	Attch. Docs	
Waypoint Contracting, Inc.	First Offer - \$12.19	350 / linear foot	\$4,266.50	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$40.96	350 / linear foot	\$14,336.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$46.00	350 / linear foot	\$16,100.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$72.00	350 / linear foot	\$25,200.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$80.00		\$28,000.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$115.50	350 / linear foot	\$40,425.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$140.40	350 / linear foot	\$49,140.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
PNC2120194B111-45 Division 32: Container Trees and	d Palms Price Group A				
Supplier	•	e Qty/Unit	Total Price	Attch. Docs	
Waypoint Contracting, Inc.	First Offer - \$42.66	6 / each	\$255.96	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$48.40	6 / each	\$290.40	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$51.75	6 / each	\$310.50	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$60.00		\$360.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
ENCO, LLC 👔	First Offer - \$74.00	6 / each	\$444.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$84.00	6 / each	\$504.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$180.00		\$1,080.00	Υ	
Product Code:		Supplier Product Code:			

Agency Notes: Supplier Notes:

PNC2120194B111-46	Division 32: Container Trees and Palms Price Group B
Supplier	Unit Pr

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$42.66	6 / each	\$255.96		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$51.75	6 / each	\$310.50		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$54.45	6 / each	\$326.70		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$60.00	6 / each	\$360.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$74.00	6 / each	\$444.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$94.50	6 / each	\$567.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$180.00	6 / each	\$1,080.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

#### PNC2120194B1--11-47 Division 32: Container Trees and Palms Price Group C

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp	First Offer - \$48.40	6 / each	\$290.40		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$56.35	6 / each	\$338.10		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$73.12	6 / each	\$438.72		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$84.00	6 / each	\$504.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$90.00	6 / each	\$540.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$94.50	6 / each	\$567.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$172.80	6 / each	\$1,036.80		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

#### PNC2120194B1--11-48 Division 32: Container Trees and Palms Price Group D

Supplier	Unit Price Qty/Unit	Total Price Attch.	Docs
----------	---------------------	--------------------	------

	Broward County Board of County Commissioners		Ex Page 81	thibit 1 of 200	NC2120194B1
Waypoint Contracting, Inc.	First Offer - \$73.12	6 / each	\$438.72		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$120.00	6 / each	\$720.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$120.00	6 / each	\$720.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$120.00	6 / each	\$720.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$181.50		\$1,089.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$228.50	6 / each	\$1,371.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$315.00	6 / each	\$1,890.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B1–11-49 Division 32: Shrubs Price Group	A				
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp	First Offer - \$11.69	150 / each	\$1,753.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$13.80	150 / each	\$2,070.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$14.40	150 / each	\$2,160.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$16.80	150 / each	\$2,520.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$30.00	150 / each	\$4,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.  Product Code:	First Offer - \$30.47	150 / each  Supplier Product Code:	\$4,570.50		Υ
Agency Notes: Emerald Construction Corp. [Ad]	First Offer - \$384.00	Supplier Notes: 150 / each	\$57,600.00		Υ
Product Code:	riist Ollei - \$304.00	Supplier Product Code:	\$37,000.00		1
Agency Notes:		Supplier Notes:			
PNC2120194B1–11-50 Division 32: Shrubs Price Group		0.41.*			
Supplier West Construction Inc. (Ad)	Unit Price First Offer - \$16.10	<b>Qty/Unit</b> 150 / each	<b>Total Price</b> \$2,415.00	Attch.	Docs Y
West Construction, Inc. [Ad]	1 11 St Ollet - \$10.10		4८,41J.UU		•
Product Code: Agency Notes:	First Offer - \$19.20	Supplier Product Code: Supplier Notes: 150 / each	\$2,880.00		Y
MBR CONSTRUCTION, INC.	Fil St Ollet - \$19.20	1307 Edill	<b>₽</b> ∠,00U.UU		•

	Broward County Board of County Commissioners		Exhibit 1 Page 82 of 200 PNC21201		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT <b>Product Code:</b>	First Offer - \$19.9	Supplier Product Code:	\$2,992.50		Υ
Agency Notes:  FHP Tectonics Corp	First Offer - \$33.3!	Supplier Notes: 5 150 / each	\$5,002.50		Υ
Product Code:	1 1136 3 1161 433.3	Supplier Product Code:			•
Agency Notes:		Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$40.00	0 150 / each	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$42.6		\$6,399.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$180.00		\$27,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-51 Division 32: Shrubs Price Group	С				
Supplier		e Qty/Unit	Total Price	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$29.40		\$4,410.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$42.00		\$6,300.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$50.00	150 / each	\$7,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$51.75		\$7,762.50		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$54.00		\$8,100.00		Υ
Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$55.00	150 / each	\$8,250.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$73.12	150 / each	\$10,968.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-52 Division 32: Provide Argentine B	ahia				
Supplier		Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$0.341	4000 / square foot	\$1,364.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$0.44	4000 / square foot	\$1,760.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$0.4485	4000 / square foot	\$1,794.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	•		

	Broward County Board o County Commissioners		Ext Page 83 c	nibit 1 of 200	NC2120194B1
MBR CONSTRUCTION, INC. 👔	First Offer - \$0.54	4000 / square foot	\$2,160.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$0.66	4000 / square foot	\$2,640.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$0.93	4000 / square foot	\$3,720.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$1.00		\$4,000.00		Υ
Product Code:		Supplier Product Code:	, ,,,,,,,,,,		-
Agency Notes:		Supplier Notes:			
PNC2120194B111-53 Division 32: Provide Pensacola	Bahia				
Supplier	Unit Price	``	Total Price	Attch.	Docs
Waypoint Contracting, Inc.  Product Code:	First Offer - \$0.43	2000 / square foot <b>Supplier Product Code:</b>	\$860.00		Υ
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$0.44		\$880.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$0.4485	2000 / square foot	\$897.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$0.54		\$1,080.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$0.72	2000 / square foot	\$1,440.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$0.93	2000 / square foot	\$1,860.00		Υ
Product Code: Agency Notes:	F" + Off	Supplier Product Code: Supplier Notes:	<b>#2.000.00</b>		v
ENCO, LLC	First Offer - \$1.00	2000 / square foot	\$2,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-54 Division 32: Provide St. August	ine Sod				
Supplier	Unit Price	<del>-</del>	Total Price	Attch.	Docs
West Construction, Inc. [Ad]	First Offer - \$0.437	2000 / square foot	\$874.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$0.49	2000 / square foot	\$980.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$0.63	2000 / square foot	\$1,260.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	,		
FHP Tectonics Corp 🙀	First Offer - \$0.66	2000 / square foot	\$1,320.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$0.66	2000 / square foot	\$1,320.00		Υ

	Broward County Board ( County Commissioners		Ex Page 84	hibit 1 of 200 Pi	NC2120194B1
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$1.00	2000 / square foot	\$2,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer - \$1.04	Supplier Notes:	¢2 090 00		Y
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code:	riist Ollei - \$1.04	2000 / square foot <b>Supplier Product Code:</b>	\$2,080.00		r
Agency Notes:		Supplier Notes:			
PNC2120194B111-55 Division 32: Provide Floratam S	od				
Supplier	Unit Price	• •	Total Price	Attch.	Docs
West Construction, Inc. [Ad]	First Offer - \$0.437	2000 / square foot	\$874.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$0.49	2000 / square foot	\$980.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$0.66	2000 / square foot	\$1,320.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$0.66	2000 / square foot	\$1,320.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$1.00	2000 / square foot	\$2,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$1.04	<b>Supplier Notes:</b> 2000 / square foot	\$2,080.00		Υ
Product Code:	1113t Offer - \$1.04	Supplier Product Code:	\$2,000.00		•
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$1.20	2000 / square foot	\$2,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-56 Division 32: Provide Bermuda G	rass Topsoil				
Supplier	-	e Qty/Unit	Total Price	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$7.8	,	\$390.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$35.0	0 50 / cubic yard	\$1,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$48.0	0 50 / cubic yard	\$2,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$52.5	0 50 / cubic yard	\$2,625.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$60.5	0 50 / cubic yard	\$3,025.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$60.9	,	\$3,047.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

Exhibit 1 PAGE 85 of 200 PNC2120194B1

Υ

\$3,737.50

West Construction, Inc. [Ad]

**Product Code:** 

**Agency Notes:** 

P

First Offer - \$74.75 50 / cubic yard

Supplier Product Code: Supplier Notes:

PNC2120194B1--11-57 Division 32: Provide Rolled Tifway 419 Bermuda Grass

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$0.71	3500 / square foot	\$2,485.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$0.78	3500 / square foot	\$2,730.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$0.91	3500 / square foot	\$3,185.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$0.92	3500 / square foot	\$3,220.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$1.16	3500 / square foot	\$4,060.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$1.50	3500 / square foot	\$5,250.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$9.00	3500 / square foot	\$31,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

#### PNC2120194B1--11-58 Division 32: Provide Tifway 419 Bermuda Grass

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$0.61	10 / each	\$6.10		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$0.85	10 / each	\$8.50		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$0.92	10 / each	\$9.20		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$8.40	10 / each	\$84.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
ENCO, LLC	First Offer - \$250.00	10 / each	\$2,500.00		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$525.00	10 / each	\$5,250.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$600.00	10 / each	\$6,000.00		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			

#### PNC2120194B1--11-59 Division 32: Provide Seeding

rivez 120194b1-11-59 bivision 52. Frovide Seeding					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp	First Offer - \$0.59	2000 / square yard	\$1,180.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$0.69	2000 / square yard	\$1,380.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$1.10	2000 / square yard	\$2,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$1.16	2000 / square yard	\$2,320.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$2.40	2000 / square yard	\$4,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$2.40	2000 / square yard	\$4,800.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$2.40	2000 / square yard	\$4,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

#### PNC2120194B1--11-60 Division 32: Fertilizer, Herbicides or Insecticides application

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$12.00	50 / hour	\$600.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$78.75	50 / hour	\$3,937.50		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$96.80	50 / hour	\$4,840.00		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$120.00	50 / hour	\$6,000.00		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$121.87	50 / hour	\$6,093.50		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$200.00	50 / hour	\$10,000.00		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$258.75	50 / hour	\$12,937.50		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			

#### PNC2120194B1--11-61 Division 32: Additional Watering after Final Completion

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC. 🙀	First Offer - \$0.55	1500 / kilogallon	\$825.00		Υ

Product Code: Supplier Product Code:

	Broward County Board of County Commissioners	f	Exh Page 87 o	nibit 1 f 200 PNC2120194B1
Agency Notes:	County Commissioners	Supplier Notes:		
ENCO, LLC	First Offer - \$0.60		\$900.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$36.56	1500 / kilogallon	\$54,840.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Emerald Construction Corp. [Ad]	First Offer - \$60.00	1500 / kilogallon	\$90,000.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
FHP Tectonics Corp	First Offer - \$79.20	1500 / kilogallon	\$118,800.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$105.00	1500 / kilogallon	\$157,500.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$115.00	1500 / kilogallon	\$172,500.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2120194B111-62 Division 32: Synthetic Grass Su	facing system			
Supplier		Qty/Unit	Total Price	Attch. Docs
West Construction, Inc. [Ad]	First Offer - \$13.225	4000 / square foot	\$52,900.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Emerald Construction Corp. [Ad]	First Offer - \$16.79	4000 / square foot	\$67,160.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
FHP Tectonics Corp	First Offer - \$17.09	4000 / square foot	\$68,360.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
ENCO, LLC 🔓	First Offer - \$17.40	4000 / square foot	\$69,600.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:	T 255	Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$18.18	4000 / square foot	\$72,720.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$18.94	4000 / square foot	\$75,760.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:	First Offer - \$18.95	<b>Supplier Notes:</b> 4000 / square foot	\$75,800.00	Υ
MBR CONSTRUCTION, INC.	riist Ollei - \$10.93		\$75,600.00	r
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2120194B111-63 Division 32: Synthetic Grass Sur	facing system			
Supplier		Qty/Unit	Total Price	
West Construction, Inc. [Ad]	First Offer - \$13.4435	•	\$15,460.025	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
FHP Tectonics Corp 👔	First Offer - \$17.38	1150 / square foot	\$19,987.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

	Broward County Board of County Commissioners	f	Exhi Page 88 of		20194B1
ENCO, LLC 🍯	First Offer - \$17.40	1150 / square foot	\$20,010.00	Υ	,
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$17.99	1150 / square foot	\$20,688.50	Υ	•
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes:	First Offer - \$18.49	1150 / square foot  Supplier Product Code:  Supplier Notes:	\$21,263.50	Y	•
Waypoint Contracting, Inc.	First Offer - \$19.24	1150 / square foot	\$22,126.00	Υ	•
Product Code:		Supplier Product Code:	. ,		
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$21.26	1150 / square foot	\$24,449.00	Y	,
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-64 Division 32: Synthetic Grass Su		a			
Supplier West Construction, Inc. [Ad]	Unit Price First Offer - \$13.9955	• <b>Qty/Unit</b> 1000 / square foot	<b>Total Price</b> \$13,995.50	Attch. Do	
West Construction, Inc. [Ad]  Product Code: Agency Notes:	11130 01101 413,3333	Supplier Product Code: Supplier Notes:	¥13,333.30		
ENCO, LLC	First Offer - \$18.00	1000 / square foot	\$18,000.00	Υ	,
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 🔓	First Offer - \$18.08	1000 / square foot	\$18,080.00	Υ	•
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$19.19	1000 / square foot	\$19,190.00	Y	•
Product Code: Agency Notes:	T	Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes:	First Oπer - \$19.31	1000 / square foot  Supplier Product Code:  Supplier Notes:	\$19,310.00	Y	
Waypoint Contracting, Inc.	First Offer - \$20.04		\$20,040.00	Υ	,
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$22.97	1000 / square foot	\$22,970.00	Y	,
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B1–11-65 Division 32: SBR Bonded Mulch		Ob. //Unit	Tatal Brian	Assah Da	
Supplier Emerald Construction Corp. [Ad]	First Offer - \$8.39	<b>Qty/Unit</b> 2000 / square foot	<b>Total Price</b> \$16,780.00	Attch. Do	
Product Code:	1 113t Offer - \$0.55	Supplier Product Code:	\$10,760.00	•	
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$10.258	2000 / square foot	\$20,516.00	Y	•
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$11.78	2000 / square foot	\$23,560.00	Y	•
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$12.00	2000 / square foot	\$24,000.00	Y	•

	Broward County Board or County Commissioners	f	Exh Page 89 o	nibit 1 of 200	IC2120194B1
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code:	First Offer - \$12.57	2000 / square foot  Supplier Product Code:	\$25,140.00		Y
Agency Notes:  MBR CONSTRUCTION, INC.	First Offer - \$17.65	Supplier Notes: 2000 / square foot	\$35,300.00		Y
Product Code:		Supplier Product Code:	+33/300.00		•
Agency Notes: Waypoint Contracting, Inc.	First Offer - \$17.93	<b>Supplier Notes:</b> 2000 / square foot	\$35,860.00		Υ
Product Code: Agency Notes:	1113001101 \$17.33	Supplier Product Code: Supplier Notes:	¥33,000.00		•
PNC2120194B111-66 Division 32: SBR Bonded Mulch	surface system				
Supplier		Qty/Unit	Total Price	Attch.	Docs
West Construction, Inc. [Ad]	First Offer - \$12.167	3000 / square foot	\$36,501.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$13.96	3000 / square foot	\$41,880.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$14.00	3000 / square foot	\$42,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code:	First Offer - \$14.88	3000 / square foot  Supplier Product Code:	\$44,640.00		Υ
Agency Notes:  MBR CONSTRUCTION, INC.	First Offer - \$17.32	<b>Supplier Notes:</b> 3000 / square foot	\$51,960.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$17.59	3000 / square foot	\$52,770.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$23.99	3000 / square foot	\$71,970.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-67 Division 32: EPDM surface syste	m				
Supplier		e Qty/Unit	Total Price	Attch.	Docs
West Construction, Inc. [Ad]	First Offer - \$11.6495	·	\$23,299.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$14.58	2000 / square foot	\$29,160.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$14.60	2000 / square foot	\$29,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$15.36	•	\$30,720.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$15.51		\$31,020.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
/2020	RidSync				n 90

	Broward County Board or County Commissioners	f	Exhi Page 90 of	DNICOTOTOTO
Waypoint Contracting, Inc.  Product Code: Agency Notes:	First Offer - \$15.60	2000 / square foot Supplier Product Code: Supplier Notes:	\$31,200.00	Y
Emerald Construction Corp. [Ad]	First Offer - \$22.80		\$45,600.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
PNC2120194B111-68 Division 32: EPDM surface syste	m			
Supplier		e Qty/Unit		Attch. Docs
West Construction, Inc. [Ad]	First Offer - \$14.8465	3000 / square foot	\$44,539.50	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
FHP Tectonics Corp	First Offer - \$15.24	3000 / square foot	\$45,720.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC. $\overline{\begin{tabular}{c} \end{tabular}}$	First Offer - \$15.49	3000 / square foot	\$46,470.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:  ENCO, LLC	First Offer - \$15.50	<b>Supplier Notes:</b> 3000 / square foot	\$46,500.00	Y
Product Code:		Supplier Product Code:	, .,	
Agency Notes:		Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$15.73	3000 / square foot	\$47,190.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$16.22		\$48,660.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	, .,,	
Emerald Construction Corp. [Ad]	First Offer - \$23.99		\$71,970.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2120194B111-69 Division 32: EPDM surface syste	m			
Supplier		Qty/Unit	Total Price	
West Construction, Inc. [Ad]	First Offer - \$17.618	1150 / square foot	\$20,260.70	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC.	First Offer - \$18.38	1150 / square foot	\$21,137.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$18.67	1150 / square foot	\$21,470.50	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
FHP Tectonics Corp	First Offer - \$23.28	1150 / square foot	\$26,772.00	Y
Product Code:		Supplier Product Code:	, .,	
Agency Notes:		Supplier Notes:		
Emerald Construction Corp. [Ad]	First Offer - \$23.99	1150 / square foot	\$27,588.50	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
ENCO, LLC	First Offer - \$24.00	1150 / square foot	\$27,600.00	Y
Product Code:		Supplier Product Code:	. ,	
Agency Notes:		Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$24.77	1150 / square foot	\$28,485.50	Y
Product Code:		Supplier Product Code:		

Agency Notes: Supplier Notes:

PNC2120194B111-70 Division 32: Synthetic Tennis Court Surfacing System								
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs			
MBR CONSTRUCTION, INC.	First Offer - \$1.20	2810 / square foot	\$3,372.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
FHP Tectonics Corp 🔓	First Offer - \$1.68	2810 / square foot	\$4,720.80		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$3.28	2810 / square foot	\$9,216.80		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Waypoint Contracting, Inc.	First Offer - \$4.88	2810 / square foot	\$13,712.80		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:	¢40.464.00		v			
ENCO, LLC	First Offer - \$14.40	2810 / square foot	\$40,464.00		Υ			
Product Code: Agency Notes:	:	Supplier Product Code: Supplier Notes:						
West Construction, Inc. [Ad]	First Offer - \$20.00	2810 / square foot	\$56,200.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Emerald Construction Corp. [Ad]	First Offer - \$22.79	2810 / square foot	\$64,039.90		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:	•	Supplier Notes:						
PNC2120194B111-71 Division 32: Lateral Pipe								
Supplier	Unit Price	e Qty/Unit	<b>Total Price</b>	Attch.	Docs			
Supplier West Construction, Inc. [Ad]	<b>Unit Price</b> First Offer - \$2.0125	<del>-</del>	<b>Total Price</b> \$1,006.25	Attch.	Docs Y			
		<del>-</del>		Attch.				
West Construction, Inc. [Ad]  Product Code:		500 / linear foot  Supplier Product Code: Supplier Notes:		Attch.				
West Construction, Inc. [Ad]  Product Code: Agency Notes:	First Offer - \$2.0125	500 / linear foot  Supplier Product Code: Supplier Notes:	\$1,006.25	Attch.	Y			
West Construction, Inc. [Ad]  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes:	First Offer - \$2.0125 First Offer - \$2.76	Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes:	\$1,006.25	Attch.	Y			
West Construction, Inc. [Ad]  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes:  Emerald Construction Corp. [Ad]	First Offer - \$2.0125	Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot	\$1,006.25	Attch.	Y			
West Construction, Inc. [Ad]  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes:  Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$2.0125 First Offer - \$2.76	Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code:	\$1,006.25 \$1,380.00	Attch.	Y			
West Construction, Inc. [Ad]  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes:  Emerald Construction Corp. [Ad]  Product Code: Agency Notes:	First Offer - \$2.0125 First Offer - \$2.76	Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes:	\$1,006.25 \$1,380.00 \$1,800.00	Attch.	Y			
West Construction, Inc. [Ad]  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes:  Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$2.0125  First Offer - \$2.76  First Offer - \$3.60	Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes:	\$1,006.25 \$1,380.00	Attch.	Y Y			
West Construction, Inc. [Ad]  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes:  Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:	First Offer - \$2.0125  First Offer - \$2.76  First Offer - \$3.60	Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot	\$1,006.25 \$1,380.00 \$1,800.00	Attch.	Y Y			
West Construction, Inc. [Ad]  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes:  Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code:	First Offer - \$2.0125  First Offer - \$2.76  First Offer - \$3.60  First Offer - \$3.66	Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Notes: 500 / linear foot Supplier Product Code:	\$1,006.25 \$1,380.00 \$1,800.00	Attch.	Y Y			
West Construction, Inc. [Ad]  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes:  Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:	First Offer - \$2.0125  First Offer - \$2.76  First Offer - \$3.60  First Offer - \$3.66	Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes:	\$1,006.25 \$1,380.00 \$1,800.00 \$1,830.00	Attch.	Y Y Y			
West Construction, Inc. [Ad]  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes:  Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:  FHP Tectonics Corp	First Offer - \$2.0125  First Offer - \$2.76  First Offer - \$3.60  First Offer - \$3.66	Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Notes: 500 / linear foot Supplier Notes: 500 / linear foot	\$1,006.25 \$1,380.00 \$1,800.00 \$1,830.00	Attch.	Y Y Y			
West Construction, Inc. [Ad]  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes:  Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code:	First Offer - \$2.0125  First Offer - \$2.76  First Offer - \$3.60  First Offer - \$3.66	Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Notes:	\$1,006.25 \$1,380.00 \$1,800.00 \$1,830.00 \$2,065.00	Attch.	Y Y Y Y			
West Construction, Inc. [Ad]  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes:  Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes:	First Offer - \$2.0125  First Offer - \$2.76  First Offer - \$3.60  First Offer - \$4.13  First Offer - \$5.51	Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code:	\$1,006.25 \$1,380.00 \$1,800.00 \$1,830.00 \$2,065.00 \$2,755.00	Attch.	Y Y Y Y			
West Construction, Inc. [Ad]  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes:  ENCO, LLC	First Offer - \$2.0125  First Offer - \$2.76  First Offer - \$3.60  First Offer - \$3.66	Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Notes: 500 / linear foot Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Notes: 500 / linear foot	\$1,006.25 \$1,380.00 \$1,800.00 \$1,830.00 \$2,065.00	Attch.	Y Y Y Y			
West Construction, Inc. [Ad]  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes:  ENCO, LLC  Product Code:	First Offer - \$2.0125  First Offer - \$2.76  First Offer - \$3.60  First Offer - \$4.13  First Offer - \$5.51	Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot	\$1,006.25 \$1,380.00 \$1,800.00 \$1,830.00 \$2,065.00 \$2,755.00	Attch.	Y Y Y Y			
West Construction, Inc. [Ad]  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes:  ENCO, LLC	First Offer - \$2.0125  First Offer - \$2.76  First Offer - \$3.60  First Offer - \$4.13  First Offer - \$5.51	Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Notes: 500 / linear foot Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Notes: 500 / linear foot	\$1,006.25 \$1,380.00 \$1,800.00 \$1,830.00 \$2,065.00 \$2,755.00	Attch.	Y Y Y Y			
West Construction, Inc. [Ad]  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes:  ENCO, LLC  Product Code: Agency Notes:	First Offer - \$2.0125  First Offer - \$2.76  First Offer - \$3.60  First Offer - \$4.13  First Offer - \$5.51	Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot	\$1,006.25 \$1,380.00 \$1,800.00 \$1,830.00 \$2,065.00 \$2,755.00	Attch.	Y Y Y Y			
West Construction, Inc. [Ad]  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes:  ENCO, LLC  Product Code:	First Offer - \$2.0125  First Offer - \$2.76  First Offer - \$3.60  First Offer - \$4.13  First Offer - \$5.51	Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Notes: 500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	\$1,006.25 \$1,380.00 \$1,800.00 \$1,830.00 \$2,065.00 \$2,755.00		Y Y Y Y			

	Broward County Board or County Commissioners	f	Ex Page 92	hibit 1 of 200 PNC21:	20194B1
West Construction, Inc. [Ad]	First Offer - \$2.30	500 / linear foot	\$1,150.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$3.60	500 / linear foot	\$1,800.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$3.66	500 / linear foot	\$1,830.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$4.82	500 / linear foot	\$2,410.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$5.40	500 / linear foot	\$2,700.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$6.06	500 / linear foot	\$3,030.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$7.20	500 / linear foot	\$3,600.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-73 Division 32: Lateral Pipe					
Supplier		e Qty/Unit	Total Price	Attch. Do	
West Construction, Inc. [Ad]	First Offer - \$2.5875	5 500 / linear foot	\$1,293.75	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$6.24		\$3,120.00	Υ	
Product Code:		Supplier Product Code: Supplier Notes:			
Agency Notes:  MBR CONSTRUCTION, INC.	First Offer - \$6.30		\$3,150.00	Υ	
	11136 01161 \$0.56		45,150.00	•	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$7.10	500 / linear foot	\$3,550.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$8.25	5 500 / linear foot	\$4,125.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$8.40	500 / linear foot	\$4,200.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$9.75	5 500 / linear foot	\$4,875.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B1–11-74 Division 32: Lateral Pipe					
Supplier		e Qty/Unit	Total Price	Attch. Do	
West Construction, Inc. [Ad]	First Offer - \$4.025		\$2,012.50	Y	
Product Code: Agency Notes:	<u>.</u>	Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$7.80	500 / linear foot	\$3,900.00	Y	

	Broward County Board of County Commissioners		Ex Page 93 (	hibit 1 of 200	NC2120194B1
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$9.38	500 / linear foot	\$4,690.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$9.60	500 / linear foot	\$4,800.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer - \$10.20	Supplier Notes:	\$5,100.00		Υ
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$10.20	Supplier Product Code:	\$3,100.00		ī
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$11.00	500 / linear foot	\$5,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$14.62	500 / linear foot	\$7,310.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-75 Division 32: Lateral Pipe					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
West Construction, Inc. [Ad]	First Offer - \$4.025	500 / linear foot	\$2,012.50		Υ
Product Code:		Supplier Product Code:			
Agency Notes:  MBR CONSTRUCTION, INC.	First Offer - \$6.00	<b>Supplier Notes:</b> 500 / linear foot	\$3,000.00		Υ
Product Code:		Supplier Product Code:	, 5,555.55		-
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$8.16		\$4,080.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$8.25	500 / linear foot	\$4,125.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
ENCO, LLC	First Offer - \$8.40	500 / linear foot	\$4,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$9.07	500 / linear foot	\$4,535.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$12.19	500 / linear foot	\$6,095.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-76 Division 32: Lateral Pipe					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
West Construction, Inc. [Ad]	First Offer - \$4.025	500 / linear foot	\$2,012.50		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Off #7.00	Supplier Notes:	¢2.000.00		V
MBR CONSTRUCTION, INC.	First Offer - \$7.80	500 / linear foot	\$3,900.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$9.60	500 / linear foot	\$4,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
· ·					

	Broward County Board of County Commissioners		Ex Page 94	hibit 1 of 200 Pl	NC2120194B1
Emerald Construction Corp. [Ad]	First Offer - \$10.80	500 / linear foot	\$5,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	, , , , , , , , , , , , , , , , , , , ,		
FHP Tectonics Corp	First Offer - \$11.00		\$5,500.00		Υ
	1113t Offer - \$11.00		Ψ3,300.00		•
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$11.66	500 / linear foot	\$5,830.00		Υ
Product Code:	11136 01161 411.00	Supplier Product Code:	45,050.00		•
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$19.50	500 / linear foot	\$9,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-77 Division 32: Main Line Pipe					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp 👔	First Offer - \$10.32	500 / linear foot	\$5,160.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$12.00		\$6,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer - \$13.20	<b>Supplier Notes:</b> 500 / linear foot	\$6,600.00		Υ
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$15.20	Supplier Product Code:	\$0,000.00		•
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$14.62		\$7,310.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$17.25	500 / linear foot	\$8,625.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$22.90		\$11,450.00		Υ
Product Code:		Supplier Product Code: Supplier Notes:			
Agency Notes:	First Offer - \$64.00		\$32,000.00		Υ
ENCO, LLC	1113t Offer - \$04.00		¥32,000.00		•
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-78 Division 32: Main Line Pipe					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$18.28	500 / linear foot	\$9,140.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$19.25	500 / linear foot	\$9,625.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$21.60	500 / linear foot	\$10,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$30.00	500 / linear foot	\$15,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	F . 0% . to . = -	Supplier Notes:	#47 OFC 55		v
West Construction, Inc. [Ad]	First Offer - \$34.50	500 / linear foot	\$17,250.00		Υ
Product Code:		Supplier Product Code:			

Exhibit 1

Exhibit 1 PAGE 96 of 200 PNC2120194B1

Υ

\$1,082.20

H G CONSTRUCTION DEVELOPMENT & INVESTMENT First Offer - \$773.80 20 / each \$15,476.00 Y

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

PNC2120194B111-81 Division 32: Electrical Wire Sleeving					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$3.60	20 / linear foot	\$72.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$4.28	20 / linear foot	\$85.60		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$6.00	20 / linear foot	\$120.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$12.00	20 / linear foot	\$240.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$12.19	20 / linear foot	\$243.80		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$34.50	20 / linear foot	\$690.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

First Offer - \$54.11 20 / linear foot

**Supplier Product Code:** 

**Supplier Notes:** 

# PNC2120194B1--11-82 Division 32: Pipe Sleeving

H G CONSTRUCTION DEVELOPMENT & INVESTMENT

**Product Code:** 

**Agency Notes:** 

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$2.11	20 / linear foot	\$42.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$5.40	20 / linear foot	\$108.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$7.20	20 / linear foot	\$144.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$11.50	20 / linear foot	\$230.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$18.00	20 / linear foot	\$360.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$18.28	20 / linear foot	\$365.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$54.06	20 / linear foot	\$1,081.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

	County Commiscioners				
PNC2120194B111-83 Division 32: Pipe Sleeving	Harte Baltan	0	T. ( -1 D. /	A I.	<b>5</b>
Supplier		Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC. $\overline{\begin{tabular}{c} \end{tabular}}$	First Offer - \$12.00		\$240.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer - \$14.40	Supplier Notes:	\$288.00		Υ
ENCO, LLC	11130 OHEI - \$14.40		Ψ200.00		•
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$15.11	20 / linear foot	\$302.20		Υ
	7.130 3.10. 4.13.11		4002.20		-
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$17.25	20 / linear foot	\$345.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$21.94	20 / linear foot	\$438.80		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$24.00		\$480.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$33.92		\$678.40		Υ
Product Code:	7113C 311C1	Supplier Product Code:	4070.10		-
Agency Notes:		Supplier Notes:			
PNC2120194B111-84 Division 32: Pipe Sleeving					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
ENCO, LLC 🙀	First Offer - \$18.00	20 / linear foot	\$360.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$18.98	20 / linear foot	\$379.60		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	E: +0.55 +0.4.50	Supplier Notes:	± 400 00		
MBR CONSTRUCTION, INC. $\overline{\begin{subarray}{c} \end{subarray}}$	First Offer - \$21.60	20 / linear foot	\$432.00		Y
Product Code:		Supplier Product Code:			
Agency Notes: Waypoint Contracting, Inc.	First Offer - \$30.47	Supplier Notes:	\$609.40		Υ
Product Code:	FIISCOITEI - \$50.47		\$009.40		ī
		Supplier Product Code:			
Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$38.16		\$763.20		Y
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code:	First Offer - \$38.16	Supplier Notes: 20 / linear foot Supplier Product Code:	\$763.20		Y
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes:		Supplier Notes: 20 / linear foot Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code:	First Offer - \$38.16 First Offer - \$46.00	Supplier Notes: 20 / linear foot Supplier Product Code:	\$763.20 \$920.00		Y
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes: West Construction, Inc. [Ad]  Product Code:		Supplier Notes: 20 / linear foot Supplier Product Code: Supplier Notes: 20 / linear foot Supplier Product Code:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes: West Construction, Inc. [Ad]  Product Code: Agency Notes:	First Offer - \$46.00	Supplier Notes: 20 / linear foot Supplier Product Code: Supplier Notes: 20 / linear foot Supplier Product Code: Supplier Notes:	\$920.00		Y
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes: West Construction, Inc. [Ad]  Product Code: Agency Notes: Emerald Construction Corp. [Ad]		Supplier Notes: 20 / linear foot Supplier Product Code: Supplier Notes: 20 / linear foot Supplier Product Code: Supplier Notes: 20 / linear foot			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes: West Construction, Inc. [Ad]  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$46.00	Supplier Notes: 20 / linear foot Supplier Product Code: Supplier Notes: 20 / linear foot Supplier Product Code: Supplier Notes: 20 / linear foot Supplier Notes:	\$920.00		Y
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes: West Construction, Inc. [Ad]  Product Code: Agency Notes: Emerald Construction Corp. [Ad]	First Offer - \$46.00	Supplier Notes: 20 / linear foot Supplier Product Code: Supplier Notes: 20 / linear foot Supplier Product Code: Supplier Notes: 20 / linear foot	\$920.00		Y
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes: West Construction, Inc. [Ad]  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$46.00	Supplier Notes: 20 / linear foot Supplier Product Code: Supplier Notes: 20 / linear foot Supplier Product Code: Supplier Notes: 20 / linear foot Supplier Notes:	\$920.00		Y
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes: West Construction, Inc. [Ad]  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code: Agency Notes:	First Offer - \$46.00 First Offer - \$54.00	Supplier Notes: 20 / linear foot Supplier Product Code: Supplier Notes: 20 / linear foot Supplier Product Code: Supplier Notes: 20 / linear foot Supplier Notes:	\$920.00	Attch.	Y
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes: West Construction, Inc. [Ad]  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  Emerald Construction Corp. [Ad]  Product Code: Agency Notes:	First Offer - \$46.00 First Offer - \$54.00	Supplier Notes: 20 / linear foot Supplier Product Code: Supplier Notes: 20 / linear foot Supplier Product Code: Supplier Notes: 20 / linear foot Supplier Notes: 20 / linear foot Supplier Product Code: Supplier Notes:	\$920.00 \$1,080.00	Attch.	Y
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes: West Construction, Inc. [Ad]  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  PNC2120194B111-85 Division 32: Pipe Sleeving Supplier	First Offer - \$46.00  First Offer - \$54.00  Unit Price	Supplier Notes: 20 / linear foot Supplier Product Code: Supplier Notes: 20 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 20 / linear foot Supplier Product Code: Supplier Notes:	\$920.00 \$1,080.00 Total Price	Attch.	Y Y Docs

	Broward County Board of County Commissioners		Ex Page 98	hibit 1 of 200	NC2120194B1
Agency Notes:	County Commissioners	Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$24.00	20 / linear foot	\$480.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 🔓	First Offer - \$33.43	20 / linear foot	\$668.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$36.56		\$731.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$41.34		\$826.80		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$66.00	20 / linear foot	\$1,320.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$69.00	20 / linear foot	\$1,380.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-86 Division 32: Pipe Sleeving					
Supplier		Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$30.00	20 / linear foot	\$600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$33.14	20 / linear foot	\$662.80		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$42.66		\$853.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$46.64		\$932.80		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$48.00	20 / linear foot	\$960.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$92.00	20 / linear foot	\$1,840.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$102.00	20 / linear foot	\$2,040.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-87 Division 32: Pipe Sleeving					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
MBR CONSTRUCTION, INC. 👔	First Offer - \$30.00	20 / linear foot	\$600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$48.20	20 / linear foot	\$964.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

	Broward County Board of		Ex Page 99 (	hibit 1 of 200 Pi	NC2120194B1
Waypoint Contracting, Inc.	County Commissioners First Offer - \$48.75	20 / linear foot	\$975.00		Υ
Product Code:	11130 OHCI \$40.73	Supplier Product Code:	Ψ373.00		•
Agency Notes:		Supplier Notes:			
ENCO, LLC 👔	First Offer - \$54.00	20 / linear foot	\$1,080.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$79.50	20 / linear foot	\$1,590.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$97.75	20 / linear foot	\$1,955.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$126.00	20 / linear foot	\$2,520.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-88 Division 32: Lake source suction	lino				
Supplier Supplier	_	Qty/Unit	Total Price	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$31.94	100 / linear foot	\$3,194.00	Accen.	Y
Product Code:		Supplier Product Code:	, , , , , , , , , ,		-
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC. 🙀	First Offer - \$32.70	100 / linear foot	\$3,270.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$33.21	100 / linear foot	\$3,321.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$37.50	100 / linear foot	\$3,750.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer \$65.00	<b>Supplier Notes:</b> 100 / linear foot	¢6 E00 00		v
ENCO, LLC	First Offer - \$65.00		\$6,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$86.14	100 / linear foot	\$8,614.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$7,475.00	100 / linear foot	\$747,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-89 Division 32: Swing check valve					
Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp	First Offer - \$753.5	0 5 / each	\$3,767.50		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
ENCO, LLC	First Offer - \$867.0	0 5 / each	\$4,335.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
West Construction, Inc. [Ad]	First Offer - \$920.0	0 5 / each	\$4,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$921.9	5 / each	\$4,609.80		Υ

	Broward County Board of County Commissioners		Exl Page 100 d	hibit 1 of 200 PNC2120194B1
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC.	First Offer - \$945.60		\$4,728.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Waypoint Contracting, Inc.  Product Code:	First Offer - \$960.35		\$4,801.75	Υ
Agency Notes:		Supplier Product Code: Supplier Notes:		
Emerald Construction Corp. [Ad]	First Offer - \$1,080.00		\$5,400.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2120194B111-90 Division 32: Lake source suction	ı line			
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch. Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT		100 / linear foot	\$4,317.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC.	First Offer - \$44.28	100 / linear foot	\$4,428.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$44.97	100 / linear foot	\$4,497.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
ENCO, LLC		100 / linear foot	\$8,000.00	Y
Product Code:	9	Supplier Product Code:		
Agency Notes:		Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$97.75	100 / linear foot	\$9,775.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:  FHP Tectonics Corp		<b>Supplier Notes:</b> 100 / linear foot	\$10,556.00	Y
Product Code:		Supplier Product Code:	, .,	
Agency Notes:		Supplier Notes:		
Emerald Construction Corp. [Ad]		100 / linear foot	\$13,200.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2120194B111-91 Division 32: Swing check valve				_
Supplier	<b>Unit Price</b> First Offer - \$908.88	e <b>Qty/Unit</b> 5 / each	<b>Total Price</b> \$4,544.40	Attch. Docs
FHP Tectonics Corp  Product Code:	FIISt Offer - \$300.00		\$ <del>4,344.40</del>	1
Agency Notes:		Supplier Product Code: Supplier Notes:		
ENCO, LLC	First Offer - \$1,007.00	5 / each	\$5,035.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$1,070.55		\$5,352.75	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC.	First Offer - \$1,098.00		\$5,490.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$1,115.13		\$5,575.65	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

County Commissioners

West Construction, Inc. [Ad]

**Product Code:** 

First Offer - \$1,150.00 5 / each

**Supplier Product Code: Supplier Notes:** 

5 / each

**Agency Notes:** Emerald Construction Corp. [Ad]

First Offer - \$1,800.00

\$9,000.00

\$5,750.00

Υ

Υ

**Product Code: Agency Notes:**  **Supplier Product Code: Supplier Notes:** 

#### PNC2120194B1--11-92 Division 32: Lake source suction line

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$69.73	100 / linear foot	\$6,973.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. 🙀	First Offer - \$71.52	100 / linear foot	\$7,152.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$72.64	100 / linear foot	\$7,264.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$103.00	100 / linear foot	\$10,300.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$135.72	100 / linear foot	\$13,572.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$138.00	100 / linear foot	\$13,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$600.00	100 / linear foot	\$60,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

### PNC2120194B1--11-93 Division 32: Swing check valve

PINC21201946111-95 DIVISION 32. SWING CHECK VAIVE						
Supplier		<b>Unit Price</b>	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer -	\$1,140.00	5 / each	\$5,700.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer -	\$1,380.50	5 / each	\$6,902.50		Υ
Product Code: Agency Notes:	TI		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer -	\$1,416.00	5 / each	\$7,080.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer -	\$1,505.79	5 / each	\$7,528.95		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer -	\$1,544.28	5 / each	\$7,721.40		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer -	\$1,568.50	5 / each	\$7,842.50		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer -	\$4,427.50	5 / each	\$22,137.50		Υ

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

PNC2120194B111-94 Division 32: Well source suction Supplier	_	Qty/Unit	Total Price	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$81.08	100 / linear foot	\$8,108.00	Accer.	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	, ,,,,,,,,,		
MBR CONSTRUCTION, INC.	First Offer - \$83.16	100 / linear foot	\$8,316.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$84.46	100 / linear foot	\$8,446.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$194.00	100 / linear foot	\$19,400.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$243.38	100 / linear foot	\$24,338.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$345.00	100 / linear foot	\$34,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$540.00	100 / linear foot	\$54,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
DNC2120104P1 11 0F Division 22: Swing Charle systion					
PINCE 120 1946 1 1 1-95 DIVISION 32. SWING CHECK SUCTION	ı line				
PNC2120194B111-95 Division 32: Swing Check suction Supplier	Unit Pri	ce Qty/Unit	Total Price	Attch.	Docs
_		8 5 / each	\$3,224.40	Attch.	Docs Y
Supplier	<b>Unit Pri</b> e First Offer - \$644.8	8 5 / each  Supplier Product Code: Supplier Notes:	\$3,224.40 :	Attch.	
Supplier  FHP Tectonics Corp  Product Code: Agency Notes:  Emerald Construction Corp. [Ad]	Unit Pri	<ul><li>8 5 / each</li><li>Supplier Product Code:</li><li>Supplier Notes:</li><li>0 5 / each</li></ul>	\$3,224.40 : : \$3,900.00	Attch.	
Supplier  FHP Tectonics Corp  Product Code:  Agency Notes:  Emerald Construction Corp. [Ad]  Product Code:	<b>Unit Pri</b> e First Offer - \$644.8	<ul> <li>8 5 / each</li> <li>Supplier Product Code:</li> <li>Supplier Notes:</li> <li>0 5 / each</li> <li>Supplier Product Code:</li> </ul>	\$3,224.40 : : \$3,900.00	Attch.	Y
Supplier  FHP Tectonics Corp  Product Code: Agency Notes:  Emerald Construction Corp. [Ad]  Product Code: Agency Notes:	<b>Unit Pri</b> e First Offer - \$644.8	Supplier Product Code: Supplier Notes:  5 / each Supplier Product Code: Supplier Notes:	\$3,224.40 : : \$3,900.00	Attch.	Y
Supplier  FHP Tectonics Corp  Product Code:  Agency Notes:  Emerald Construction Corp. [Ad]  Product Code:	<b>Unit Pri</b> e First Offer - \$644.8 First Offer - \$780.0	Supplier Product Code: Supplier Notes:  5 / each Supplier Product Code: Supplier Notes:	\$3,224.40 \$3,900.00 \$4,685.00	Attch.	Y
Supplier  FHP Tectonics Corp  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code: Agency Notes: ENCO, LLC  Product Code:	<b>Unit Pri</b> e First Offer - \$644.8 First Offer - \$780.0	Supplier Product Code: Supplier Notes:  5 / each Supplier Product Code: Supplier Notes:  5 / each Supplier Product Code: Supplier Notes:	\$3,224.40 \$3,900.00 \$4,685.00	Attch.	Y
Supplier  FHP Tectonics Corp  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  ENCO, LLC  Product Code: Agency Notes:	Unit Prie First Offer - \$644.8 First Offer - \$780.0 First Offer - \$937.0	Supplier Product Code: Supplier Notes:  5 / each Supplier Product Code: Supplier Notes:  5 / each Supplier Product Code: Supplier Notes:	\$3,224.40 \$3,900.00 \$4,685.00 \$4,985.95	Attch.	Y Y Y
Supplier  FHP Tectonics Corp  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code: Agency Notes: ENCO, LLC  Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code:	Unit Prie First Offer - \$644.8 First Offer - \$780.0 First Offer - \$937.0	Supplier Product Code: Supplier Notes:  5 / each Supplier Product Code: Supplier Product Code: Supplier Notes:  5 / each Supplier Product Code: Supplier Notes:  5 / each Supplier Product Code: Supplier Notes:	\$3,224.40 \$3,900.00 \$4,685.00 \$4,985.95	Attch.	Y Y Y
Supplier  FHP Tectonics Corp  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code: Agency Notes: ENCO, LLC  Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes:	Unit Prie First Offer - \$644.8 First Offer - \$780.0 First Offer - \$937.0 First Offer - \$997.1	Supplier Product Code: Supplier Notes:  5 / each Supplier Product Code: Supplier Product Code: Supplier Notes:  5 / each Supplier Product Code: Supplier Notes:  5 / each Supplier Product Code: Supplier Notes:	\$3,224.40 \$3,900.00 \$4,685.00 \$4,985.95 \$5,113.80	Attch.	Y Y Y
Supplier  FHP Tectonics Corp  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code: Agency Notes: ENCO, LLC  Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes: MBR CONSTRUCTION, INC.  Product Code:	Unit Prie First Offer - \$644.8 First Offer - \$780.0 First Offer - \$937.0 First Offer - \$997.1	Supplier Product Code: Supplier Notes:  5 / each Supplier Notes:  5 / each Supplier Product Code: Supplier Notes:	\$3,224.40 \$3,900.00 \$4,685.00 \$4,985.95 \$5,113.80 \$5,113.60	Attch.	Y Y Y
Supplier  FHP Tectonics Corp  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code: Agency Notes: ENCO, LLC  Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes: MBR CONSTRUCTION, INC.  Product Code: Agency Notes:	Unit Prie First Offer - \$644.8 First Offer - \$780.0 First Offer - \$937.0 First Offer - \$997.1	Supplier Product Code: Supplier Notes:  5 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:  5 / each Supplier Product Code: Supplier Notes:  5 / each Supplier Product Code: Supplier Notes:	\$3,224.40 \$3,900.00 \$4,685.00 \$4,985.95 \$5,113.80 \$5,113.60	Attch.	Y Y Y
Supplier  FHP Tectonics Corp  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code: Agency Notes: ENCO, LLC  Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes: MBR CONSTRUCTION, INC.  Product Code: Agency Notes: MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Waypoint Contracting, Inc.  Product Code:	Unit Prie First Offer - \$644.8 First Offer - \$780.0 First Offer - \$937.0 First Offer - \$997.1	Supplier Product Code: Supplier Notes:  5 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:  5 / each Supplier Product Code: Supplier Notes:  5 / each Supplier Product Code: Supplier Notes:  5 / each Supplier Product Code: Supplier Product Code: Supplier Notes:	\$3,224.40 \$3,900.00 \$4,685.00 \$4,985.95 \$5,113.80 \$5,113.60	Attch.	Y Y Y

#### PNC2120194B1--11-96 Division 32: Well source suction line

**Agency Notes:** 

**Supplier Notes:** 

Exhibit 1

	Broward County Board of County Commissioners		Ex Page 104	hibit 1 of 200 Pi	NC2120194B1
H G CONSTRUCTION DEVELOPMENT & INVESTMENT <b>Product Code:</b>	First Offer - \$208.61	100 / linear foot <b>Supplier Product Code:</b>	\$20,861.00		Y
Agency Notes:	First Offer - \$213.96	Supplier Notes:	¢21 206 00		Υ
MBR CONSTRUCTION, INC.	First Offer - \$213.96		\$21,396.00		Ĭ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$217.30		\$21,730.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes: ENCO, LLC	First Offer - \$420.00	<b>Supplier Notes:</b> 100 / linear foot	\$42,000.00		Υ
Product Code:		Supplier Product Code:	,,,		
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$525.25	100 / linear foot	\$52,525.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$600.00		\$60,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-99 Division 32: Swing check suction	line				
Supplier		ce Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp	First Offer - \$1,031.2		\$5,156.25		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:		
ENCO, LLC	First Offer - \$1,060.0		\$5,300.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	<b>::</b>		
West Construction, Inc. [Ad]	First Offer - \$1,104.0		\$5,520.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	<b>::</b>		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$1,128.2	23 5 / each	\$5,641.15		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:			
MBR CONSTRUCTION, INC. $oxed{oxedge}$	First Offer - \$1,157.1	16 5 / each	\$5,785.80		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	<b>:</b> :		
Waypoint Contracting, Inc.	First Offer - \$1,175.2		\$5,876.05		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	<b>:</b>		
Emerald Construction Corp. [Ad]	First Offer - \$1,200.0		\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
PNC2120194B1–11-100 Division 32: Well Drilling and Ca	_				
Supplier Waynoint Contracting Inc.	<b>Unit Price</b> First Offer - \$81.65	<b>Qty/Unit</b> 100 / linear foot	<b>Total Price</b> \$8,165.00	Attch.	Docs Y
Waypoint Contracting, Inc.  Product Code:	1113101161 - \$01.03	Supplier Product Code:	ΨO, 103.00		•
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$90.75	100 / linear foot	\$9,075.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$99.45	<b>Supplier Notes:</b> 100 / linear foot	\$9,945.00		Υ
Product Code:		Supplier Product Code:	,		

	Broward County Board of County Commissioners		Ex Page 105	hibit 1 of 200	NC2120194B1
Agency Notes:		Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$100.00	100 / linear foot	\$10,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$102.00	100 / linear foot	\$10,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$138.00	100 / linear foot	\$13,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$420.00	100 / linear foot	\$42,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B1–11-101 Division 32: Centrifugal Pum	p System				
Supplier		ce Qty/Unit	<b>Total Price</b>	Attch.	Docs
ENCO, LLC 👔	First Offer - \$18,100.	00 2 / each	\$36,200.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
FHP Tectonics Corp 👔	First Offer - \$18,119.	75 2 / each	\$36,239.50		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
West Construction, Inc. [Ad]	First Offer - \$18,400.	00 2 / each	\$36,800.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Emerald Construction Corp. [Ad]	First Offer - \$19,200.	00 2 / each	\$38,400.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$19,252.		\$38,504.70		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$19,708.	02 2 / each	\$39,416.04		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$20,054.		\$40,108.16		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
PNC2120194B111-102 Division 32: Centrifugal Pum	• •			•	_
Supplier		ce Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp	First Offer - \$16,718.		\$33,437.26		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$16,800.		\$33,600.00		Υ
Product Code: Agency Notes:	5 0%	Supplier Product Cod Supplier Notes:			v
West Construction, Inc. [Ad]	First Offer - \$17,250.	00 2 / each	\$34,500.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:			
ENCO, LLC 👔	First Offer - \$17,295.0	00 2 / each	\$34,590.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		

	Broward County Board of County Commissioners		Exi Page 106 d	nibit 1 of 200	NC2120194B1
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$18,395.91	2 / each	\$36,791.82		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:	E: + O((	Supplier Notes:	t07.744.04		v
MBR CONSTRUCTION, INC.	First Offer - \$18,855.97		\$37,711.94		Υ
Product Code:		Supplier Product Code: Supplier Notes:	:		
Agency Notes: Waypoint Contracting, Inc.	First Offer - \$19,161.98		\$38,323.96		Υ
Product Code:	11130 Office \$15,101.50	Supplier Product Code:			•
Agency Notes:		Supplier Notes:			
PNC2120194B111-103 Division 32: Centrifugal Pump	System				
Supplier	-	Qty/Unit	Total Price	Attch.	Docs
West Construction, Inc. [Ad]	First Offer - \$17,250.00	-	\$34,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
ENCO, LLC	First Offer - \$17,686.00		\$35,372.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
FHP Tectonics Corp	First Offer - \$17,931.38		\$35,862.76		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$18,000.00	2 / each	\$36,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	•		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$18,812.43		\$37,624.86		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$19,270.36	2 / each	\$38,540.72		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$19,595.84		\$39,191.68		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	•		
PNC2120194B111-104 Division 32: Centrifugal Pump	-				
Supplier		Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp	First Offer - \$18,689.76	1 / each	\$18,689.76		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
West Construction, Inc. [Ad]	First Offer - \$20,125.00	1 / each	\$20,125.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
ENCO, LLC 👔	First Offer - \$22,291.00	1 / each	\$22,291.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$23,710.05		\$23,710.05		Υ
Product Code:		Supplier Product Code:	•		
Agency Notes:  MRR CONSTRUCTION INC	First Offer - \$24,142.86	Supplier Notes: 1 / each	\$24,142.86		Υ
MBR CONSTRUCTION, INC.	11150 OHCI 424,142.00		•		•
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	•		
Waypoint Contracting, Inc.	First Offer - \$24,697.42		\$24,697.42		Υ

Exhibit 1 Page 107 of 200 PNC2120194B1

Product Code: Supplier Product Code:

Agency Notes: Supplier Notes:

Emerald Construction Corp. **[Ad]** First Offer - \$27,600.00 1 / each \$27,600.00 **Y** 

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

### PNC2120194B1--11-105 Division 32: Centrifugal Pump System

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp	First Offer - \$21,893.44	1 / each	\$21,893.44		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
ENCO, LLC	First Offer - \$27,110.00	1 / each	\$27,110.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$28,835.82	1 / each	\$28,835.82		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
MBR CONSTRUCTION, INC.	First Offer - \$29,216.74	1 / each	\$29,216.74		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Waypoint Contracting, Inc.	First Offer - \$30,036.64	1 / each	\$30,036.64		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$33,600.00	1 / each	\$33,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
West Construction, Inc. [Ad]	First Offer - \$46,000.00	1 / each	\$46,000.00		Υ
Product Code:		Supplier Product Code	:		

**Supplier Notes:** 

#### PNC2120194B1--11-106 Division 32: Centrifugal Pump System

**Agency Notes:** 

Supplier		Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
West Construction, Inc. [Ad]	First Offer -	\$23,000.00	1 / each	\$23,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	<b>e:</b>		
FHP Tectonics Corp 👔	First Offer -	\$29,074.93	1 / each	\$29,074.93		Y
Product Code: Agency Notes:	E: + 0.55	+00 740 00	Supplier Product Code Supplier Notes:			.,
ENCO, LLC	First Offer -	\$29,743.00	1 / each	\$29,743.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	2:		
Emerald Construction Corp. [Ad]	First Offer -	\$31,200.00	1 / each	\$31,200.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	<b>::</b>		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer -	\$31,635.63	1 / each	\$31,635.63		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	<b>:</b> :		
MBR CONSTRUCTION, INC.	First Offer -	\$32,027.80	1 / each	\$32,027.80		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	<b>e:</b>		
Waypoint Contracting, Inc.	First Offer -	\$32,953.05	1 / each	\$32,953.05		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	<b>:</b> :		

PNC2120194B111-107 Division 32: Lake Refill					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
West Construction, Inc. [Ad]	First Offer - \$14,375.00	1 / each	\$14,375.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
FHP Tectonics Corp 🔓	First Offer - \$21,811.63	1 / each	\$21,811.63		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$24,000.00	1 / each	\$24,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
ENCO, LLC 👔	First Offer - \$25,911.00	1 / each	\$25,911.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$27,560.52	1 / each	\$27,560.52		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$27,973.58	1 / each	\$27,973.58		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
Waypoint Contracting, Inc.	First Offer - \$28,708.23		\$28,708.23		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
PNC2120194B1–11-108 Division 32: Calibrate Flow Meter					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp 🔓	First Offer - \$452.38	1 / each	+ 450 00		
THE recomes corp	FIISCOIICI - \$432,30	i / eacii	\$452.38		Υ
Product Code: Agency Notes:	FIISCOTTEL - \$432.30	Supplier Product Code: Supplier Notes:			Y
Product Code:	First Offer - \$480.00	Supplier Product Code: Supplier Notes: 1 / each	\$480.00		Y
Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes:	First Offer - \$480.00	Supplier Product Code: Supplier Notes: 1 / each Supplier Product Code: Supplier Notes:	\$480.00		Y
Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code:		Supplier Product Code: Supplier Notes: 1 / each Supplier Product Code:	\$480.00		
Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes:	First Offer - \$480.00	Supplier Product Code: Supplier Notes: 1 / each Supplier Product Code: Supplier Notes:	\$480.00 \$484.00		Y
Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code:	First Offer - \$480.00 First Offer - \$484.00	Supplier Product Code: Supplier Notes: 1 / each Supplier Product Code: Supplier Notes: 1 / each Supplier Product Code:	\$480.00 \$484.00		Y
Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes:	First Offer - \$480.00 First Offer - \$484.00	Supplier Product Code: Supplier Notes: 1 / each Supplier Product Code: Supplier Notes: 1 / each Supplier Product Code: Supplier Notes:	\$480.00 \$484.00 \$512.16		Y
Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes: MBR CONSTRUCTION, INC.	First Offer - \$480.00 First Offer - \$484.00	Supplier Product Code: Supplier Notes: 1 / each Supplier Product Code: Supplier Notes: 1 / each Supplier Product Code: Supplier Notes: 1 / each Supplier Notes: 1 / each Supplier Product Code: Supplier Notes: 1 / each	\$480.00 \$484.00 \$512.16 \$514.80		Y
Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC  Product Code: Agency Notes: MBR CONSTRUCTION, INC. Product Code: Agency Notes:	First Offer - \$480.00  First Offer - \$484.00  First Offer - \$512.16	Supplier Product Code: Supplier Notes: 1 / each Supplier Product Code: Supplier Notes: 1 / each Supplier Product Code: Supplier Notes: 1 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 1 / each Supplier Product Code: Supplier Notes:	\$480.00 \$484.00 \$512.16 \$514.80		Y Y Y
Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes: MBR CONSTRUCTION, INC. Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes: Waypoint Contracting, Inc.	First Offer - \$480.00  First Offer - \$484.00  First Offer - \$512.16	Supplier Product Code: Supplier Notes: 1 / each Supplier Notes: 1 / each Supplier Product Code: Supplier Notes: 1 / each	\$480.00 \$484.00 \$512.16 \$514.80 \$536.24		Y Y Y
Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes: MBR CONSTRUCTION, INC. Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code:	First Offer - \$480.00  First Offer - \$484.00  First Offer - \$512.16  First Offer - \$514.80	Supplier Product Code: Supplier Notes: 1 / each Supplier Notes: 1 / each Supplier Product Code: Supplier Notes: 1 / each Supplier Product Code: Supplier Notes: 1 / each Supplier Product Code: Supplier Notes:	\$480.00 \$484.00 \$512.16 \$514.80 \$536.24		Y Y Y
Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes: MBR CONSTRUCTION, INC. Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes:	First Offer - \$480.00  First Offer - \$484.00  First Offer - \$512.16  First Offer - \$514.80	Supplier Product Code: Supplier Notes: 1 / each Supplier Notes: 1 / each Supplier Product Code: Supplier Notes: 1 / each	\$480.00 \$484.00 \$512.16 \$514.80 \$536.24		Y Y Y
Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes: MBR CONSTRUCTION, INC. Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code:	First Offer - \$480.00  First Offer - \$484.00  First Offer - \$512.16  First Offer - \$514.80  First Offer - \$536.24	Supplier Product Code: Supplier Notes:  1 / each Supplier Notes:  1 / each Supplier Notes:	\$480.00 \$484.00 \$512.16 \$514.80 \$536.24 \$3,162.50		Y Y Y
Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes: MBR CONSTRUCTION, INC. Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: West Construction, Inc. [Ad]	First Offer - \$480.00  First Offer - \$484.00  First Offer - \$512.16  First Offer - \$514.80  First Offer - \$536.24	Supplier Product Code: Supplier Notes: 1 / each Supplier Notes: 1 / each Supplier Product Code: Supplier Notes: 1 / each Supplier Product Code: Supplier Notes: 1 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	\$480.00 \$484.00 \$512.16 \$514.80 \$536.24 \$3,162.50		Y Y Y
Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes: MBR CONSTRUCTION, INC. Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes:	First Offer - \$480.00  First Offer - \$484.00  First Offer - \$512.16  First Offer - \$514.80  First Offer - \$536.24	Supplier Product Code: Supplier Notes:  1 / each Supplier Product Code: Supplier Notes:  1 / each Supplier Product Code: Supplier Notes:  1 / each Supplier Product Code: Supplier Product Code: Supplier Notes:  1 / each Supplier Notes:	\$480.00 \$484.00 \$512.16 \$514.80 \$536.24 \$3,162.50	Attch.	Y Y Y

	Broward County Board of County Commissioners		Ex Page 109	hibit 1 of 200	IC2120194B1
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$2,002.00	1 / each	\$2,002.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$2,118.48		\$2,118.48		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2,129.40	1 / each	\$2,129.40		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$2,218.08	1 / each	\$2,218.08		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$2,400.00	1 / each	\$2,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$5,750.00		\$5,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-110 Division 32: Flow Meter					
Supplier		Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp	First Offer - \$2,587.75		\$2,587.75		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$3,000.00	1 / each	\$3,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$3,316.50		\$3,316.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$3,509.46	1 / each	\$3,509.46		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$3,527.55	1 / each	\$3,527.55		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$3,674.45		\$3,674.45		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$8,050.00		\$8,050.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B111-111 Division 32: Intake Screen					
Supplier	Unit Price	e Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$9,068.72		\$9,068.72		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$9,115.47	1 / each	\$9,115.47		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

	Broward County Board of		E Page 110	xhibit 1	NC2120194B1
w	County Commissioners		_		
Waypoint Contracting, Inc.	First Offer - \$9,495.07		\$9,495.07		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	•		
ENCO, LLC	First Offer - \$11,000.00	1 / each	\$11,000.00		Υ
Product Code:		Supplier Product Code			
Agency Notes:		Supplier Notes:	•		
FHP Tectonics Corp	First Offer - \$13,718.38	1 / each	\$13,718.38		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$14,400.00	1 / each	\$14,400.00		Υ
Product Code:	, , ,	Supplier Product Code			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$18,400.00	1 / each	\$18,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
PNC2120194B111-112 Division 32: Intake Screen					
Supplier		Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$10,256.00	1 / each	\$10,256.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$10,308.87	1 / each	\$10,308.87		Υ
Product Code:		Supplier Product Code:	•		
Agency Notes: Waypoint Contracting, Inc.	First Offer - \$10,738.17	Supplier Notes: 1 / each	\$10,738.17		Υ
Product Code: Agency Notes:	11130 01101 - \$10,730.17	Supplier Product Code: Supplier Notes:			•
ENCO, LLC	First Offer - \$13,700.00	1 / each	\$13,700.00		Υ
Product Code:	, ,,	Supplier Product Code	•		
Agency Notes:	F: +0% +47.04F.00	Supplier Notes:	+1701500		
FHP Tectonics Corp	First Offer - \$17,045.88	1 / each	\$17,045.88		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
West Construction, Inc. [Ad]	First Offer - \$18,400.00	1 / each	\$18,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$18,600.00	1 / each	\$18,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
PNC2120194B1–11-113 Division 32: Irrigation Controlle					
Supplier		Qty/Unit	Total Price		Docs
MBR CONSTRUCTION, INC.	First Offer - \$460.80	1 / each	\$460.80		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
ENCO, LLC 👔	First Offer - \$1,458.00	1 / each	\$1,458.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
FHP Tectonics Corp 👔	First Offer - \$1,519.38	1 / each	\$1,519.38		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
West Construction, Inc. [Ad]	First Offer - \$1,610.00	1 / each	\$1,610.00		Y

	Broward County Board of County Commissioners		Ext Page 111 c	nibit 1 of 200 PN	NC2120194B1
Product Code: Agency Notes:	County Commissions	Supplier Product Code: Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2,047.50	1 / each	\$2.047.50		Υ
Product Code: Agency Notes:	1.150 0.161 42,0 1.150	Supplier Product Code: Supplier Notes:	, ,-		•
Waypoint Contracting, Inc.	First Offer - \$3,778.04	1 / each	\$3,778.04		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	: :		
Emerald Construction Corp. [Ad]	First Offer - \$14,400.00		\$14,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
PNC2120194B111-114 Division 32: Pump System Cor	ntroller				
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
ENCO, LLC 🔓	First Offer - \$15,820.20	1 / each	\$15,820.20		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC. 📦	First Offer - \$16,740.65	1 / each	\$16,740.65		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$16,827.00	1 / each	\$16,827.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
Waypoint Contracting, Inc.	First Offer - \$17,527.67	1 / each	\$17,527.67		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$17,804.88	1 / each	\$17,804.88		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$18,600.00	1 / each	\$18,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$19,320.00	1 / each	\$19,320.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
PNC2120194B111-115 Division 32: Pump System Cor	ntroller				
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
ENCO, LLC 🙀	First Offer - \$20,759.20	1 / each	\$20,759.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
FHP Tectonics Corp 👔	First Offer - \$21,472.00	1 / each	\$21,472.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
MBR CONSTRUCTION, INC. 🔓	First Offer - \$21,967.01	1 / each	\$21,967.01		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$22,080.00	1 / each	\$22,080.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$22,200.00	1 / each	\$22,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		

Exhibit 1 PNC2120194B1

Waypoint Contracting, Inc. First Offer - \$22,999.74 1 / each \$22,999.74 Υ **Product Code: Supplier Product Code:** 

**Agency Notes: Supplier Notes:** 

First Offer - \$23,230.00 1 / each \$23,230.00 Υ West Construction, Inc. [Ad]

**Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** 

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
ENCO, LLC	First Offer - \$93.00	100 / linear foot	\$9,300.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$98.64	100 / linear foot	\$9,864.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$99.16	100 / linear foot	\$9,916.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$103.29	100 / linear foot	\$10,329.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$140.25	100 / linear foot	\$14,025.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$149.50	100 / linear foot	\$14,950.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$150.00	100 / linear foot	\$15,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2120194B111-117 Division 32: Swing Check Valve					
Supplier	Unit Price	e Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp	First Offer - \$1,908.50	1 / each	\$1,908.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$2,070.00	1 / each	\$2,070.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$2,118.60	1 / each	\$2,118.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$2,241.86	1 / each	\$2,241.86		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2,253.42	1 / each	\$2,253.42		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$2,347.26	1 / each	\$2,347.26		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$3,000.00	1 / each	\$3,000.00		Υ

DNIC212010/121_11_119	Division 32: Pump system discharge
PINCZ 120 194B 1 1 1- 1 18	Division 32: Pumb system discharge

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
ENCO, LLC	First Offer - \$650.00	1 / each	\$650.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$655.33	1 / each	\$655.33		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$658.71	1 / each	\$658.71		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$686.14	1 / each	\$686.14		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$804.38	1 / each	\$804.38		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$840.00	1 / each	\$840.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$862.50	1 / each	\$862.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

## PNC2120194B1--11-119 Division 32: Pump system discharge

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC	First Offer - \$930.00	1 / each	\$930.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$946.33	1 / each	\$946.33		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$951.21	1 / each	\$951.21		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$990.82	1 / each	\$990.82		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$1,160.50	1 / each	\$1,160.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$1,176.00	1 / each	\$1,176.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$1,252.35	1 / each	\$1,252.35		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

## PNC2120194B1--11-120 Division 32: Pump system discharge

Supplier   Onit Price	C	ounty Commissioners		Page 114	of 200	
Product Code: Agency Notes:	Supplier	Unit Price	e Qty/Unit	<b>Total Price</b>	Attch.	Docs
Agency Notes:   Supplier Product Code:   Suppli	ENCO, LLC 🙀	First Offer - \$1,750.00	1 / each	\$1,750.00		Υ
MBR CONSTRUCTION, INC.				:		
Product Code:   Agency Notes:   Supplier Product Code:   Agency Notes:   Supplier		First Offer - \$1,778.59		\$1,778.59		Υ
First Offer - \$1,787.76   1 / each	Product Code:		Supplier Product Code	:		
Agency Notes:   Supplier No		First Offer - \$1,787.76		\$1,787.76		Υ
Product Code:   Agency Notes:   Supplier Product Code:   Agency Notes:   Supplier				:		
### Product Code: ### Agency Notes: ### Product Code: ### Agency Notes: ### Agency	Waypoint Contracting, Inc.	First Offer - \$1,862.21	1 / each	\$1,862.21		Υ
Product Code: Agency Notes:   Supplier Product Code: Supplier Notes:   Supplier N				:		
Nest Construction, Inc. [Ad]	FHP Tectonics Corp 👔	First Offer - \$2,175.25	1 / each	\$2,175.25		Υ
Product Code:   Agency Notes:   Supplier Product Code:   Supplier Notes:   Suppli				:		
Agency Notes:         Supplier Notes:         Supplier Product Code:         \$2,50.00         Y           Agency Notes:         Supplier Product Code:         Supplier Notes:         Match         Docs         Moc         Product Code:         Supplier Notes:         Sup	West Construction, Inc. [Ad]	First Offer - \$2,346.00	1 / each	\$2,346.00		Υ
Product Code: Agency Notes:  PNC2120194B1-12-01 FDOT/Division 32:Work Zone Sign Supplier  PNC2120194B1-12-01 FDOT/Division 32:Work Zone Sign Supplier  Unit Price Qty/Unit Total Price Agency Notes:  Supplier Product Code: Agency Notes:  MRC CONSTRUCTION, INC.  First Offer - \$0.437  First Offer - \$0.437  First Offer - \$0.437  First Offer - \$0.78  First Offer - \$0.78  Supplier Product Code: Agency Notes:  ENCO, LLC  Agency Notes:  ENCO, LLC  Agency Notes:  Emerald Construction Corp. (Ad)  First Offer - \$1.20  Supplier Product Code: Agency Notes:  Emerald Construction Corp. (Ad)  First Offer - \$1.20  First Offer - \$1.20  Supplier Product Code: Agency Notes:  Emerald Construction Corp. (Ad)  First Offer - \$1.20  First Offer - \$1.20  Supplier Product Code: Agency Notes:  Waypoint Contracting inc.  First Offer - \$1.20  First Offer - \$1.20  Supplier Product Code: Agency Notes:  Waypoint Contracting inc.  First Offer - \$1.20  Agency Notes:  Waypoint Contracting inc.  First Offer - \$1.20  Fi				:		
PNC2120194B1-12-01 FDOT/Division 32: Work Zone Sign Supplier  PNC2120194B1-12-01 FDOT/Division 32: Work Zone Sign Supplier  Unit Price Qty/Unit Total Price Att.  First Offer - \$0.437 10 / day \$4.37	Emerald Construction Corp. [Ad]	First Offer - \$2,520.00	1 / each	\$2,520.00		Υ
Supplier         Unit Price         Qty/Unit         Total Price         Attoh.         Doso           West Construction, Inc. [Ad]				:		
First Offer - \$0.437   10 / day	PNC2120194B112-01 FDOT/Division 32: Work Zone Sign					
Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  First Offer - \$0.78  10 / day \$7.80  Y  Product Code: Agency Notes:  ENCO, LLC	Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Agency Notes:  MBR CONSTRUCTION, INC.  First Offer - \$0.78  10 / day \$7.80  Y  Product Code: Agency Notes:  ENCO, LLC	West Construction, Inc. [Ad]	First Offer - \$0.437	10 / day	\$4.37		Y
Product Code: Agency Notes:  ENCO, LLC						
Agency Notes:  ENCO, LLC  First Offer - \$0.80 10 / day \$8.00 Y  Product Code: Agency Notes:  Emerald Construction Corp. [Ad]  Product Code: Agency Notes:  Emerald Construction Corp. [Ad]  First Offer - \$1.20 10 / day \$12.00 Y  Product Code: Agency Notes:  Waypoint Contracting, Inc.  First Offer - \$1.22 10 / day \$12.20 Y  Product Code: Agency Notes:  Waypoint Contracting, Inc.  First Offer - \$1.22 10 / day \$12.20 Y  Product Code: Agency Notes:  FHP Tectonics Corp  First Offer - \$1.24 10 / day \$12.20 Y  Product Code: Agency Notes:  FHP Tectonics Corp  First Offer - \$1.24 10 / day \$12.20 Y  Product Code: Agency Notes:  FHP Tectonics Corp  First Offer - \$1.24 10 / day \$12.20 Y  Product Code: Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT First Offer - \$1.24 10 / day \$12.20 Y  Product Code: Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT First Offer - \$1.24 10 / day \$12.20 Y  Product Code: Agency Notes:  PNC2120194B1-12-02 FDOT/Division 32: Business Sign  Supplier  First Offer - \$0.80 10 / day \$8.00 Y  Product Code:  First Offer - \$0.80 10 / day \$8.00 Y	MBR CONSTRUCTION, INC.	First Offer - \$0.78	10 / day	\$7.80		Y
Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes:  Waypoint Contracting, Inc.  First Offer - \$1.22  I 0 / day  Supplier Product Code: Agency Notes:  Waypoint Contracting, Inc.  First Offer - \$1.22  I 0 / day  \$12.20  Y  Product Code: Agency Notes:  First Offer - \$1.22  I 0 / day  \$12.20  Y  Product Code: Agency Notes:  First Offer - \$1.24  I 0 / day  \$34.40  Y  Product Code: Agency Notes:  First Offer - \$3.44  I 0 / day  \$34.40  Y  Product Code: Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT  First Offer - \$5.19  Product Code: Agency Notes:  PNC2120194B1-12-02 FDOT/Division 32: Business Sign Supplier  Supplier  Unit Price Qty/Unit  Total Price Attch. Docs ENCO, LLC First Offer - \$0.80  I 0 / day  \$8.00  Y  Product Code: Supplier Product Code: Agency Notes:			• •			
Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes:  Waypoint Contracting, Inc.  First Offer - \$1.22  I 0 / day  Supplier Product Code: Agency Notes:  Waypoint Contracting, Inc.  First Offer - \$1.22  I 0 / day  \$12.20  Y  Product Code: Agency Notes:  First Offer - \$1.22  I 0 / day  \$12.20  Y  Product Code: Agency Notes:  First Offer - \$1.24  I 0 / day  \$34.40  Y  Product Code: Agency Notes:  First Offer - \$3.44  I 0 / day  \$34.40  Y  Product Code: Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT  First Offer - \$5.19  Product Code: Agency Notes:  PNC2120194B1-12-02 FDOT/Division 32: Business Sign Supplier  Supplier  Unit Price Qty/Unit  Total Price Attch. Docs ENCO, LLC First Offer - \$0.80  I 0 / day  \$8.00  Y  Product Code: Supplier Product Code: Agency Notes:	ENCO, LLC 🙀	First Offer - \$0.80	10 / day	\$8.00		Y
Product Code: Agency Notes:  Waypoint Contracting, Inc.  First Offer - \$1.22 10 / day \$12.20 Y  Product Code: Agency Notes:  Supplier Product Code: Agency Notes:  FHP Tectonics Corp	Product Code:					
Agency Notes:  Waypoint Contracting, Inc.  First Offer - \$1.22 10 / day \$12.20 Y  Product Code: Agency Notes:  FHP Tectonics Corp	Emerald Construction Corp. [Ad]	First Offer - \$1.20	10 / day	\$12.00		Υ
Product Code: Agency Notes: FHP Tectonics Corp \( \) Product Code: Agency Notes: FHP Tectonics Corp \( \) Product Code: Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes:  PNC2120194B112-02 FDOT/Division 32: Business Sign Supplier  Supplier Qty/Unit First Offer - \$0.80  10 / day  \$8.00  Y  Froduct Code:  ENCO, LLC \( \) Product Code:  Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code:  Supplier Product Code:  Supplier Product Code:  Supplier Product Code:	Agency Notes:		Supplier Notes:			
Agency Notes: FHP Tectonics Corp  First Offer - \$3.44 10 / day \$34.40 Y  Product Code: Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes:  BUPPlier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:  PNC2120194B1-12-02 FDOT/Division 32: Business Sign Supplier Unit Price Qty/Unit Total Price Attch. PNC2120194B1-12-02 FDOT/Division S2: Business Sign Supplier Product Code:  ENCO, LLC Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code:  Supplier Product Code:  Supplier Product Code:  Supplier Product Code:	J		•	\$12.20		Υ
FHP Tectonics Corp  First Offer - \$3.44 10 / day \$34.40 Y  Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes:  PNC2120194B112-02 FDOT/Division 32: Business Sign Supplier  Unit Price  Qty/Unit First Offer - \$0.80 10 / day \$8.00 Y  First Offer - \$0.80 10 / day \$8.00 Y  Product Code:  Supplier Product Code:						
Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes:  PNC2120194B112-02 FDOT/Division 32: Business Sign Supplier  Unit Price Qty/Unit First Offer - \$0.80 10 / day \$8.00 Y  Product Code: Supplier Product Code: Supplier Notes:  PNC2120194B112-02 FDOT/Division 32: Business Sign Supplier Supplier Supplier Product Code: Supplier Product Code: Supplier Product Code:				\$34.40		Υ
Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes:  PNC2120194B112-02 FDOT/Division 32: Business Sign Supplier  Ounit Price Qty/Unit  First Offer - \$0.80 10 / day \$51.90 Y  Product Code: Supplier Notes:  PNC2120194B112-02 FDOT/Division 32: Business Sign  Supplier  First Offer - \$0.80 10 / day \$8.00 Y  Product Code:  Supplier Product Code:			-	45		-
Product Code: Agency Notes:  PNC2120194B112-02 FDOT/Division 32: Business Sign Supplier  Unit Price Qty/Unit Total Price Attch. Docs  ENCO, LLC First Offer - \$0.80 10 / day \$8.00 Y  Product Code: Supplier Product Code:						
Agency Notes:  PNC2120194B112-02 FDOT/Division 32: Business Sign  Supplier  Unit Price Qty/Unit Total Price Attch. Docs  ENCO, LLC First Offer - \$0.80 10 / day \$8.00 Y  Product Code: Supplier Product Code:	H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$5.19	10 / day	\$51.90		Υ
SupplierUnit PriceQty/UnitTotal PriceAttch.DocsENCO, LLC						
First Offer - \$0.80 10 / day \$8.00 Y  Product Code: Supplier Product Code:	<del>-</del>					
Product Code: Supplier Product Code:	_		-		Attch.	
• •			•	\$8.00		Y

	Broward County Board of County Commissioners		Ex Page 115	hibit 1 of 200 PNC2120194B1
FHP Tectonics Corp	First Offer - \$3.44	10 / day	\$34.40	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC.	First Offer - \$6.18		\$61.80	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$18.28		\$182.80	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Emerald Construction Corp. [Ad]	First Offer - \$72.00		\$720.00	Υ
Product Code:		Supplier Product Code:	,	
Agency Notes:		Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$74.75	10 / day	\$747.50	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$86.92	,	\$869.20	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2120194B112-03 FDOT/Division 32: Temporary C	oncrete Barrier Wall			
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch. Docs
FHP Tectonics Corp	First Offer - \$7.83	100 / linear foot	\$783.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Emerald Construction Corp. [Ad]	First Offer - \$20.40	100 / linear foot	\$2,040.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes: Waypoint Contracting, Inc.	First Offer - \$29.25	<b>Supplier Notes:</b> 100 / linear foot	\$2,925.00	Υ
Product Code:	1113001101 \$25.25	Supplier Product Code:	¥2,323.00	•
Agency Notes:		Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$34.50	100 / linear foot	\$3,450.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$42.00	100 / linear foot	\$4,200.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$42.40	100 / linear foot	\$4,240.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
ENCO, LLC	First Offer - \$56.10		\$5,610.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	·	
PNC2120194B112-04 FDOT/Division 32: Temporary C				
Supplier		ce Qty/Unit	Total Price	
FHP Tectonics Corp	First Offer - \$7.8	-	\$39.15	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Emerald Construction Corp. [Ad]	First Offer - \$21.6	,	\$108.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$84.8	30 5 / day	\$424.00	Y
Product Code:		Supplier Product Code		

Waypoint Contracting, Inc.

Product Code: Agency Notes:

e Qty/Unit	<b>Total Price</b>	Attch.	Docs
50 / square yard	\$25.00		Υ
Supplier Product Code: Supplier Notes:			
50 / square yard	\$125.00		Υ
Supplier Product Code: Supplier Notes:			
2 50 / square yard	\$131.00		Υ
Supplier Product Code: Supplier Notes:			
2 50 / square yard	\$141.00		Υ
Supplier Product Code: Supplier Notes:			
56	Supplier Product Code: Supplier Notes: 50 50 / square yard Supplier Product Code: Supplier Product Code: Supplier Notes: 50 / square yard Supplier Product Code: Supplier Product Code: Supplier Notes: 50 / square yard Supplier Notes: 50 / square yard Supplier Product Code:	\$25.00  Supplier Product Code: Supplier Notes:  50 50 / square yard \$125.00  Supplier Product Code: Supplier Product Code: Supplier Notes:  52 50 / square yard \$131.00  Supplier Product Code: Supplier Notes:  52 50 / square yard \$141.00  Supplier Product Code: Supplier Notes:	Supplier Product Code: Supplier Notes:  50 50 / square yard \$125.00  Supplier Product Code: Supplier Product Code: Supplier Notes:  52 50 / square yard \$131.00  Supplier Product Code: Supplier Notes:  52 50 / square yard \$141.00  Supplier Product Code:

First Offer - \$11.58

150 / linear foot

**Supplier Notes:** 

Supplier Product Code:

Υ

\$1,737.00

	Broward County Board of County Commissioners		Ex Page 117	hibit 1 of 200 Pi	NC2120194B1
West Construction, Inc. [Ad]	First Offer - \$2.875	50 / square yard	\$143.75		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$30.00	50 / square yard	\$1,500.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	Fi + 0.55 + 50.00	Supplier Notes:	+4 505 00		.,
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code:	First Offer - \$33.92	50 / square yard  Supplier Product Code:	\$1,696.00		Υ
Agency Notes:		Supplier Notes:			
PNC2120194B112-07 FDOT/Division 32: Sediment Bar	rier				
Supplier		e Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$0.82		\$164.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$1.50	200 / linear foot	\$300.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$1.97	200 / linear foot	\$394.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2.65	200 / linear foot	\$530.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$3.96		\$792.00		Υ
Product Code:		Supplier Product Code: Supplier Notes:			
Agency Notes:  West Construction, Inc. [Ad]	First Offer - \$4.60	• •	\$920.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$120.00		\$24,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-08 FDOT/Division 32: Floating Turb	idity Barrier				
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$7.20	300 / linear foot	\$2,160.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:  MBR CONSTRUCTION, INC.	First Offer - \$8.82	Supplier Notes: 300 / linear foot	\$2,646.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	·		
Waypoint Contracting, Inc.	First Offer - \$10.97		\$3,291.00		Υ
Product Code:		Supplier Product Code:	,		
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$11.92	300 / linear foot	\$3,576.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$15.00		\$4,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	,		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$15.68		\$4,704.00		Υ
Product Code:		Supplier Product Code:			
1/2020	DidCyna				- 110

**Supplier Notes:** 

Exhibit 1 Page 118 of 200 PNC2120194B1

Agency Notes:

West Construction, Inc. [Ad] First Offer - \$17.25 300 / linear foot \$5,175.00 Y

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

## PNC2120194B1--12-09 FDOT/Division 32: Staked Turbidity Barrier

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp 👔	First Offer - \$3.33	100 / linear foot	\$333.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$3.60	100 / linear foot	\$360.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. 🙀	First Offer - \$4.52	100 / linear foot	\$452.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$6.28	100 / linear foot	\$628.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$6.60	100 / linear foot	\$660.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$15.68	100 / linear foot	\$1,568.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$34.50	100 / linear foot	\$3,450.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

# PNC2120194B1--12-10 FDOT/Division 32: Inlet Protection System

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$53.00	3 / each	\$159.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$56.80	3 / each	\$170.40		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$60.00	3 / each	\$180.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$152.34	3 / each	\$457.02		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$200.00	3 / each	\$600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$230.00	3 / each	\$690.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$240.00	3 / each	\$720.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

	County Commissioners		rage 119 (	JI 200	
PNC2120194B112-11 FDOT/Division 32: Clearing and	d Grubbing				
Supplier		Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp	First Offer - \$0.39	150 / square yard	\$58.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$1.06	150 / square yard	\$159.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$1.80	150 / square yard	\$270.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$5.48	150 / square yard	\$822.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$10.00	150 / square yard	\$1,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$34.50	150 / square yard	\$5,175.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$61.48	150 / square yard	\$9,222.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-12 FDOT/Division 32: Remove Exis	sting Pavement or Concre	te			
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp	First Offer - \$9.57	3000 / square yard	\$28,710.00		Υ

	Attch. Docs
First Offer #0.57 2000 / swipped #20.710.00	Υ
FHP Tectonics Corp 👔 First Offer - \$9.57 3000 / square yard \$28,710.00	
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:	
Emerald Construction Corp. [Ad] First Offer - \$9.60 3000 / square yard \$28,800.00	Υ
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:	
MBR CONSTRUCTION, INC. First Offer - \$9.60 3000 / square yard \$28,800.00	Υ
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:	
ENCO, LLC First Offer - \$20.30 3000 / square yard \$60,900.00	Υ
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:	
Waypoint Contracting, Inc. First Offer - \$21.94 3000 / square yard \$65,820.00	Υ
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:	
H G CONSTRUCTION DEVELOPMENT & INVESTMENT First Offer - \$23.32 3000 / square yard \$69,960.00	Y
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:	
West Construction, Inc. [Ad] First Offer - \$31.05 3000 / square yard \$93,150.00	Υ
Product Code: Agency Notes: Supplier Product Code: Supplier Notes:	

PNC2120194B112-13 FDO1/Division 32: Plugging Artesian Wai	ter well			
Supplier	Unit Price	Qty/Unit	Total Price Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$20.40	1 / each	\$20.40	Υ

	Broward County Board of County Commissioners		Ex Page 120	hibit 1 of 200	NC2120194B1
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$153.0		\$153.00		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$1,725.0	00 1 / each	\$1,725.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
MBR CONSTRUCTION, INC.	First Offer - \$2,800.0	• •	\$2,800.00		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
ENCO, LLC	First Offer - \$3,396.0	00 1 / each	\$3,396.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Waypoint Contracting, Inc.	First Offer - \$5,484.2		\$5,484.25		Υ
Product Code:	,	Supplier Product Code	•		
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$5,500.0	00 1 / each	\$5,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
PNC2120194B112-14 FDOT/Division 32: Regular Exca	vation				
Supplier		Qty/Unit	<b>Total Price</b>	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2.24	200 / cubic yard	\$448.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:  FHP Tectonics Corp	First Offer - \$5.28	<b>Supplier Notes:</b> 200 / cubic yard	\$1,056.00		Υ
Product Code:	1 113t 311c1	Supplier Product Code:	41,030.00		•
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$7.80	200 / cubic yard	\$1,560.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:  MBR CONSTRUCTION, INC.	First Offer - \$7.80	<b>Supplier Notes:</b> 200 / cubic yard	\$1,560.00		Υ
Product Code:	1.130 0.110. 47.100	Supplier Product Code:	+ 1,000100		-
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$11.50	200 / cubic yard	\$2,300.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$14.62	200 / cubic yard	\$2,924.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$22.00	200 / cubic yard	\$4,400.00		Υ
Product Code:		Supplier Product Code:	, ,		
Agency Notes:		Supplier Notes:			
PNC2120194B112-15 FDOT/Division 32: Channel Exca	avation				
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2.80	200 / cubic yard	\$560.00		Υ
Product Code:		Supplier Product Code: Supplier Notes:			
Agency Notes:  FHP Tectonics Corp	First Offer - \$17.42		\$3,484.00		Υ
Product Code:	150 557 417172	Supplier Product Code:	/		=
Agency Notes:		Supplier Product Code.			

**Agency Notes:** 

**Supplier Notes:** 

	Broward County Board of County Commissioners		Exhibit 1 Page 121 of 200	
West Construction, Inc. [Ad]	First Offer - \$23.00	200 / cubic yard	\$4,600.00	Υ
Product Code: Agency Notes:	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Supplier Product Code: Supplier Notes:	, ,,,,,,,,,,	
MBR CONSTRUCTION, INC.	First Offer - \$24.00	• •	\$4,800.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$24.37		\$4,874.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Emerald Construction Corp. [Ad]	First Offer - \$27.60	<u>-</u>	\$5,520.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
ENCO, LLC 👔	First Offer - \$33.00	200 / cubic yard	\$6,600.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2120194B112-16 FDOT/Division 32: Embankmen	t			
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch. Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$11.66	•	\$1,166.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC. $ ightharpoonup$	First Offer - \$12.00	100 / cubic yard	\$1,200.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$13.41	100 / cubic yard	\$1,341.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:  FHP Tectonics Corp	First Offer - \$14.52	Supplier Notes:	\$1,452.00	Υ
Product Code:	1113C OHEL \$14.32	Supplier Product Code:	¥1, <del>4</del> 32.00	•
Agency Notes:	F: + O	Supplier Notes:	*4.500.00	.,
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$15.00	100 / cubic yard <b>Supplier Product Code:</b>	\$1,500.00	Y
Agency Notes:		Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$23.00	100 / cubic yard	\$2,300.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
ENCO, LLC 👔	First Offer - \$24.20	100 / cubic yard	\$2,420.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2120194B112-17 FDOT/Division 32: Flowable Fill				
Supplier	Unit Price	e Qty/Unit	<b>Total Price</b>	Attch. Docs
Emerald Construction Corp. [Ad]	First Offer - \$132.00	100 / cubic yard	\$13,200.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$146.25	,	\$14,625.00	Υ
Product Code:		Supplier Product Code: Supplier Notes:		
Agency Notes: ENCO, LLC	First Offer - \$150.00		\$15,000.00	Υ
Product Code:	50 01101 4150.000	Supplier Product Code:	+15,000.00	•
Agency Notes:		Supplier Notes:		
MBR CONSTRUCTION, INC.	First Offer - \$156.00	100 / cubic yard	\$15,600.00	Y

	Broward County Board of County Commissioners		Ex Page 122 (	NC2120194B1	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code:	First Offer - \$159.00	Supplier Product Code:	\$15,900.00		Y
Agency Notes:  FHP Tectonics Corp	First Offer - \$198.00	<b>Supplier Notes:</b> 100 / cubic yard	\$19,800.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$230.00		\$23,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-18 FDOT/Division 32: Geosynthetic	Reinforced Soil Slope				
Supplier		Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp	First Offer - \$0.97	•	\$29.10		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$2.00	•	\$60.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$8.16	30 / square foot <b>Supplier Product Code:</b>	\$244.80		Υ
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$8.40	30 / square foot	\$252.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$9.14	•	\$274.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$23.32	•	\$699.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$575.00		\$17,250.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-19 FDOT/Division 32: Subgrade Sta	bilization				
Supplier	Unit Price	<del>-</del>	Total Price	Attch.	Docs
West Construction, Inc. [Ad]	First Offer - \$1.15	·	\$115.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2.12	100 / square foot	\$212.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$5.91	100 / square foot	\$591.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.		100 / square foot	\$600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$9.60	100 / square foot	\$960.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

	Broward County Board of		Exhibit 1 Page 123 of 200 PNC212019		
ENCO LIC	County Commissioners First Offer - \$9.60		\$960.00	Υ	
ENCO, LLC  Product Code:	Filst Offer - \$5.00	Supplier Product Code:	\$300.00	'	
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$18.15	100 / square foot	\$1,815.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-20 FDOT/Division 32: Prepared Fin	ished Soil Layer				
Supplier		Qty/Unit	Total Price	Attch. Docs	
ENCO, LLC	First Offer - \$5.40	, ,	\$810.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$5.97	150 / square yard	\$895.50	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$6.40	150 / square yard	\$960.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$7.80	150 / square yard	\$1,170.00	Υ	
Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$13.80	150 / square yard	\$2,070.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$14.19	150 / square yard	\$2,128.50	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$15.90	150 / square yard	\$2,385.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
DNC2420404D4 42 24 FDOT/Division 22: Drawayad Own	ia Cail I aver				
PNC2120194B112-21 FDOT/Division 32: Prepared Org	•	Qty/Unit	Total Price	Attch. Docs	
ENCO, LLC	First Offer - \$5.40	=	\$810.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$5.48		\$822.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$10.20	150 / square yard	\$1,530.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$12.00	150 / square yard	\$1,800.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$13.80	150 / square yard	\$2,070.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$14.19	150 / square yard	\$2,128.50	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$15.90	150 / square yard	\$2,385.00	Y	

# PNC2120194B1--12-22 FDOT/Division 32: Washed Rock

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$15.60	1000 / ton	\$15,600.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC. 🙀	First Offer - \$27.53	1000 / ton	\$27,530.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$27.56	1000 / ton	\$27,560.00		Υ
Product Code:		Supplier Product Code:	+=/,500.00		•
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$38.12	1000 / ton	\$38,120.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$40.00	1000 / ton	\$40,000.00		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$57.50	1000 / ton	\$57,500.00		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$58.50	1000 / ton	\$58,500.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			

## PNC2120194B1--12-23 FDOT/Division 32: Optional Base Group

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$11.87	50 / square yard	\$593.50		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$12.00	50 / square yard	\$600.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$18.15	50 / square yard	\$907.50		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$18.40	50 / square yard	\$920.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$22.85	50 / square yard	\$1,142.50		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC. $oxedsymbol{igg }$	First Offer - \$23.17	50 / square yard	\$1,158.50		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$25.00	50 / square yard	\$1,250.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

### PNC2120194B1--12-24 FDOT/Division 32: Optional Base Group

	Broward County Board of County Commissioners		Ex Page 125 (	hibit 1 of 200	NC2120194B1
Supplier	Unit Price	e Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$15.60	50 / square yard	\$780.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$16.96	, ,	\$848.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer - \$20.46	Supplier Notes:	¢1 022 00		Υ
FHP Tectonics Corp	First Offer - \$20.40	, ,	\$1,023.00		Ĭ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer - \$25.30	<b>Supplier Notes:</b> 50 / square yard	\$1,265.00		Υ
West Construction, Inc. [Ad]	First Offer - \$25.50	• •	\$1,205.00		•
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$30.47		\$1,523.50		Υ
Product Code:	11130 31101 433117	Supplier Product Code:	+ 1/525150		•
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$32.47	' 50 / square yard	\$1,623.50		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
ENCO, LLC 👔	First Offer - \$42.00	50 / square yard	\$2,100.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
PNC2120194B112-25 FDOT/Division 32: Milling Existing	-	a			_
Supplier Wayneight Contracting Inc.	Unit Price	-	Total Price	Attch.	Docs
Waypoint Contracting, Inc.  Product Code:		1500 / square yard  Supplier Product Code:	\$3,660.00		Υ
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$3.24	1500 / square yard	\$4,860.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC. $oxedsymbol{igg }$	First Offer - \$4.00	1500 / square yard	\$6,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:	+6.060.00		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code:		1500 / square yard	\$6,360.00		Υ
Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]		1500 / square yard	\$8,625.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$7.92	1500 / square yard	\$11,880.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
ENCO, LLC 👔	First Offer - \$9.00	1500 / square yard	\$13,500.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
DNG2420404D4 42 25 FDOT/DLLL STATE	an Annhalt Berry				
PNC2120194B112-26 FDOT/Division 32: Milling Existin		Otr/Unit	Total Dular	A++-!-	Doca
Supplier Waynoint Contracting Inc.	<b>Unit Price</b> First Offer - \$2.44	Qty/Unit	<b>Total Price</b> \$3,660.00	Attch.	Docs Y
Waypoint Contracting, Inc.  Product Code:		1500 / square yard  Supplier Product Code:	᠐᠐᠐᠐᠐		•
Agency Notes:		Supplier Product Code. Supplier Notes:			
Emerald Construction Corp. [Ad]		1500 / square yard	\$4,860.00		Υ
		•			

	Broward County Board County Commissioner		Exl Page 126 d	hibit 1 of 200	C2120194B1
Product Code:	·	Supplier Product Code:			
Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$4.24	<b>Supplier Notes:</b> 1500 / square yard	\$6,360.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:  MBR CONSTRUCTION, INC.	First Offer - \$5.20	<b>Supplier Notes:</b> 1500 / square yard	\$7,800.00		Υ
Product Code:	1113001101 43.20	Supplier Product Code:	¥7,000.00		•
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$5.75	1500 / square yard	\$8,625.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$7.92	1500 / square yard	\$11,880.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$9.00	1500 / square yard	\$13,500.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
PNC2120194B112-27 FDOT/Division 32: Milling Existing	ng Asnhalt Pavement				
Supplier	Unit Price	· Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$3.05	1500 / square yard	\$4,575.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$3.36	, ,	\$5,040.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$4.77	1500 / square yard	\$7,155.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$5.75	1500 / square yard	\$8,625.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$6.40	1500 / square yard	\$9,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$7.92	1500 / square yard	\$11,880.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$10.00	1500 / square yard	\$15,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-28 FDOT/Division 32: Milling Existin	ng Asphalt Pavement				
Supplier		Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$2.74	, ,	\$4,110.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$3.36	, ,	\$5,040.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$4.77	' '	\$7,155.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

	Broward County Board (		Ex Page 127	hibit 1 of 200 Pt	NC2120194B1
West Construction, Inc. [Ad]	First Offer - \$6.90	1500 / square yard	\$10,350.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$8.40	1500 / square yard	\$12,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$10.00	1500 / square yard	\$15,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$10.49	1500 / square yard	\$15,735.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-29 FDOT/Division 32: Superpave <i>A</i>	Asphaltic Concrete				
Supplier		Qty/Unit	Total Price	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$16.80	4500 / square yard	\$75,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$19.35	4500 / square yard	\$87,075.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$20.04		\$90,180.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$20.70	4500 / square yard	\$93,150.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$24.44	4500 / square yard	\$109,980.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$25.00	4500 / square yard	\$112,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$37.66		\$169,470.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-30 FDOT/Division 32: Superpave <i>F</i>	Asphaltic Concrete				
Supplier		ice Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$125.		\$62,765.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$135.		\$67,840.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	·		
MBR CONSTRUCTION, INC.	First Offer - \$188.	.52 500 / ton	\$94,260.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$220.		\$110,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$220.		\$110,000.00		Y

Exhibit 1 Page 128 of 200 PNC2120194B1

Υ

Product Code:
Agency Notes:

West Construction, Inc. [Ad] First Offer - \$299.00

Supplier Product Code:
Supplier Notes:

\$149,500.00

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

Emerald Construction Corp. [Ad] First Offer - \$301.20 500 / ton \$150,600.00 Y

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

### PNC2120194B1--12-31 FDOT/Division 32: Class I Miscellaneous Concrete

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp 👔	First Offer - \$133.10	300 / cubic yard	\$39,930.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$168.00	300 / cubic yard	\$50,400.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$210.00	300 / cubic yard	\$63,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$238.50	300 / cubic yard	\$71,550.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$546.25	300 / cubic yard	\$163,875.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$550.00	300 / cubic yard	\$165,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$1,157.79	300 / cubic yard	\$347,337.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

#### PNC2120194B1--12-32 FDOT/Division 32: Adjust Inlets

114C2120134D1=12-32 10017D1V13101132. Adjust 1111Ct3					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$216.00	2 / each	\$432.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$363.00	2 / each	\$726.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$371.00	2 / each	\$742.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$862.50	2 / each	\$1,725.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$1,080.00	2 / each	\$2,160.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$2,500.00	2 / each	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

Exhibit 1 Page 129 of 200 PNC2120194B1

Waypoint Contracting, Inc. First Offer - \$4,753.02 2 / each \$9,506.04 **Y** 

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp 👔	First Offer - \$363.00	1 / each	\$363.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$1,380.00	1 / each	\$1,380.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$2,500.00	1 / each	\$2,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$3,000.00	1 / each	\$3,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$3,213.60	1 / each	\$3,213.60		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$4,187.00	1 / each	\$4,187.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$4,753.02	1 / each	\$4,753.02		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

#### PNC2120194B1--12-34 FDOT/Division 32: Maintenance Hatch

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$974.98	1 / each	\$974.98		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$2,750.00	1 / each	\$2,750.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$3,000.00	1 / each	\$3,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$3,533.81	1 / each	\$3,533.81		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$4,200.00	1 / each	\$4,200.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$5,141.00	1 / each	\$5,141.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$8,625.00	1 / each	\$8,625.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

#### PNC2120194B1--12-35 FDOT/Division 32: Maintenance Hatch

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$879.92	1 / each	\$879.92		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
ENCO, LLC	First Offer - \$2,750.00	1 / each	\$2,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$3,072.00	1 / each	\$3,072.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
MBR CONSTRUCTION, INC.	First Offer - \$7,800.00	1 / each	\$7,800.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
FHP Tectonics Corp 🔓	First Offer - \$8,052.06	1 / each	\$8,052.06		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$8,427.00	1 / each	\$8,427.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
West Construction, Inc. [Ad]	First Offer - \$10,925.00	1 / each	\$10,925.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

### PNC2120194B1--12-36 FDOT/Division 32: Adjust Maintenance Hatch

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC	First Offer - \$550.00	1 / each	\$550.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$600.00	1 / each	\$600.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$785.29	1 / each	\$785.29		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$853.11	1 / each	\$853.11		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$2,530.00	1 / each	\$2,530.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$4,187.00	1 / each	\$4,187.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$4,560.00	1 / each	\$4,560.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

## PNC2120194B1--12-37 FDOT/Division 32: Adjust Valve Boxes

Supplier	Unit Price	Qty/Unit	Total Price At	tch.	Docs
FHP Tectonics Corp 🙀	First Offer - \$181.50	1 / each	\$181.50		Υ

Product Code: Supplier Product Code:

	Broward County Board of County Commissioners		Ex Page 131	hibit 1 of 200	NC2120194B1
Agency Notes:	-	Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$204.00	1 / each	\$204.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🍃	First Offer - \$220.00	1 / each	\$220.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$222.00	1 / each	\$222.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$371.00	1 / each	\$371.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	4371.00		•
West Construction, Inc. [Ad]		1 / each	\$460.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$974.98	1 / each	\$974.98		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	<b>437</b> -1.30		•
PNC2120194B112-38 FDOT/Division 32: Yard Drain					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
ENCO, LLC 🍃	First Offer - \$825.00	1 / each	\$825.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$853.11	1 / each	\$853.11		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 🔓	First Offer - \$1,089.00	1 / each	\$1,089.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$1,200.00	1 / each	\$1,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$1,725.00	1 / each	\$1,725.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$1,920.00	1 / each	\$1,920.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$4,452.00	1 / each	\$4,452.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-39 FDOT/Division 32: Modify Existi	ng Drainage Structure				
Supplier		Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp 🙀	First Offer - \$363.00	1 / each	\$363.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$1,176.00		\$1,176.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
	First Offer - \$1,725.00	1 / each	\$1,725.00		Y

County Commissioners		Page 132 01 200	
	Supplier Product Code: Supplier Notes:		
First Offer - \$1,800.00	1 / each	\$1,800.00	Υ
	Supplier Product Code: Supplier Notes:		
First Offer - \$2,650.00	1 / each	\$2,650.00	Υ
	Supplier Product Code: Supplier Notes:		
First Offer - \$3,574.51	1 / each	\$3,574.51	Υ
	Supplier Product Code: Supplier Notes:		
First Offer - \$4,000.00	1 / each	\$4,000.00	Υ
	Supplier Product Code: Supplier Notes:		
	First Offer - \$1,800.00  First Offer - \$2,650.00  First Offer - \$3,574.51	Supplier Product Code: Supplier Notes:  First Offer - \$1,800.00 1 / each  Supplier Product Code: Supplier Notes:  First Offer - \$2,650.00 1 / each  Supplier Product Code: Supplier Notes:  First Offer - \$3,574.51 1 / each  Supplier Product Code: Supplier Product Code: Supplier Notes:  First Offer - \$4,000.00 1 / each  Supplier Product Code:	Supplier Product Code: Supplier Notes:   First Offer - \$1,800.00

PNC2120194B112-40 FDOT/Division 32: Concrete Curb an	d Gutter Type F				
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp	First Offer - \$19.25	300 / linear foot	\$5,775.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$26.40	300 / linear foot	\$7,920.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$26.40	300 / linear foot	\$7,920.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$26.50	300 / linear foot	\$7,950.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$28.75	300 / linear foot	\$8,625.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$33.00	300 / linear foot	\$9,900.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$34.12	300 / linear foot	\$10,236.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2120194B112-41 FDOT/Division 32: Concrete Curb Typ	oe D					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs	
FHP Tectonics Corp 👔	First Offer - \$12.38	300 / linear foot	\$3,714.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$14.63	300 / linear foot	\$4,389.00		Υ	
Product Code:		Supplier Product Code:				

First Offer - \$14.63	300 / linear foot	\$4,389.00	Υ
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$18.00	300 / linear foot	\$5,400.00	Υ
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$21.60	300 / linear foot	\$6,480.00	Y
	First Offer - \$18.00	First Offer - \$14.63 300 / linear foot Supplier Product Code: Supplier Notes: First Offer - \$18.00 300 / linear foot Supplier Product Code:	First Offer - \$14.63 300 / linear foot \$4,389.00  Supplier Product Code: Supplier Notes:  First Offer - \$18.00 300 / linear foot \$5,400.00  Supplier Product Code: Supplier Notes:

	Broward County Board of County Commissioners		Exi Page 133 (	hibit 1 of 200 PN	NC2120194B1
Product Code:	County Commissioners	Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$26.81		\$8,043.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$27.50		\$8,250.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$28.75	300 / linear foot	\$8,625.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-42 FDOT/Division 32: Concrete Side	walk				
Supplier	Unit Price		Total Price	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$18.00	2500 / square yard	\$45,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC		2500 / square yard	\$48,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$36.73	2500 / square yard	\$91,825.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:  FHP Tectonics Corp	First Offer - \$41.25	<b>Supplier Notes:</b> 2500 / square yard	\$103,125.00		Υ
Product Code:		Supplier Product Code:	, , , , , , , , , , , , , , , , , , , ,		
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$46.31	2500 / square yard	\$115,775.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$48.30	2500 / square yard	\$120,750.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$54.00	2500 / square yard	\$135,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-43 FDOT/Division 32: Concrete Side	walk				
Supplier		Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$31.20	, -	\$15,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$45.38		\$22,690.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$55.20	500 / square yard	\$27,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$56.18		\$28,090.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$58.50	, ,	\$29,250.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

**Supplier Notes:** 

PNC2120194B112-44	FDOT/Division 32: Patterned Pavement, Green Bike Lane
-------------------	---

**Agency Notes:** 

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$21.60	100 / square yard	\$2,160.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$66.43	100 / square yard	\$6,643.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$106.00	100 / square yard	\$10,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$114.56	100 / square yard	\$11,456.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$156.00	100 / square yard	\$15,600.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$159.50	100 / square yard	\$15,950.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$172.50	100 / square yard	\$17,250.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

## PNC2120194B1--12-45 FDOT/Division 32: Install Architectural Pavers for Roadways

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$6.60	25 / square foot	\$165.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$8.625	25 / square foot	\$215.625		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$12.72	25 / square foot	\$318.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$13.13	25 / square foot	\$328.25		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$15.40	25 / square foot	\$385.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$21.60	25 / square foot	\$540.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$28.03	25 / square foot	\$700.75		Y

PNC2120194B112-46	FDOT/Division 32: Install Architectural Pavers for Sidewalk

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$6.24	25 / square foot	\$156.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$6.90	25 / square foot	\$172.50		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$9.52	25 / square foot	\$238.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$12.72	25 / square foot	\$318.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$14.40	25 / square foot	\$360.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$15.40	25 / square foot	\$385.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$18.28	25 / square foot	\$457.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

## PNC2120194B1--12-47 FDOT/Division 32: Reflective Pavement Marker, Class B

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
ENCO, LLC	First Offer - \$4.40	50 / each	\$220.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$4.87	50 / each	\$243.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$5.45	50 / each	\$272.50		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$5.98	50 / each	\$299.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$6.325	50 / each	\$316.25		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$7.20	50 / each	\$360.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$8.48	50 / each	\$424.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

## PNC2120194B1--12-48 FDOT/Division 32: Removal of Pavement Marker

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
West Construction, Inc. [Ad]	First Offer - \$23.00	10 / each	\$230.00		Y

County Commissioners   First Offer   S275   10   each   S275   10		Broward County Board of		Ex Page 137	hibit 1 of 200 PN	NC2120194B1
Product Code:	FNCO. LLC		10 / each	\$275.00		Υ
First Offer - \$35.09   10 / each	Product Code:		Supplier Product Code:	,		
Supplier Product Code:   Supplier Product Co		First Offer - \$35.09		\$350.90		Υ
Product Code: Agency Notes:   Supplier Product Code: Supplier Notes:   Supplier No	Product Code:					
MBR CONSTRUCTION, INC.	Product Code:	First Offer - \$36.00	Supplier Product Code:	\$360.00		Y
Agency Notes: HG CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes: Supplier Product Code: Agency Notes: Supplier Product		First Offer - \$54.00		\$540.00		Υ
Product Code: Agency Notes:   Supplier Product Code: Supplier Notes:   Supplier No			Supplier Notes:			
Waypoint Contracting, Inc.   First Offer - \$91.40   10 / each   \$914.00   Y	Product Code:	First Offer - \$86.92	Supplier Product Code:	\$869.20		Υ
Product Code: Agency Notes:  PNC2120194B1-12-51 FDOT/Division 32: Painted Traffic Stripe Supplier Product Code: Supplier Notes:  Prettonics Corp		First Offer - \$91.40		\$914.00		Υ
Supplier FIFTECTORIES CORP FIRST OFFER - \$0.51   50.0 / linear foot   \$25.00   Y  Product Code: Agency Notes:  MBR CONSTRUCTION, INC. FIFST OFFER - \$0.54   50.0 / linear foot   \$270.00   Y  Product Code: Agency Notes:  MBR CONSTRUCTION, INC. FIFST OFFER - \$0.54   50.0 / linear foot   \$270.00   Y  Product Code: Agency Notes:  Supplier Product Code: Agency Notes:  West Construction, Inc. [Ad] FIFST OFFER - \$0.62   50.0 / linear foot   \$300.00   Y  Product Code: Agency Notes: West Construction, Inc. [Ad] FIFST OFFER - \$0.62   50.0 / linear foot   \$310.50   Y  Product Code: Agency Notes: West Construction, Inc. [Ad] FIFST OFFER - \$0.62   50.0 / linear foot   \$310.50   Y  Product Code: Agency Notes: West Construction, Inc. [Ad] FIFST OFFER - \$0.62   50.0 / linear foot   \$380.00   Y  Product Code: Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT   First OFFER - \$0.76   50.0 / linear foot   \$380.00   Y  Product Code: Agency Notes:  Emerald Construction Corp. [Ad] FIFST OFFER - \$0.76   50.0 / linear foot   \$380.00   Y  Product Code: Agency Notes:  Emerald Construction Corp. [Ad] First OFFER - \$1.26   50.0 / linear foot   \$630.00   Y  Product Code: Agency Notes:  Waypoint Contracting, Inc. FIFST OFFER - \$1.28   50.0 / linear foot   \$640.00   Y  Product Code: Agency Notes:  Waypoint Contracting, Inc. FIFST OFFER - \$0.43   \$0.0 / linear foot   \$2.0 / V  Product Code: Agency Notes:  Supplier Notes:  Waypoint Contracting, Inc. FIFST OFFER - \$0.43   \$0.0 / linear foot   \$2.0 / V  Product Code: Agency Notes:  Supplier Notes:  Supplier Product Code: Agency Notes:  Supplier Notes:  Supplier Notes:  Supplier Notes:  Waypoint Contracting, Inc. FIFST OFFER - \$0.43   \$0.0 / linear foot   \$2.0 / V  Product Code: Agency Notes:  Supplier Notes	Product Code:		Supplier Product Code:	, , , , , , ,		
First Offer - \$0.51   500 / linear foot   \$255.00   Y	PNC2120194B112-51 FDOT/Division 32: Painted Traff	īc Stripe				
Product Code: Agency Notes:  MBR CONSTRUCTION, INC. First Offer - \$0.50 / Supplier Product Code: Agency Notes:  MBR CONSTRUCTION, INC. First Offer - \$0.60 / Supplier Product Code: Agency Notes:  ENCO, LLC First Offer - \$0.60 / So/ Jinear foot   \$300.00   Y    Product Code: Agency Notes:  ENCO, LLC First Offer - \$0.60 / So/ Jinear foot   \$300.00   Y    Product Code: Agency Notes:  West Construction, Inc. [Ad] First Offer - \$0.621 / So/ Jinear foot   \$310.50   Y    Product Code: Agency Notes:  West Construction Development & Investment   First Offer - \$0.621 / So/ Jinear foot   \$380.00   Y    Product Code: Agency Notes:  Hist Offer - \$0.621 / So/ Jinear foot   \$380.00   Y    Product Code: Agency Notes:  Supplier Product Code: Agency Notes:  Supplier Product Code: Agency Notes:  Supplier Product Code: Agency Notes:  Waypoint Contracting, Inc. First Offer - \$1.26   So/ Jinear foot   \$630.00   Y    Product Code: Agency Notes:  Waypoint Contracting, Inc. First Offer - \$1.28   So/ Jinear foot   \$640.00   Y    Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:  Supplier Notes:  Supplier Product Code: Agency Notes:  Supplier Product Code: Agency Notes:  Supplier Product Code: Agency Notes:  Supplier Notes:	Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Agency Notes:         Supplier Notes:         Supplier Notes:         Y           Product Code:         Supplier Notes:         V           ENCO, LLC	FHP Tectonics Corp 👔	First Offer - \$0.51	500 / linear foot	\$255.00		Υ
Product Code: Agency Notes: ENCO, LLC Agency Notes:  West Construction, Inc. [Ad] First Offer - \$0.621 500 / linear foot \$300.00 Y  Product Code: Agency Notes: West Construction, Inc. [Ad] First Offer - \$0.621 500 / linear foot \$310.50 Y  Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT First Offer - \$0.76 500 / linear foot \$380.00 Y  Product Code: Agency Notes: Emerald Construction Corp. [Ad] First Offer - \$1.26 500 / linear foot \$630.00 Y  Product Code: Agency Notes: Emerald Construction Corp. [Ad] First Offer - \$1.26 500 / linear foot \$630.00 Y  Product Code: Agency Notes:  Waypoint Contracting, Inc. First Offer - \$1.28 500 / linear foot \$640.00 Y  Product Code: Agency Notes:  Waypoint Contracting, Inc. First Offer - \$1.28 500 / linear foot \$640.00 Y  Product Code: Agency Notes:  Supplier Product Code: Supplier Notes:  PNC2120194B1-12-52 FDOT/Division 32: Painted Traffic Stripe  Supplier Notes:  PNC2120194B1-12-52 FDOT/Division 32: Painted Traffic Stripe  Supplier Product Code: Agency Notes:  Supplier Product Code: Supplier Product Co						
Agency Notes:  ENCO, LLC   First Offer - \$0.60   500 / linear foot   \$300.00   Y    Product Code: Agency Notes:  West Construction, Inc. [Ad]   First Offer - \$0.621   500 / linear foot   \$310.50   Y    Product Code: Agency Notes:  West Construction, Inc. [Ad]   First Offer - \$0.621   500 / linear foot   \$310.50   Y    Product Code: Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT   First Offer - \$0.76   500 / linear foot   \$380.00   Y    Product Code: Agency Notes:  Emerald Construction Corp. [Ad]   First Offer - \$1.26   500 / linear foot   \$630.00   Y    Product Code: Agency Notes:  Emerald Construction Corp. [Ad]   First Offer - \$1.26   500 / linear foot   \$630.00   Y    Product Code: Agency Notes:  Waypoint Contracting, Inc.   First Offer - \$1.28   500 / linear foot   \$640.00   Y    Product Code: Agency Notes:  Waypoint Contracting, Inc.   First Offer - \$1.28   500 / linear foot   \$640.00   Y    Product Code: Agency Notes:  PNC2120194B112-52 FDOT/Division 32: Painted Traffic Stripe  Supplier Notes:  PNC2120194B112-52 FDOT/Division 32: Painted Traffic Stripe  Supplier Notes:  Waypoint Contracting Inc.   First Offer - \$0.43   500 / linear foot   \$215.00   Y    Product Code: Agency Notes:  MBR CONSTRUCTION, INC.   First Offer - \$0.48   500 / linear foot   \$240.00   Y    Product Code: Agency Notes:  MBR CONSTRUCTION, INC.   First Offer - \$0.48   500 / linear foot   \$240.00   Y	MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$0.54	500 / linear foot	\$270.00		Υ
First Offer - \$0.60 500 / linear foot \$300.00 Y  Product Code: Agency Notes: West Construction, Inc. [Ad] First Offer - \$0.621 500 / linear foot \$310.50 Y  Product Code: Agency Notes: West Construction, Inc. [Ad] First Offer - \$0.621 500 / linear foot \$310.50 Y  Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT First Offer - \$0.76 500 / linear foot \$380.00 Y  Product Code: Agency Notes: Emerald Construction Corp. [Ad] First Offer - \$1.26 500 / linear foot \$630.00 Y  Product Code: Agency Notes: Waypoint Contracting, Inc. First Offer - \$1.28 500 / linear foot \$640.00 Y  Product Code: Agency Notes: Waypoint Contracting, Inc. First Offer - \$1.28 500 / linear foot \$640.00 Y  Product Code: Agency Notes: Unit Price Oty/Unit Total Price Attch. Docs FHP Tectonics Corp Fore First Offer - \$0.43 500 / linear foot \$215.00 Y  Product Code: Agency Notes: First Offer - \$0.43 500 / linear foot \$240.00 Y  Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:  First Offer - \$0.43 500 / linear foot \$240.00 Y  Product Code: Agency Notes:  MBR CONSTRUCTION, INC. First Offer - \$0.48 500 / linear foot \$240.00 Y  Product Code: Agency Notes:  MBR CONSTRUCTION, INC. First Offer - \$0.48 500 / linear foot \$240.00 Y						
Product Code: Agency Notes:  West Construction, Inc. [Ad] First Offer - \$0.621 500 / linear foot \$310.50 Y  Product Code: Agency Notes:  High Construction Development & Investment  First Offer - \$0.76 500 / linear foot \$380.00 Y  Product Code: Agency Notes:  High Construction Development & Investment  First Offer - \$0.76 500 / linear foot \$380.00 Y  Product Code: Agency Notes:  Emerald Construction Corp. [Ad] First Offer - \$1.26 500 / linear foot \$630.00 Y  Product Code: Agency Notes:  Emerald Construction Corp. [Ad] First Offer - \$1.26 500 / linear foot \$630.00 Y  Product Code: Agency Notes:  Waypoint Contracting, Inc.  First Offer - \$1.28 500 / linear foot \$640.00 Y  Product Code: Agency Notes:  Waypoint Contracting, Inc.  First Offer - \$1.28 500 / linear foot \$640.00 Y  Product Code: Agency Notes:  PNC2120194B1-12-52 FDOT/Division 32: Painted Traffic Stripe  Supplier Notes:  PNC2120194B1-12-52 FDOT/Division 32: Painted Traffic Stripe  Supplier Notes:  Supplier Product Code: Agency Notes:  Supplier Product Code: Agency Notes:  MBR CONSTRUCTION, INC. First Offer - \$0.48 500 / linear foot \$240.00 Y  Product Code: Agency Notes:  MBR CONSTRUCTION, INC. First Offer - \$0.48 500 / linear foot \$240.00 Y  Product Code: Agency Notes:  MBR CONSTRUCTION, INC. First Offer - \$0.48 500 / linear foot \$240.00 Y		First Offer - \$0.60		\$300.00		Υ
First Offer - \$0.621 500 / linear foot \$310.50 Y  Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes: Supplier Product Code: Supplier Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT First Offer - \$0.76 500 / linear foot \$380.00 Y  Product Code: Agency Notes: Emerald Construction Corp. [Ad] First Offer - \$1.26 500 / linear foot \$630.00 Y  Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Notes: Waypoint Contracting, Inc. First Offer - \$1.28 500 / linear foot \$640.00 Y  Product Code: Agency Notes:  Waypoint Contracting, Inc. First Offer - \$1.28 500 / linear foot \$640.00 Y  Product Code: Agency Notes:  PNC2120194B1-12-52 FDOT/Division 32: Painted Traffic Stripe Supplier Unit Price Supplier Notes:  Product Code: Agency Notes:  Supplier Product Code: Supplier Notes:  MBR CONSTRUCTION, INC. First Offer - \$0.48 500 / linear foot \$240.00 Y  Product Code: Agency Notes:  MBR CONSTRUCTION, INC. First Offer - \$0.48 500 / linear foot \$240.00 Y  Product Code: Agency Notes:  MBR CONSTRUCTION, INC. Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Notes:	Product Code:					
Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT First Offer - \$0.76 Foduct Code: Agency Notes: Emerald Construction Corp. [Ad] First Offer - \$1.26 First Offer - \$1.28 First Offer		First Offer - \$0.621		\$310.50		Υ
Product Code: Agency Notes:  Emerald Construction Corp. [Ad]  First Offer - \$1.26  Supplier Product Code: Agency Notes:  Emerald Construction Corp. [Ad]  First Offer - \$1.26  Supplier Product Code: Agency Notes:  Waypoint Contracting, Inc.  First Offer - \$1.28  Supplier Notes:  Waypoint Contracting, Inc.  First Offer - \$1.28  Supplier Product Code: Agency Notes:  Supplier Product Code: Agency Notes:  PNC2120194B1-12-52 FDOT/Division 32: Painted Traffic Stripe  Supplier Notes:  First Offer - \$0.43  Supplier Product Code: Agency Notes:  Supplier Product Code: Agency Notes:  First Offer - \$0.43  Supplier Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  First Offer - \$0.48  Supplier Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  First Offer - \$0.48  Supplier Product Code: Agency Notes:  Supplier Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  First Offer - \$0.48  Supplier Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  First Offer - \$0.48  Supplier Product Code: Agency Notes:  Supplier Notes:						
Agency Notes:  Emerald Construction Corp. [Ad]  First Offer - \$1.26  Supplier Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:  Waypoint Contracting, Inc.  First Offer - \$1.28  Supplier Product Code: Supplier Product Code: Agency Notes:  Waypoint Contracting, Inc.  First Offer - \$1.28  Supplier Product Code: Agency Notes:  PNC2120194B112-52 FDOT/Division 32: Painted Traffic Stripe  Supplier  Supplier  Unit Price Qty/Unit Total Price Attch. Docs FHP Tectonics Corp First Offer - \$0.43  Supplier Product Code: Agency Notes:  MBR CONSTRUCTION, INC. First Offer - \$0.48  Supplier Product Code: Agency Notes:  MBR CONSTRUCTION, INC. Supplier Product Code: Agency Notes:  MBR CONSTRUCTION, INC. Supplier Product Code: Agency Notes:  MBR CONSTRUCTION, INC. Supplier Product Code: Agency Notes:  Supplier Product Code: Agency Notes:	H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$0.76	500 / linear foot	\$380.00		Υ
Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes:  Waypoint Contracting, Inc. Product Code: Agency Notes:  PNC2120194B112-52 FDOT/Division 32: Painted Traffic Stripe Supplier Product Code: Agency Notes: Supplier Product Code: Supplier Notes:  MBR CONSTRUCTION, INC. First Offer - \$0.48 Supplier Product Code: Supplier Product Code: Supplier Notes:  MBR CONSTRUCTION, INC. Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.  Product Code: Agency Notes:  PNC2120194B112-52 FDOT/Division 32: Painted Traffic Stripe  Supplier	Product Code:	First Offer - \$1.26	Supplier Product Code:	\$630.00		Υ
Product Code: Agency Notes:  PNC2120194B112-52 FDOT/Division 32: Painted Traffic Stripe  Supplier  Supplier Votes:  Unit Price Qty/Unit Total Price Attch. Docs  First Offer - \$0.43 500 / linear foot \$215.00 Y  Product Code: Agency Notes:  MBR CONSTRUCTION, INC. First Offer - \$0.48 500 / linear foot \$240.00 Y  Product Code: Agency Notes:  MBR CONSTRUCTION, INC. Supplier Product Code: Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Notes:		First Offer - \$1.28		\$640.00		v
Supplier  FHP Tectonics Corp  First Offer - \$0.43  First Offer - \$0.43  First Offer - \$0.43  Supplier Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  First Offer - \$0.48  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:	Product Code:	1 113t Offer - \$1.20	Supplier Product Code:	¥0 <del>4</del> 0.00		•
Supplier  FHP Tectonics Corp  First Offer - \$0.43  First Offer - \$0.43  First Offer - \$0.43  Supplier Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  First Offer - \$0.48  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:		·				
FHP Tectonics Corp First Offer - \$0.43 500 / linear foot \$215.00 Y  Product Code: Agency Notes:  MBR CONSTRUCTION, INC. First Offer - \$0.48 500 / linear foot \$240.00 Y  Product Code: Agency Notes:  Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:		<u>-</u>	Oty/Unit	Total Price	Attch	Docs
Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  First Offer - \$0.48 500 / linear foot \$240.00 Y  Product Code: Agency Notes:  Supplier Product Code: Supplier Notes:			<u>-</u>		ALLII.	
MBR CONSTRUCTION, INC. First Offer - \$0.48 500 / linear foot \$240.00 Y  Product Code: Agency Notes:  Supplier Product Code: Supplier Notes:	Product Code:	22.2. 2. ,310	Supplier Product Code:	, 2.23		
Product Code: Agency Notes: Supplier Product Code: Supplier Notes:		First Offer - \$0.48		\$240.00		Υ
51 4 0 M 40 54 75 500 4 M 40 54 75 75 M	Product Code:					
		First Offer - \$0.5175		\$258.75		Y

	Broward County Board o		Ex Page 138	thibit 1	NC2120194B1
	County Commissioners		r ago 100	0. 200	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$0.60	500 / linear foot	\$300.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$0.76		\$380.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offers #4.25	Supplier Notes:	¢625.00		v
Emerald Construction Corp. [Ad]	First Offer - \$1.27	7 500 / linear foot	\$635.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$1.55		\$775.00		Υ
Product Code:	1 11 50 511 61 7 11 50	Supplier Product Code:	4775100		-
Agency Notes:		Supplier Notes:			
PNC2120194B112-53 FDOT/Division 32: Painted Tra	ffic Stripe				
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
MBR CONSTRUCTION, INC. 🔓	First Offer - \$1.56	100 / linear foot	\$156.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$1.70		\$170.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$1.77	100 / linear foot	\$177.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 🙀	First Offer - \$1.82	100 / linear foot	\$182.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$1.84	100 / linear foot	\$184.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2.16	100 / linear foot	\$216.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$2.40	100 / linear foot	\$240.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-54 FDOT/Division 32: Painted Tra	ffic Stripe				
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
ENCO, LLC 🙀	First Offer - \$1.70	100 / linear foot	\$170.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2.33	100 / linear foot	\$233.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$2.38	100 / linear foot	\$238.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	E:+ Off	Supplier Notes:	#200.00		V
FHP Tectonics Corp	First Offer - \$2.90		\$290.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

	Broward County Board of County Commissioners		Ex Page 139	hibit 1 of 200 PNC2120194B1
Emerald Construction Corp. [Ad]  Product Code: Agency Notes:	First Offer - \$3.30	100 / linear foot Supplier Product Code: Supplier Notes:	\$330.00	Y
MBR CONSTRUCTION, INC.		100 / linear foot	\$360.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$4.14	100 / linear foot	\$414.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2120194B112-55 FDOT/Division 32: Thermoplast		Ohr.// Init	Total Drice	Attala Dava
Supplier  West Construction, Inc. [Ad]	First Offer - \$1.0005	• <b>Qty/Unit</b> 500 / linear foot	<b>Total Price</b> \$500.25	Attch. Docs Y
West Construction, Inc. [Ad]  Product Code: Agency Notes:	1113CONC1 \$1.0003	Supplier Product Code: Supplier Notes:	4300.23	•
ENCO, LLC	First Offer - \$1.10	500 / linear foot	\$550.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code:  Agree Notes:	First Offer - \$1.11	500 / linear foot  Supplier Product Code:  Supplier Notes:	\$555.00	Y
Agency Notes:  FHP Tectonics Corp	First Offer - \$1.11		\$555.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC.	First Offer - \$1.34	500 / linear foot	\$670.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Emerald Construction Corp. [Ad]	First Offer - \$2.40		\$1,200.00	Υ
Product Code: Agency Notes:	E' + O''	Supplier Product Code: Supplier Notes:	±4.675.00	v
Waypoint Contracting, Inc.  Product Code: Agency Notes:	First Offer - \$3.35	500 / linear foot Supplier Product Code: Supplier Notes:	\$1,675.00	Y
PNC2120194B112-56 FDOT/Division 32: Thermoplast	c Traffic Stripe			
Supplier		Qty/Unit	Total Price	
West Construction, Inc. [Ad]	First Offer - \$0.8625	Supplier Product Code:	\$431.25	Y
Agency Notes: ENCO, LLC	First Offer - \$1.10	<b>Supplier Notes:</b> 500 / linear foot	\$550.00	Y
Product Code:	ruscone. This	Supplier Product Code:	4330.00	•
Agency Notes:		Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$1.11		\$555.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
FHP Tectonics Corp	First Offer - \$1.11		\$555.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC.	First Offer - \$1.32	500 / linear foot	\$660.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Emerald Construction Corp. [Ad]	First Offer - \$3.00	500 / linear foot	\$1,500.00	Υ

Exhibit 1 Page 140 of 200 PNC2120194B1

Product Code: Supplier Product Code:

Agency Notes: Supplier Notes:

Waypoint Contracting, Inc. First Offer - \$3.66 500 / linear foot \$1,830.00 **Y** 

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

### PNC2120194B1--12-57 FDOT/Division 32: Thermoplastic Traffic Stripe

Supplier .	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$2.38	500 / linear foot	\$1,190.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$3.24	500 / linear foot	\$1,620.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$4.40	500 / linear foot	\$2,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$4.58	500 / linear foot	\$2,290.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 🙀	First Offer - \$5.32	500 / linear foot	\$2,660.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$5.75	500 / linear foot	\$2,875.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$7.80	500 / linear foot	\$3,900.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

## PNC2120194B1--12-58 FDOT/Division 32: Removal of Thermoplastic Pavement Marker

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp 👔	First Offer - \$0.91	50 / each	\$45.50		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$1.52	50 / each	\$76.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$1.80	50 / each	\$90.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$2.30	50 / each	\$115.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$3.60	50 / each	\$180.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$4.40	50 / each	\$220.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$148.40	50 / each	\$7,420.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2120194R112-59	FDOT/Division 32: Thermoplastic Solid Traffic S	trine
FINCE 120 1340 1 12-33	1 DO 1/DIVISION 32. THE INODIASTIC SONG TRAINES	LIDE

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$1.38	50 / linear foot	\$69.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$1.495	50 / linear foot	\$74.75		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$1.82	50 / linear foot	\$91.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$1.98	50 / linear foot	\$99.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
ENCO, LLC	First Offer - \$3.30	50 / linear foot	\$165.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$3.35	50 / linear foot	\$167.50		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$300.00	50 / linear foot	\$15,000.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			

# PNC2120194B1--12-60 FDOT/Division 32: Thermoplastic Solid Traffic Stripe

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp	First Offer - \$2.22	100 / linear foot	\$222.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2.29	100 / linear foot	\$229.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$2.64	100 / linear foot	\$264.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$2.875	100 / linear foot	\$287.50		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$3.96	100 / linear foot	\$396.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$4.40	100 / linear foot	\$440.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$360.00	100 / linear foot	\$36,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

## PNC2120194B1--12-61 FDOT/Division 32: Thermoplastic Traffic Stripe 18 in. Solid

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp 🏮	First Offer - \$3.34	100 / linear foot	\$334.00		Υ

	Broward County Board of County Commissioners		Ex Page 142	thibit 1 of 200	NC2120194B1
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$3.56	100 / linear foot	\$356.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$4.025	100 / linear foot	\$402.50		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$4.32	100 / linear foot	\$432.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:  ENCO, LLC	First Offer - \$4.40	Supplier Notes: 100 / linear foot	\$440.00		Υ
Product Code:	1113C OTTC: \$41,40		Ψ-10.00		•
Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$5.61		\$561.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	E: +0"	Supplier Notes:	¢26,000,00		v
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$360.00	100 / linear foot <b>Supplier Product Code:</b>	\$36,000.00		Υ
Agency Notes:		Supplier Notes:			
PNC2120194B112-62 FDOT/Division 32: Thermoplast	ic Pavement Messages and	l Symbols			
Supplier	Unit Price	e Qty/Unit	<b>Total Price</b>	Attch.	Docs
ENCO, LLC 👔	First Offer - \$121.00	10 / each	\$1,210.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	F: + 0.55 +4.00.00	Supplier Notes:	*4 200 00		.,
West Construction, Inc. [Ad]	First Offer - \$138.00		\$1,380.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$159.00		\$1,590.00		Υ
Product Code:		Supplier Product Code:	, ,		
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$187.55	10 / each	\$1,875.50		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer - \$270.00	Supplier Notes: 10 / each	\$2,700.00		Υ
MBR CONSTRUCTION, INC.	First Offer - \$270.00		\$2,700.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$360.00		\$3,600.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	F: + O.	Supplier Notes:	<b>*</b> 5.470.60		.,
Waypoint Contracting, Inc.  Product Code:	First Offer - \$517.96		\$5,179.60		Υ
Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-63 FDOT/Division 32: Thermoplast	ic Directional Arrow				
Supplier .		e Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC 🙀	First Offer - \$66.00	10 / each	\$660.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	_	Supplier Notes:			
FHP Tectonics Corp	First Offer - \$79.86	10 / each	\$798.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

	Broward County Board of			hibit 1	NC2120194B1
	County Commissioners		Page 143	of 200 · ·	10212010121
West Construction, Inc. [Ad]	First Offer - \$86.25	5 10 / each	\$862.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. 🙀	First Offer - \$90.00	) 10 / each	\$900.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$93.28	3 10 / each	\$932.80		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$180.00		\$1,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$517.96		\$5,179.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-64 FDOT/Division 32: Guide Lines					
Supplier		Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC	First Offer - \$1.00	200 / linear foot	\$200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$1.0005	200 / linear foot	\$200.10		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$1.28	200 / linear foot	\$256.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$1.38	200 / linear foot	\$276.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$2.44		\$488.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2.65	200 / linear foot	\$530.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$3.00		\$600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-65 FDOT/Division 32: Steel Guardra	il				
Supplier	Unit Price	-	Total Price	Attch.	Docs
FHP Tectonics Corp	First Offer - \$24.52	200 / linear foot	\$4,904.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$25.59		\$5,118.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$30.00	200 / linear foot	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$36.80	200 / linear foot	\$7,360.00		Υ
Product Code:		Supplier Product Code:			

	December December 1		Exhibit 1		
	Broward County Board of County Commissioners		Page 144 of 200 PNC2120194B1		
Agency Notes:	:	Supplier Notes:			
ENCO, LLC 👔	First Offer - \$46.20	200 / linear foot	\$9,240.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$55.12	200 / linear foot	\$11,024.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:  MBR CONSTRUCTION, INC.		Supplier Notes: 200 / linear foot	\$11,026.00		Υ
Product Code:		Supplier Product Code:	, ,		-
Agency Notes:		Supplier Notes:			
PNC2120194B112-66 FDOT/Division 32: Steel Guardrail, Shop Bent Panels					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp	First Offer - \$25.58	100 / linear foot	\$2,558.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$32.40	100 / linear foot	\$3,240.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$35.34	100 / linear foot	\$3,534.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]		100 / linear foot	\$3,680.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$55.12		\$5,512.00		Υ
Product Code:		Supplier Product Code:	, -, -		
Agency Notes:		Supplier Notes:			
ENCO, LLC 👔	First Offer - \$59.40	100 / linear foot	\$5,940.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.		100 / linear foot	\$7,128.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-67 FDOT/Division 32: End Anchora	ge Assembly Type II				
Supplier		e Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC	First Offer - \$132.0	0 4 / each	\$528.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
FHP Tectonics Corp 👔	First Offer - \$635.5	8 4 / each	\$2,542.32		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$780.0	0 4 / each	\$3,120.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	1		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$1,540.0		\$6,160.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
MBR CONSTRUCTION, INC.	First Offer - \$1,576.0		\$6,304.32		Υ
Product Code:	•	Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

Exhibit 1 Page 145 of 200 PNC2120194B1

Υ Waypoint Contracting, Inc. First Offer - \$2,818.91 4 / each \$11,275.64

**Product Code: Supplier Product Code: Agency Notes:** 

**Supplier Notes:** 

First Offer - \$4,025.00 4 / each \$16,100.00 Υ West Construction, Inc. [Ad]

**Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** 

#### PNC2120194B1--12-68 FDOT/Division 32: Guardrail Removal

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$2.44	100 / linear foot	\$244.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$4.40	100 / linear foot	\$440.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 🙀	First Offer - \$4.71	100 / linear foot	\$471.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$6.00	100 / linear foot	\$600.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$11.00	100 / linear foot	\$1,100.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$17.25	100 / linear foot	\$1,725.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$27.72	100 / linear foot	\$2,772.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

## PNC2120194B1--12-69 FDOT/Division 32: End Anchorage Assembly Type CRT

<del>-</del>						
Supplier		<b>Unit Price</b>	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp	First Offer	- \$2,165.68	4 / each	\$8,662.72		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer	\$2,400.00	4 / each	\$9,600.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer	- \$3,412.42	4 / each	\$13,649.68		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer	- \$3,600.00	4 / each	\$14,400.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer	- \$3,685.00	4 / each	\$14,740.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer	- \$3,950.76	4 / each	\$15,803.04		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer	- \$5,175.00	4 / each	\$20,700.00		Y

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

PNC2120194B112-70	FDOT/Division 32: End Anchorage Assembly Melt

Supplier	Unit Pric	e Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp 👔	First Offer - \$2,071.52	4 / each	\$8,286.08		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Waypoint Contracting, Inc.	First Offer - \$2,376.5	4 / each	\$9,506.04		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$2,388.00	4 / each	\$9,552.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
ENCO, LLC 🙀	First Offer - \$3,600.00	4 / each	\$14,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
MBR CONSTRUCTION, INC.	First Offer - \$3,779.16	4 / each	\$15,116.64		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
West Construction, Inc. [Ad]	First Offer - \$3,795.00	4 / each	\$15,180.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code:  Agency Notes:	First Offer - \$3,850.00	4 / each Supplier Product Code Supplier Notes:	\$15,400.00 :		Y

## PNC2120194B1--12-71 FDOT/Division 32: Reset Existing Steel Guardrail

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp 👔	First Offer - \$8.32	100 / linear foot	\$832.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$10.20	100 / linear foot	\$1,020.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$12.10	100 / linear foot	\$1,210.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$17.06	100 / linear foot	\$1,706.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$22.00	100 / linear foot	\$2,200.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$23.00	100 / linear foot	\$2,300.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$27.72	100 / linear foot	\$2,772.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

## PNC2120194B1--12-72 FDOT/Division 32: Rip Rap Fabric Formed

**Supplier Product Code:** 

**Supplier Notes:** 

**Product Code:** 

	Broward County Board of County Commissioners		Ex Page 148	thibit 1 of 200	NC2120194B1
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes:	First Offer - \$47.70	100 / linear foot Supplier Product Code: Supplier Notes:	\$4,770.00		Y
FHP Tectonics Corp	First Offer - \$49.35	100 / linear foot	\$4,935.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$54.00	100 / linear foot	\$5,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$81.25	100 / linear foot	\$8,125.00		Υ
Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$97.50	100 / linear foot	\$9,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$98.00	100 / linear foot	\$9,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B1–12-75 FDOT/Division 32: 18 in. dia. Co	oncrete Pipe				
Supplier	Unit Price	e Qty/Unit	<b>Total Price</b>	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$50.88		\$2,544.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$53.82		\$2,691.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 🙀	First Offer - \$56.75	50 / linear foot	\$2,837.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$68.40	50 / linear foot	\$3,420.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.  Product Code:	First Offer - \$103.59	50 / linear foot <b>Supplier Product Code:</b>	\$5,179.50		Υ
Agency Notes:		Supplier Notes:			
ENCO, LLC 👔	First Offer - \$104.00	50 / linear foot	\$5,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$112.50		\$5,625.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-76 FDOT/Division 32: 24 in. dia. Co	•				
Supplier West Construction los [Ad]	<b>Unit Price</b> First Offer - \$57.96	e Qty/Unit 35 / linear foot	<b>Total Price</b> \$2,028.60	Attch.	Docs Y
West Construction, Inc. [Ad]  Product Code:	riist Oilei - \$57.90	Supplier Product Code:	₽ <b>∠,U∠</b> 0.0U		ı
Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$65.72	<b>Supplier Notes:</b> 35 / linear foot	\$2,300.20		Υ
Product Code: Agency Notes:	. 1130 OHCI 403.72	Supplier Product Code: Supplier Notes:	+2,500.20		•
FHP Tectonics Corp	First Offer - \$81.92		\$2,867.20		Υ

	Broward County Board of County Commissioners		Ex Page 149	hibit 1 of 200 PN	NC2120194B1
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer - \$96.00	Supplier Notes: 35 / linear foot	\$3,360.00		Υ
MBR CONSTRUCTION, INC.			\$3,300.00		ī
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$116.00	35 / linear foot	\$4,060.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$127.97	35 / linear foot	\$4,478.95		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes: 35 / linear foot	¢6 000 00		V
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$174.00	Supplier Product Code:	\$6,090.00		Υ
Agency Notes:		Supplier Notes:			
•					
PNC2120194B112-77 FDOT/Division 32: ADA compliant	curb ramp				
Supplier	Unit Price	e Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$300.00	2 / each	\$600.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer \$220.20	Supplier Notes:	¢670.40		V
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code:	First Offer - \$339.20	2 / each Supplier Product Code:	\$678.40		Υ
Agency Notes:		Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$540.00	2 / each	\$1,080.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:  MBR CONSTRUCTION, INC.	First Offer - \$600.00	Supplier Notes:  2 / each	\$1,200.00		Υ
Product Code:	11136 01161 4000.00	Supplier Product Code:	•		•
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$770.00	2 / each	\$1,540.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$2,437.45		\$4,874.90		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$2,875.00		\$5,750.00		Υ
Product Code:		Supplier Product Code:	·		
Agency Notes:		Supplier Notes:			
PNC2120194B112-78 FDOT/Division 32: Optional Mate	rial				
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$17.50	100 / linear foot	\$1,750.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer - \$22.00	Supplier Notes:	\$2,200.00		Υ
FHP Tectonics Corp			₽ <b>∠,∠</b> ∪∪.∪∪		ı
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION INC	First Offer - \$36.00		\$3,600,00		γ

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
FHP Tectonics Corp 🙀	First Offer - \$22.00	100 / linear foot	\$2,200.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC.	First Offer - \$36.00	100 / linear foot	\$3,600.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$40.28	100 / linear foot	\$4,028.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

	Broward County Board of County Commissioners		Ex Page 150 (	hibit 1 of 200	NC2120194B1
West Construction, Inc. [Ad]	First Offer - \$41.40	100 / linear foot	\$4,140.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$98.00	100 / linear foot	\$9,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$182.81	100 / linear foot	\$18,281.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-79 FDOT/Division 32: Optional Mate					_
Supplier		Qty/Unit	Total Price	Attch.	Docs
Emerald Construction Corp. [Ad]  Product Code: Agency Notes:	First Offer - \$19.50	100 / linear foot  Supplier Product Code:  Supplier Notes:	\$1,950.00		Y
FHP Tectonics Corp	First Offer - \$41.93	100 / linear foot	\$4,193.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$42.00	100 / linear foot	\$4,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$42.40	100 / linear foot	\$4,240.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$49.68	100 / linear foot	\$4,968.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$104.00	100 / linear foot	\$10,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$121.87		\$12,187.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-80 FDOT/Division 32: Optional Mate					
Supplier		Qty/Unit	Total Price	Attch.	Docs
Emerald Construction Corp. [Ad] Product Code:	First Offer - \$37.50	100 / linear foot <b>Supplier Product Code:</b>	\$3,750.00		Υ
Agency Notes:	F: + 0.55 + 40.75	Supplier Notes:	* 4 07 5 00		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code:	First Offer - \$48.76	100 / linear foot <b>Supplier Product Code:</b>	\$4,876.00		Υ
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$55.89	100 / linear foot	\$5,589.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$59.79	100 / linear foot	\$5,979.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. $\overline{\begin{subarray}{c} \end{subarray}}$	First Offer - \$60.00	100 / linear foot	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$116.00	100 / linear foot	\$11,600.00		Y

Exhibit 1 Page 151 of 200 PNC2120194B1

Product Code: Supplier Product Code:

Agency Notes: Supplier Notes:

Waypoint Contracting, Inc. First Offer - \$127.97 100 / linear foot \$12,797.00 **Y** 

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

## PNC2120194B1--12-81 FDOT/Division 32: Filling and Plugging Pipe

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp 👔	First Offer - \$319.44	2 / cubic yard	\$638.88		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$362.25	2 / cubic yard	\$724.50		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$424.00	2 / cubic yard	\$848.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$457.02	2 / cubic yard	\$914.04		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$480.00	2 / cubic yard	\$960.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$500.00	2 / cubic yard	\$1,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$708.00	2 / cubic yard	\$1,416.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

#### PNC2120194B1--12-82 FDOT/Division 32: French Drain

PNC2120194B112-82 FDO1/Division 32: French Drain					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$93.28	25 / linear foot	\$2,332.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$114.00	25 / linear foot	\$2,850.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$127.97	25 / linear foot	\$3,199.25		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$129.375	25 / linear foot	\$3,234.375		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$163.00	25 / linear foot	\$4,075.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$272.25	25 / linear foot	\$6,806.25		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$600.00	25 / linear foot	\$15,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

DNIC2120104B1_12_92	FDOT/Division 32: Ditch Bottom Type C with grate
PINCZ 120 194B 1 12-83	FDO 1/DIVISION 32: DITCH BOTTOM TYPE C WITH grate

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$420.00	1 / each	\$420.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2,756.00	1 / each	\$2,756.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$3,630.00	1 / each	\$3,630.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$3,840.00	1 / each	\$3,840.00		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$4,554.00	1 / each	\$4,554.00		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
ENCO, LLC 👔	First Offer - \$5,500.00	1 / each	\$5,500.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$6,459.23	1 / each	\$6,459.23		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			

## PNC2120194B1--12-84 FDOT/Division 32: Ditch Bottom Type C with Curb Inlet

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$432.00	1 / each	\$432.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$3,392.00	1 / each	\$3,392.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$3,840.00	1 / each	\$3,840.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$3,902.80	1 / each	\$3,902.80		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$4,554.00	1 / each	\$4,554.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$5,118.64	1 / each	\$5,118.64		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$5,500.00	1 / each	\$5,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

## PNC2120194B1--12-85 FDOT/Division 32: Street sign with post

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$300.00	20 / each	\$6,000.00		Υ

	Broward County Board of County Commissioners		Ext Page 153 c	nibit 1 of 200 PN	IC2120194B1
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$330.00	20 / each	\$6,600.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$356.95	20 / each	\$7,139.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$381.60		\$7,632.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$481.40		\$9,628.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:  MBR CONSTRUCTION, INC.	First Offer - \$918.00	<b>Supplier Notes:</b> 20 / each	\$18,360.00		Υ
Product Code:		Supplier Product Code:	, -,		
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$977.50	20 / each	\$19,550.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-86 FDOT/Division 32: Concrete Car S Supplier	-	Qty/Unit	Total Price	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$29.68	100 / each	\$2,968.00	Atten.	Y
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer - \$33.00	Supplier Notes:	¢2 200 00		Υ
ENCO, LLC	First Offer - \$55.00	100 / each	\$3,300.00		r
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$33.88	100 / each	\$3,388.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:  West Construction, Inc. [Ad]	First Offer - \$34.30	<b>Supplier Notes:</b> 100 / each	\$3,430.00		Υ
West Construction, Inc. [Ad]	11136 01161 43 1130	Supplier Product Code:	43, 130.00		•
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$40.80	100 / each	\$4,080.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$54.84	100 / each	\$5,484.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$60.00	100 / each	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B112-87 FDOT/Division 32: Pervious Conc	rete Paving				
Supplier	Unit Price C	-	Total Price	Attch.	Docs
Waypoint Contracting, Inc.		500 / square foot	\$14,625.00		Υ
Product Code: Agency Notes:		upplier Product Code: upplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT		500 / square foot	\$15,900.00		Υ
Product Code: Agency Notes:		applier Product Code: applier Notes:			

ı	Broward County Board of County Commissioners		Exh Page 154 o	nibit 1 f 200 PNC2120194B1
ENCO, LLC 🍃	First Offer - \$12.00	1500 / square foot	\$18,000.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC.	First Offer - \$12.00	1500 / square foot	\$18,000.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$13.80	1500 / square foot	\$20,700.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Emerald Construction Corp. [Ad]	First Offer - \$14.40	1500 / square foot	\$21,600.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
FHP Tectonics Corp 👔	First Offer - \$19.36	1500 / square foot	\$29,040.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2120194B112-88 FDOT/Division 32: Permeable Inte	rlocking Concrete Pay	vers		
Supplier		Qty/Unit	<b>Total Price</b>	Attch. Docs
Waypoint Contracting, Inc.	First Offer - \$7.01	1200 / square foot	\$8,412.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC.	First Offer - \$7.34	1200 / square foot	\$8,808.00	Υ
Product Code:		Supplier Product Code:	,	
Agency Notes:		Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$8.48	1200 / square foot	\$10,176.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:	First Offer - \$13.73	Supplier Notes:	¢16 476 00	Y
FHP Tectonics Corp	FIRST Offer - \$13.73	1200 / square foot	\$16,476.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$13.80	1200 / square foot	\$16,560.00	Υ
Product Code:		Supplier Product Code:	·	
Agency Notes:		Supplier Notes:		
ENCO, LLC 👔	First Offer - \$14.40	1200 / square foot	\$17,280.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Emerald Construction Corp. [Ad]	First Offer - \$18.00	1200 / square foot	\$21,600.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2120194B112-89 FDOT/Division 32: Security Bollard	I			
Supplier		ice Qty/Unit		Attch. Docs
MBR CONSTRUCTION, INC.	First Offer - \$365.	39 4 / each	\$1,461.56	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$477.		\$1,908.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
ENCO, LLC	First Offer - \$500.		\$2,000.00	Υ
Product Code:		Supplier Product Code:	•	
Agency Notes:		Supplier Notes:		
FHP Tectonics Corp	First Offer - \$536.	80 4 / each	\$2,147.20	Y

			Ev	hibit 1	
	roward County Board of County Commissioners		Page 155		NC2120194B1
Product Code:	odiniy commissioners	Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$565.20		\$2,260.80		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$603.27	4 / each	\$2,413.08		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$862.50		\$3,450.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Agency reces.		Supplier Notes.			
PNC2120194B112-90 FDOT/Division 32: Fold-down bollar	d				
Supplier		e Qty/Unit	Total Price	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$318.00	-	\$1,272.00		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:	First Offer #201 20	Supplier Notes:	¢1 FC4 90		V
MBR CONSTRUCTION, INC.	First Offer - \$391.20		\$1,564.80		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	•		
ENCO, LLC	First Offer - \$500.00	• •	\$2,000.00		Υ
Product Code:		Supplier Product Code	•		
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 🙀	First Offer - \$536.80	) 4/each	\$2,147.20		Υ
Product Code:		Supplier Product Code	:		
Agency Notes: Waypoint Contracting, Inc.	First Offer - \$560.6	Supplier Notes:  1 4 / each	\$2,242.44		Υ
Product Code:	11136 01161 \$300.0	Supplier Product Code	•		•
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$660.00		\$2,640.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	•		
West Construction, Inc. [Ad]	First Offer - \$1,092.50		\$4,370.00		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
PNC2120194B113-01 Division 32 Irrigation: Shrub Adapte					
Supplier		Qty/Unit	Total Price	Attch.	Docs
West Construction, Inc. [Ad]	First Offer - \$17.25	20 / each	\$345.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$18.00	20 / each	\$360.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
ENCO, LLC	First Offer - \$22.00	20 / each	\$440.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:  MBR CONSTRUCTION, INC.	First Offer - \$24.50	<b>Supplier Notes:</b> 20 / each	\$490.00		Υ
Product Code:	5: 5 424.50	Supplier Product Code:	+ 150.00		-
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$41.25	20 / each	\$825.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

	Broward County Board of County Commissioners		Ex Page 156	chibit 1 of 200	NC2120194B1
Waypoint Contracting, Inc.  Product Code: Agency Notes:	First Offer - \$67.03	20 / each  Supplier Product Code: Supplier Notes:	\$1,340.60		Y
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes:	First Offer - \$93.60	20 / each  Supplier Product Code: Supplier Notes:	\$1,872.00		Y
PNC2120194B113-02 Division 32 Irrigation: Shrub Ad	•				_
Supplier  West Construction, Inc. [Ad]	Unit Price First Offer - \$17.25	<b>Qty/Unit</b> 20 / each	<b>Total Price</b> \$345.00	Attch.	Docs Y
West Construction, Inc. [Ad]  Product Code: Agency Notes:	1113CONC1 \$17.25	Supplier Product Code: Supplier Notes:	¥3 <del>4</del> 3.00		·
Emerald Construction Corp. [Ad]	First Offer - \$20.40	20 / each	\$408.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$23.00	20 / each	\$460.00		Υ
Product Code: Agency Notes:	F: O	Supplier Product Code: Supplier Notes:	* 400.00		
MBR CONSTRUCTION, INC.	First Offer - \$24.50	20 / each	\$490.00		Υ
Product Code: Agency Notes:	First Offer #44.25	Supplier Product Code: Supplier Notes:	¢925.00		V
FHP Tectonics Corp	First Offer - \$41.25	20 / each	\$825.00		Υ
Product Code: Agency Notes:	First Offer - \$73.12	Supplier Product Code: Supplier Notes: 20 / each	¢1 4C2 40		Υ
Waypoint Contracting, Inc.  Product Code: Agency Notes:	riist Ollei - \$73.12	Supplier Product Code: Supplier Notes:	\$1,462.40		ľ
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$99.45	20 / each	\$1,989.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B113-03 Division 32 Irrigation: Pop-up					
Supplier		Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$14.09	20 / each	\$281.80		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$18.40	20 / each	\$368.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$20.40	20 / each	\$408.00		Υ
Product Code: Agency Notes:	First Office #22.00	Supplier Product Code: Supplier Notes:	¢440.00		v
ENCO, LLC 👔	First Offer - \$22.00		\$440.00		Υ
Product Code: Agency Notes:	First Offer #44.25	Supplier Product Code: Supplier Notes:	¢925.00		V
FHP Tectonics Corp	First Offer - \$41.25	20 / each	\$825.00		Υ
Product Code: Agency Notes: Waynoint Contracting Inc.	First Office #54.04	Supplier Product Code: Supplier Notes:	¢1 006 90		V
Waypoint Contracting, Inc.  Product Code: Agency Notes:	First Offer - \$54.84	20 / each  Supplier Product Code: Supplier Notes:	\$1,096.80		Y
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$70.20	20 / each	\$1,404.00		Υ
Product Code:		Supplier Product Code:			

Agency Notes: Supplier Notes:

PNC2120194B113-04 Division 32 Irrigation: Pop-up					_
Supplier  MDD CONCEDUCTION INC. TO	Unit Price First Offer - \$20.46	<b>Qty/Unit</b> 20 / each	<b>Total Price</b> \$409.20	Attch.	Docs Y
MBR CONSTRUCTION, INC.	First Offer - \$20.46		\$409.20		ĭ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$21.00	20 / each	\$420.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$21.85	20 / each	\$437.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer - \$25.00	<b>Supplier Notes:</b> 20 / each	\$500.00		Υ
ENCO, LLC	1113CONCI \$23.00		4500.00		•
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$41.25	20 / each	\$825.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$60.94	20 / each	\$1,218.80		Υ
Product Code:		Supplier Product Code:			
Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$74.59	<b>Supplier Notes:</b> 20 / each	\$1,491.80		Υ
Product Code:	1113CONCI 474.33	Supplier Product Code:	Ψ1,451.00		•
Agency Notes:		Supplier Notes:			
PNC2120194B113-05 Division 32 Irrigation: Pop-up					
Supplier  MDD CONCTOURTION INC. TO		Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	<b>Unit Price</b> First Offer - \$19.22	20 / each	<b>Total Price</b> \$384.40	Attch.	Docs Y
• • •		=		Attch.	
MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad]		20 / each  Supplier Product Code: Supplier Notes: 20 / each		Attch.	
MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code:	First Offer - \$19.22	20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code:	\$384.40	Attch.	Y
MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes:	First Offer - \$19.22 First Offer - \$21.60	20 / each  Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code: Supplier Notes:	\$384.40 \$432.00	Attch.	Y
MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: West Construction, Inc. [Ad]	First Offer - \$19.22	20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Notes: 20 / each	\$384.40	Attch.	Y
MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes:	First Offer - \$19.22 First Offer - \$21.60	20 / each  Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code: Supplier Notes:	\$384.40 \$432.00	Attch.	Y
MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: West Construction, Inc. [Ad]  Product Code:	First Offer - \$19.22 First Offer - \$21.60	20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code:	\$384.40 \$432.00	Attch.	Y
MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes:	First Offer - \$19.22  First Offer - \$21.60  First Offer - \$23.00	20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Product Code: Supplier Notes:	\$384.40 \$432.00 \$460.00	Attch.	Y Y
MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes: ENCO, LLC	First Offer - \$19.22  First Offer - \$21.60  First Offer - \$23.00	20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 20 / each	\$384.40 \$432.00 \$460.00	Attch.	Y Y
MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes: ENCO, LLC	First Offer - \$19.22  First Offer - \$21.60  First Offer - \$23.00	20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code:	\$384.40 \$432.00 \$460.00	Attch.	Y Y
MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: West Construction, Inc. [Ad]  Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes:	First Offer - \$19.22  First Offer - \$21.60  First Offer - \$23.00  First Offer - \$24.00	20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Notes: 20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Notes:	\$384.40 \$432.00 \$460.00 \$480.00	Attch.	Y Y Y
MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes: FHP Tectonics Corp Product Code:	First Offer - \$19.22  First Offer - \$21.60  First Offer - \$23.00  First Offer - \$24.00	20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code:	\$384.40 \$432.00 \$460.00 \$480.00	Attch.	Y Y Y
MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes: FHP Tectonics Corp Product Code: Agency Notes: FHP Tectonics Corp Product Code: Agency Notes: FHP Tectonics Corp Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code:	First Offer - \$19.22  First Offer - \$21.60  First Offer - \$23.00  First Offer - \$24.00  First Offer - \$41.25	20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Notes: 20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code:	\$384.40 \$432.00 \$460.00 \$480.00	Attch.	Y Y Y Y
MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes: FHP Tectonics Corp Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes:	First Offer - \$19.22  First Offer - \$21.60  First Offer - \$23.00  First Offer - \$24.00  First Offer - \$41.25	20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Notes:	\$384.40 \$432.00 \$460.00 \$480.00 \$825.00 \$1,340.60	Attch.	Y Y Y Y
MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes: FHP Tectonics Corp Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes:	First Offer - \$19.22  First Offer - \$21.60  First Offer - \$23.00  First Offer - \$24.00  First Offer - \$41.25	20 / each  Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Product Code: Supplier Notes: 20 / each  Supplier Notes: 20 / each	\$384.40 \$432.00 \$460.00 \$480.00	Attch.	Y Y Y Y
MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes: FHP Tectonics Corp Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes:	First Offer - \$19.22  First Offer - \$21.60  First Offer - \$23.00  First Offer - \$24.00  First Offer - \$41.25	20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Notes:	\$384.40 \$432.00 \$460.00 \$480.00 \$825.00 \$1,340.60	Attch.	Y Y Y Y
MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes: FHP Tectonics Corp Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code:	First Offer - \$19.22  First Offer - \$21.60  First Offer - \$23.00  First Offer - \$24.00  First Offer - \$41.25	20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Notes:	\$384.40 \$432.00 \$460.00 \$480.00 \$825.00 \$1,340.60	Attch.	Y Y Y Y
MBR CONSTRUCTION, INC.  Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes: FHP Tectonics Corp Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code:	First Offer - \$19.22  First Offer - \$21.60  First Offer - \$23.00  First Offer - \$24.00  First Offer - \$41.25	20 / each  Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Product Code: Supplier Notes: 20 / each  Supplier Product Code: Supplier Notes:	\$384.40 \$432.00 \$460.00 \$480.00 \$825.00 \$1,340.60	Attch.	Y Y Y Y

	Broward County Board of County Commissioners		Ex Page 158	thibit 1 of 200	NC2120194B1
MBR CONSTRUCTION, INC.	First Offer - \$19.22	20 / each	\$384.40		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$23.00	20 / each	\$460.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$23.40	20 / each	\$468.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$25.00	20 / each	\$500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$41.25	20 / each	\$825.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$67.03		\$1,340.60		Υ
Product Code: Agency Notes:	First Office #442.64	Supplier Product Code: Supplier Notes:	¢2.252.20		V
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code:  Agency Notes:	First Offer - \$112.61	20 / each  Supplier Product Code:  Supplier Notes:	\$2,252.20		Y
PNC2120194B1–13-07 Division 32 Irrigation: Pop-up	Unit Prico	Oty/Unit	Total Price	\_	Docs
Supplier  MBR CONSTRUCTION, INC.	First Offer - \$22.75	<b>Qty/Unit</b> 20 / each	\$455.00	ALLCII.	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	,		
ENCO, LLC	First Offer - \$25.00		\$500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$25.20		\$504.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$27.60	20 / each	\$552.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$41.25	20 / each	\$825.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$79.22		\$1,584.40		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$124.31	20 / each	\$2,486.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B113-08 Division 32 Irrigation: Nozzle					
Supplier		Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$16.49	20 / each	\$329.80		Υ
Product Code: Agency Notes:	F1 . 0"	Supplier Product Code: Supplier Notes:	4400		v
Emerald Construction Corp. [Ad]	First Offer - \$20.40	20 / each	\$408.00		Υ

	Broward County Board of County Commissioners		Ex Page 159	thibit 1 of 200	NC2120194B1
Product Code:	·	Supplier Product Code:			
Agency Notes:	First Offer - \$20.70	Supplier Notes: 20 / each	\$414.00		Υ
West Construction, Inc. [Ad]   Product Code:	Filst Offer - \$20.70		\$414.00		•
Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$22.00	20 / each	\$440.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$38.50		\$770.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$60.94		\$1,218.80		Υ
Product Code:		Supplier Product Code:	, ,		
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$103.84		\$2,076.80		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B113-09 Division 32 Irrigation: Nozzle					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$19.26	20 / each	\$385.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$22.80	20 / each	\$456.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$24.15	20 / each	\$483.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$25.00	20 / each	\$500.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:  FHP Tectonics Corp	First Offer - \$39.88	<b>Supplier Notes:</b> 20 / each	\$797.60		Υ
Product Code:	11136 01161 \$33,00	Supplier Product Code:	4737.00		·
Agency Notes: Waypoint Contracting, Inc.	First Offer - \$67.03	<b>Supplier Notes:</b> 20 / each	\$1,340.60		Υ
Product Code: Agency Notes:	First Offer - \$07.05	Supplier Product Code: Supplier Notes:	\$1,540.00		ı
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$112.61		\$2,252.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B113-10 Division 32 Irrigation: Bubbler					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$7.58	20 / each	\$151.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$17.25	20 / each	\$345.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$18.00	20 / each  Supplier Product Code:  Supplier Notes:	\$360.00		Y
Agency Notes:		Supplier Notes:			

	Drawand Caunty Daged of		E	chibit 1	NC0400404D4
	Broward County Board of County Commissioners		Page 160	of 200 Pi	NC2120194B1
ENCO, LLC 👔	First Offer - \$18.00	20 / each	\$360.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$34.38	20 / each	\$687.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$42.66	20 / each	\$853.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$77.51	20 / each	\$1,550.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B113-11 Division 32 Irrigation: Pop-up					
Supplier		Qty/Unit	<b>Total Price</b>	Attch.	Docs
ENCO, LLC 👔	First Offer - \$25.00	20 / each	\$500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$34.50	20 / each	\$690.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$36.00		\$720.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$48.13		\$962.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$81.62		\$1,632.40		Υ
Product Code:		Supplier Product Code: Supplier Notes:	•		
Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$108.23	• •	\$2,164.60		Υ
Product Code: Agency Notes:	1113CONC1 \$100.23	Supplier Product Code: Supplier Notes:	<i>\$2,</i> 10-4.00		•
Waypoint Contracting, Inc.	First Offer - \$152.34		\$3,046.80		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B113-12 Division 32 Irrigation: Pop-up					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$30.00		\$600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$33.50		\$670.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$48.13		\$962.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$121.87		\$2,437.40		Υ
Product Code:		Supplier Product Code:			
Agency Notes:  ENCO, LLC	First Offer - \$129.00	<b>Supplier Notes:</b> 20 / each	\$2,580.00		Υ
Liveo, LLC	1 11 30 OHC1 - \$123,000	20, 6461	4 <i>2,3</i> 00.00		•

	Broward County Board of County Commissioners		Ex Page 161	thibit 1 of 200	NC2120194B1
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$131.45	20 / each	\$2,629.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$314.44	20 / each	\$6,288.80		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B113-13 Division 32 Irrigation: Rotor	Hait Briss	Ob all limits	Tatal Duisa	0 4 4 ala	D
Supplier FHP Tectonics Corp	First Offer - \$110.00	<b>Qty/Unit</b> 20 / each	<b>Total Price</b> \$2,200.00	Attch.	Docs Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$130.01	20 / each	\$2,600.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$160.00	20 / each	\$3,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$180.00	20 / each	\$3,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$182.81	20 / each	\$3,656.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$188.60	20 / each	\$3,772.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$279.63	20 / each	\$5,592.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B113-14 Division 32 Irrigation: QC Valve					
Supplier		Qty/Unit	<b>Total Price</b>	Attch.	Docs
ENCO, LLC	First Offer - \$105.60	10 / each	\$1,056.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$182.46	10 / each	\$1,824.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$204.00	10 / each	\$2,040.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$241.50		\$2,415.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$304.68		\$3,046.80		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$321.75		\$3,217.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

Exhibit 1 PNC2120194B1 Page 162 of 200

Υ

\$3,437.50

FHP Tectonics Corp

**Product Code:** 

**Agency Notes:** 

First Offer - \$343.75 10 / each

Supplier Product Code: Supplier Notes:

PNC2120194B1--13-15 Division 32 Irrigation: QC Key

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$66.36	5 / each	\$331.80		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$75.00	5 / each	\$375.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$75.90	5 / each	\$379.50		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$103.50	5 / each	\$517.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$171.88	5 / each	\$859.40		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$182.81	5 / each	\$914.05		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$198.90	5 / each	\$994.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2120194B1--13-16 Division 32 Irrigation: Rotor and Riser

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC 👔	First Offer - \$22.00	20 / each	\$440.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. 🙀	First Offer - \$97.16	20 / each	\$1,943.20		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$110.00	20 / each	\$2,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$138.00	20 / each	\$2,760.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$144.00	20 / each	\$2,880.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$152.34	20 / each	\$3,046.80		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$266.18	20 / each	\$5,323.60		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

	County Commissioners		Page 163	of 200	1021201
PNC2120194B113-17 Division 32 Irrigation: Pop-up					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
ENCO, LLC 🙀	First Offer - \$22.00	20 / each	\$440.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. 🙀	First Offer - \$27.00	20 / each	\$540.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. <b>[Ad]</b>	First Offer - \$34.50	20 / each	\$690.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$54.00	20 / each	\$1,080.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$55.00	20 / each	\$1,100.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$115.54	20 / each	\$2,310.80		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$121.87	20 / each	\$2,437.40		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Supplier  MBR CONSTRUCTION, INC.	<b>Unit Price</b> First Offer - \$258.00	<b>Qty/Unit</b> 20 / each	<b>Total Price</b> \$5,160.00	Attch.	Docs Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$420.00	20 / each	\$8,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$448.50	20 / each	\$8,970.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$671.38	20 / each	\$13,427.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$687.50	20 / each	\$13,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$741.49	20 / each	\$14,829.80		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
ENCO, LLC 📓	First Offer - \$978.00	20 / each	\$19,560.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B113-19 Division 32 Irrigation: Electrical		m. t.		•	_
Supplier		Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$312.00	20 / each	\$6,240.00		Y

**Supplier Product Code:** 

**Product Code:** 

	Broward County Board of County Commissioners		Ex Page 164	hibit 1 of 200	NC2120194B1
Agency Notes:	•	Supplier Notes:			
ENCO, LLC 👔	First Offer - \$331.50	20 / each	\$6,630.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$456.00	20 / each	\$9,120.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$477.25	20 / each	\$9,545.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:  FHP Tectonics Corp	First Offer - \$687.50	Supplier Notes: 20 / each	\$13,750.00		Υ
Product Code:	71136 OHEI 4007.30		¥13,730.00		•
Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$822.64	20 / each	\$16,452.80		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$931.32		\$18,626.40		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B113-20 Division 32 Irrigation: Electrical V					
Supplier		Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC	First Offer - \$411.00		\$8,220.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:  West Construction, Inc. [Ad]	First Offer - \$464.50	<b>Supplier Notes:</b> 20 / each	\$9,290.00		Υ
West Construction, Inc. [Ad]  Product Code:		Supplier Product Code:	•		•
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC. 🔓	First Offer - \$630.00	20 / each	\$12,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$720.00	20 / each	\$14,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$914.04		\$18,280.80		Υ
Product Code: Agency Notes:	First Offers #4 024 25	Supplier Product Code: Supplier Notes:			V
FHP Tectonics Corp	First Offer - \$1,031.25		\$20,625.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$1,638.00		\$32,760.00		Υ
Product Code:	,	Supplier Product Code:	•		
Agency Notes:		Supplier Notes:			
PNC2120194B113-21 Division 32 Irrigation: Electrical V Supplier	alve Unit Price	Otv/Unit	Total Price	Attch.	Docs
ENCO, LLC	First Offer - \$331.50	20 / each	\$6,630.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$393.60	20 / each	\$7,872.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

			Ex	hibit 1	
	Broward County Board of County Commissioners		Page 165	DI.	NC2120194B1
Emerald Construction Corp. [Ad]	First Offer - \$540.00	20 / each	\$10,800.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes: West Construction, Inc. [Ad]	First Offer - \$546.25	<b>Supplier Notes:</b> 20 / each	\$10,925.00		Υ
Product Code:		Supplier Product Code:	, ,		
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$609.36	20 / each	\$12,187.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$687.50	20 / each	\$13,750.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$913.77	20 / each	\$18,275.40		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B113-22 Division 32 Irrigation: Electrical	Valve				
Supplier		Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC 👔	First Offer - \$450.00	20 / each	\$9,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$564.00	20 / each	\$11,280.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$606.00	20 / each	\$12,120.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$607.20	20 / each	\$12,144.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	E: + O((	Supplier Notes:	±42.750.00		v
FHP Tectonics Corp	First Offer - \$687.50	20 / each	\$13,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$913.77	20 / each	\$18,275.40		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$970.10	20 / each	\$19,402.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B113-23 Division 32 Irrigation: Electrical	Valve				
Supplier		e Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$630.00	20 / each	\$12,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
West Construction, Inc. [Ad]	First Offer - \$949.40	20 / each	\$18,988.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$960.00		\$19,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
ENCO, LLC 👔	First Offer - \$1,006.00	20 / each	\$20,120.00		Υ

Broward County Board of

Exhibit 1

Page 166 of 200

PNC2120194B1

PNC2120194B113-26 Division 32 Irrigation: Irrigation Co	ontroller				
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
ENCO, LLC 🙀	First Offer - \$48.30	1 / each	\$48.30		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
West Construction, Inc. [Ad]	First Offer - \$82.63	1 / each	\$82.63		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
MBR CONSTRUCTION, INC.	First Offer - \$187.90	1 / each	\$187.90		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
FHP Tectonics Corp 👔	First Offer - \$523.60	1 / each	\$523.60		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$1,907.10	1 / each	\$1,907.10		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Waypoint Contracting, Inc.	First Offer - \$1,986.52	1 / each	\$1,986.52		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$16,800.00	1 / each	\$16,800.00		Υ
Product Code:		<b>Supplier Product Code</b>	:		

**Supplier Notes:** 

#### PNC2120194B1--13-27 Division 32 Irrigation: Irrigation Controller

FINCE 120194D113-27 DIVISION 32 II TIGALION. II TIGALION CO	iitioliei				
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
ENCO, LLC	First Offer - \$163.00	1 / each	\$163.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
MBR CONSTRUCTION, INC.	First Offer - \$177.28	1 / each	\$177.28		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
West Construction, Inc. [Ad]	First Offer - \$276.88	1 / each	\$276.88		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
FHP Tectonics Corp 👔	First Offer - \$814.00	1 / each	\$814.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2,076.75	1 / each	\$2,076.75		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Waypoint Contracting, Inc.	First Offer - \$2,163.23	1 / each	\$2,163.23		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$19,200.00	1 / each	\$19,200.00		Υ
Product Code:		<b>Supplier Product Code</b>	:		

Agency Notes: Supplier Notes:

PNC2120194B113-28 Division 32 Irrigation: Irrigation Conf	roller				
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
ENCO, LLC 👔	First Offer - \$326.00	1 / each	\$326.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$348.23	1 / each	\$348.23		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$1,008.90	1 / each	\$1,008.90		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$1,333.20	1 / each	\$1,333.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2,082.60	1 / each	\$2,082.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$6,093.61	1 / each	\$6,093.61		Y

**Supplier Product Code:** 

Supplier Product Code: Supplier Notes:

\$21,600.00

Υ

**Supplier Notes:** 

First Offer - \$21,600.00 1 / each

## PNC2120194B1--13-29 Division 32 Irrigation: Irrigation Controller

**Product Code:** 

**Agency Notes:** 

**Product Code:** 

**Agency Notes:** 

Emerald Construction Corp. [Ad]

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
ENCO, LLC 🙀	First Offer - \$400.00	1 / each	\$400.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
MBR CONSTRUCTION, INC.	First Offer - \$401.21	1 / each	\$401.21		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
West Construction, Inc. [Ad]	First Offer - \$1,275.00	1 / each	\$1,275.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2,310.75	1 / each	\$2,310.75		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
FHP Tectonics Corp 👔	First Offer - \$2,666.40	1 / each	\$2,666.40		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Waypoint Contracting, Inc.	First Offer - \$6,093.61	1 / each	\$6,093.61		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$22,800.00	1 / each	\$22,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

## PNC2120194B1--13-30 Division 32 Irrigation: Irrigation Controller

Supplier	Unit Price Qty/Unit	Total Price Attch.	Docs
----------	---------------------	--------------------	------

Exhibit 1

	Broward County Board of			hibit 1	IC2120194B1
	County Commissioners		Page 170 (	of 200 ' '`	102 120 1940 1
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
FHP Tectonics Corp 🔓	First Offer - \$3,092.10	1 / each	\$3,092.10		Υ
Product Code:		Supplier Product Code	•		
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$3,311.00		\$3,311.00		Υ
Product Code:		Supplier Product Code	:		
Agency Notes: Waypoint Contracting, Inc.	First Offer - \$3,448.99	<b>Supplier Notes:</b> 1 / each	\$3,448.99		Υ
Product Code:	11136 31161 43, 110.33	Supplier Product Code			-
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$4,024.20	1 / each	\$4,024.20		Υ
Product Code:		Supplier Product Code	•		
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$23,760.00		\$23,760.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	•		
<b>3</b> ,					
PNC2120194B113-33 Division 32 Irrigation: Irrigation	Controller				
Supplier		Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$1,575.78	<del>-</del>	\$1,575.78		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
ENCO, LLC 👔	First Offer - \$1,766.00	1 / each	\$1,766.00		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:	Fig. 42 266 00	Supplier Notes:	#2.266.00		v
FHP Tectonics Corp	First Offer - \$3,366.00		\$3,366.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	•		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$3,486.60		\$3,486.60		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$3,631.79		\$3,631.79		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
West Construction, Inc. [Ad]	First Offer - \$4,377.60	1 / each	\$4,377.60		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:	First Offer \$25,200,00	<b>Supplier Notes:</b> 1 / each	¢2E 200 00		Υ
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$25,200.00	Supplier Product Code	\$25,200.00 •		Ī
Agency Notes:		Supplier Notes:	•		
PNC2120194B113-34 Division 32 Irrigation: Irrigation	Controller				
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$1,792.50	1 / each	\$1,792.50		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
ENCO, LLC 🙀	First Offer - \$2,015.00		\$2,015.00		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$3,662.10	1 / each	\$3,662.10		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

	Broward County Board of		Ex Page 171	chibit 1	NC2120194B1
W	County Commissioners	4.7	· ·	01 200	v
Waypoint Contracting, Inc.  Product Code:	First Offer - \$3,814.60	1 / each Supplier Product Code:	\$3,814.60		Υ
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$3,837.90		\$3,837.90		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$4,992.00	1 / each	\$4,992.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$27,000.00	1 / each	\$27,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B113-35 Division 32 Irrigation: Irrigation	Controller Grounding				
Supplier		Qty/Unit	<b>Total Price</b>	Attch.	Docs
ENCO, LLC 👔	First Offer - \$598.00	5 / each	\$2,990.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$1,500.00	5 / each	\$7,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$1,828.08	5 / each	\$9,140.40		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$1,846.63	5 / each	\$9,233.15		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$1,955.00		\$9,775.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$3,299.40		\$16,497.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$19,200.00		\$96,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	•		
PNC2120194B1–13-36 Division 32 Irrigation: Flow Sens	or				
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
ENCO, LLC 👔	First Offer - \$68.00	2 / each	\$136.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:	E: +0(( +((0.00)	Supplier Notes:	¢4 220 00		v
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$660.00	2 / each	\$1,320.00		Υ
Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$1,122.95		\$2,245.90		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$1,551.00	2 / each	\$3,102.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$1,610.00	2 / each	\$3,220.00		Y

**Supplier Notes:** 

Exhibit 1 PNC2120194B1

Waypoint Contracting, Inc. First Offer - \$2,638.53 3 / each \$7,915.59 **Y** 

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

## PNC2120194B1--14-02 Division 33: PVC Drain Basin with grate

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$72.00	3 / each	\$216.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$1,552.50	3 / each	\$4,657.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$1,629.00	3 / each	\$4,887.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$2,499.20	3 / each	\$7,497.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$2,554.62	3 / each	\$7,663.86		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2,809.00	3 / each	\$8,427.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$2,876.19	3 / each	\$8,628.57		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

## PNC2120194B1--14-03 Division 33: PVC Water Sewer Main

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$24.98	300 / linear foot	\$7,494.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$44.52	300 / linear foot	\$13,356.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$48.00	300 / linear foot	\$14,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$49.68	300 / linear foot	\$14,904.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$50.00	300 / linear foot	\$15,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$102.85	300 / linear foot	\$30,855.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$114.00	300 / linear foot	\$34,200.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

#### PNC2120194B1--14-04 Division 33: PVC Water Sewer Main

PNC2120194B114-04 Division 33: PVC Water Sewer Main					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$40.83	200 / linear foot	\$8,166.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$53.00	200 / linear foot	\$10,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$57.60	200 / linear foot	\$11,520.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$60.00	200 / linear foot	\$12,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$67.02	200 / linear foot	\$13,404.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$74.52	200 / linear foot	\$14,904.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 🙀	First Offer - \$121.00	200 / linear foot	\$24,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

## PNC2120194B1--14-05 Division 33: DI Water Sewer Main

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$68.90	100 / linear foot	\$6,890.00		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$70.00	100 / linear foot	\$7,000.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$70.69	100 / linear foot	\$7,069.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$78.00	100 / linear foot	\$7,800.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$86.94	100 / linear foot	\$8,694.00		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$102.85	100 / linear foot	\$10,285.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$456.00	100 / linear foot	\$45,600.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

## PNC2120194B1--14-06 Division 33: DI Water Sewer Main

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$76.32	100 / linear foot	\$7,632.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

	Broward County Board of County Commissioners		Ext Page 175 c	hibit 1 of 200 PN	IC2120194B1
Waypoint Contracting, Inc.	First Offer - \$80.44	100 / linear foot	\$8,044.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
ENCO, LLC 🍃	First Offer - \$90.00	100 / linear foot	\$9,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$90.00	100 / linear foot	\$9,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	·		
Emerald Construction Corp. [Ad]	First Offer - \$96.00	100 / linear foot	\$9,600.00		Υ
Product Code:	1.1100 0.1101 4.50100	Supplier Product Code:	+3/000.00		•
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$100.395	100 / linear foot	\$10,039.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$114.95	100 / linear foot	\$11,495.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	,		
PNC2120194B114-07 Division 33: DI Water Sewer Mai					
Supplier	Unit Price	• •	Total Price	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$93.28	100 / linear foot	\$9,328.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer #00.00	Supplier Notes:	¢0.000.00		V
MBR CONSTRUCTION, INC.	First Offer - \$96.00	100 / linear foot	\$9,600.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offs	Supplier Notes:	¢0.620.00		v
Waypoint Contracting, Inc.  Product Code:	First Offer - \$96.28	100 / linear foot	\$9,628.00		Υ
Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$110.00		\$11,000.00		Υ
			4 / 0 0 0 1 0 0		•
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$125.25	100 / linear foot	\$12,525.00		Υ
LA			+ / 5 _ 5 . 5 . 5		•
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$139.15	100 / linear foot	\$13,915.00		Υ
Product Code:	1113C OHEL \$133.13	Supplier Product Code:	¥13,313.00		•
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$240.00	100 / linear foot	\$24,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B114-08 Division 33: Gate Valve with Box					
Supplier		ce Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp 👔	First Offer - \$907.5	0 10 / each	\$9,075.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$1,182.9		\$11,829.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$1,400.0	0 10 / each	\$14,000.00		Υ

First Offer - \$3,200.00

**Supplier Notes:** 

**Supplier Notes:** 

Supplier Product Code:

3 / each

Υ

\$9,600.00

**Agency Notes:** 

ENCO, LLC 🔓

**Product Code:** 

	County Commissioners		1 agc 177 01 200	
West Construction, Inc. [Ad]	First Offer - \$4,036.50	3 / each	\$12,109.50	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC.	First Offer - \$4,200.00	3 / each	\$12,600.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$4,661.61	3 / each	\$13,984.83	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

# PNC2120194B1--14-11 Division 33: Tapping Sleeve and Valve

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp 👔	First Offer - \$2,299.00	5 / assembly	\$11,495.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$3,392.00	5 / assembly	\$16,960.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$4,077.22	5 / assembly	\$20,386.10		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Waypoint Contracting, Inc.	First Offer - \$4,996.76	5 / assembly	\$24,983.80		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
ENCO, LLC 👔	First Offer - \$5,600.00	5 / assembly	\$28,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
MBR CONSTRUCTION, INC. 🙀	First Offer - \$5,640.00	5 / assembly	\$28,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
West Construction, Inc. [Ad]	First Offer - \$6,106.50	5 / assembly	\$30,532.50		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

## PNC2120194B1--14-12 Division 33: Tapping Sleeve and Valve

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp	First Offer - \$2,662.00	3 / assembly	\$7,986.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$5,088.00	3 / assembly	\$15,264.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$5,400.00	3 / assembly	\$16,200.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$6,093.61	3 / assembly	\$18,280.83		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$6,500.00	3 / assembly	\$19,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$7,141.50	3 / assembly	\$21,424.50		Υ

Exhibit 1 Page 178 of 200 PNC2120194B1

**Supplier Product Code: Product Code: Supplier Notes: Agency Notes:** 

MBR CONSTRUCTION, INC. First Offer - \$7,200.00 3 / assembly \$21,600.00 Υ

**Supplier Product Code: Product Code: Agency Notes: Supplier Notes:** 

## PNC2120194B1--14-13 Division 33: Tapping Sleeve and Valve

Supplier	Unit Pri	ce Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp	First Offer - \$3,509.0	0 2 / assembly	\$7,018.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$7,314.0	0 2 / assembly	\$14,628.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Emerald Construction Corp. [Ad]	First Offer - \$8,220.0	0 2 / assembly	\$16,440.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Waypoint Contracting, Inc.	First Offer - \$9,070.9	5 2 / assembly	\$18,141.90		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
MBR CONSTRUCTION, INC.	First Offer - \$9,600.0	0 2 / assembly	\$19,200.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	de:		
ENCO, LLC	First Offer - \$9,649.0	0 2 / assembly	\$19,298.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
West Construction, Inc. [Ad]	First Offer - \$100,039.5	0 2 / assembly	\$200,079.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		

## PNC2120194B1--14-14 Division 33: Plug Valve

Tivez 12015451-14-14 Division 55.1 lug valve					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp 👔	First Offer - \$726.00	3 / each	\$2,178.00		Y
Product Code:		<b>Supplier Product Code</b>	:		
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2,226.00	3 / each	\$6,678.00		Υ
Product Code:		<b>Supplier Product Code</b>	:		
Agency Notes:		Supplier Notes:			
ENCO, LLC	First Offer - \$2,400.00	3 / each	\$7,200.00		Y
Product Code:		<b>Supplier Product Code</b>	:		
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$2,484.00	3 / each	\$7,452.00		Y
Product Code:		<b>Supplier Product Code</b>	:		
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$3,240.00	3 / each	\$9,720.00		Y
Product Code:		<b>Supplier Product Code</b>	:		
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$3,778.04	3 / each	\$11,334.12		Υ
Product Code:		<b>Supplier Product Code</b>	:		
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$3,790.00	3 / each	\$11,370.00		Υ
Product Code:		<b>Supplier Product Code</b>	:		
Agency Notes:		Supplier Notes:			

PNC2120194B114-15 Division 33: Plug Valve					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
FHP Tectonics Corp	First Offer - \$968.00	3 / each	\$2,904.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$1,800.00	3 / each	\$5,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2,491.00	3 / each	\$7,473.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$2,500.00	3 / each	\$7,500.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer \$2.200 E0	<b>Supplier Notes:</b> 3 / each	\$9,625.50		Υ
West Construction, Inc. [Ad]	First Offer - \$3,208.50		\$9,025.50		ĭ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$3,600.00	3 / each	\$10,800.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$4,570.21	3 / each	\$13,710.63		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B114-16 Division 33: DDCV for Fire Services					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$6,148.00	2 / assembly	\$12,296.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$9,000.00	2 / assembly	\$18,000.00		Υ
Product Code:			•		
Agency Notes:		Supplier Product Code Supplier Notes:	•		
	First Offer - \$9,801.00	Supplier Notes:	•		Y
Agency Notes:	First Offer - \$9,801.00	Supplier Notes:	\$19,602.00		Υ
Agency Notes:  FHP Tectonics Corp  Product Code:	First Offer - \$9,801.00  First Offer - \$10,500.00	Supplier Notes: 2 / assembly Supplier Product Code Supplier Notes:	\$19,602.00		Y
Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:		Supplier Notes: 2 / assembly Supplier Product Code Supplier Notes:	\$19,602.00 : \$21,000.00		
Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  ENCO, LLC  Product Code:		Supplier Notes: 2 / assembly  Supplier Product Code Supplier Notes: 2 / assembly  Supplier Product Code Supplier Notes:	\$19,602.00 : \$21,000.00		
Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  ENCO, LLC  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.	First Offer - \$10,500.00	Supplier Notes: 2 / assembly  Supplier Product Code Supplier Notes: 2 / assembly  Supplier Product Code Supplier Notes: 2 / assembly  Supplier Product Code	\$19,602.00 \$21,000.00 \$22,800.00		Y
Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  ENCO, LLC  Product Code: Agency Notes:  MBR CONSTRUCTION, INC. Product Code: Agency Notes:	First Offer - \$10,500.00	Supplier Notes: 2 / assembly  Supplier Product Code Supplier Notes: 2 / assembly  Supplier Product Code Supplier Notes: 2 / assembly	\$19,602.00 \$21,000.00 \$22,800.00		Y
Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  ENCO, LLC  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes:  Waypoint Contracting, Inc. Product Code:	First Offer - \$10,500.00  First Offer - \$11,400.00	Supplier Notes: 2 / assembly  Supplier Product Code	\$19,602.00 \$21,000.00 \$22,800.00 \$22,851.06		Y
Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  ENCO, LLC  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:	First Offer - \$10,500.00  First Offer - \$11,400.00  First Offer - \$11,425.53	Supplier Notes:  2 / assembly  Supplier Product Code Supplier Notes:	\$19,602.00 \$21,000.00 \$22,800.00 \$22,851.06		Y Y
Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  ENCO, LLC  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:  West Construction, Inc. [Ad]	First Offer - \$10,500.00  First Offer - \$11,400.00	Supplier Notes: 2 / assembly  Supplier Product Code Supplier Notes: 2 / assembly  Supplier Product Code Supplier Notes: 2 / assembly  Supplier Product Code Supplier Notes: 2 / assembly  Supplier Notes: 2 / assembly  Supplier Product Code Supplier Notes: 2 / assembly	\$19,602.00 \$21,000.00 \$22,800.00 \$22,851.06 \$25,254.00		Y
Agency Notes:  FHP Tectonics Corp  Product Code: Agency Notes:  ENCO, LLC  Product Code: Agency Notes:  MBR CONSTRUCTION, INC.  Product Code: Agency Notes:  Waypoint Contracting, Inc.  Product Code: Agency Notes:	First Offer - \$10,500.00  First Offer - \$11,400.00  First Offer - \$11,425.53	Supplier Notes:  2 / assembly  Supplier Product Code Supplier Notes:	\$19,602.00 \$21,000.00 \$22,800.00 \$22,851.06 \$25,254.00		Y Y
Agency Notes: FHP Tectonics Corp Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes: MBR CONSTRUCTION, INC. Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes:	First Offer - \$10,500.00  First Offer - \$11,400.00  First Offer - \$11,425.53  First Offer - \$12,627.00	Supplier Notes:  2 / assembly  Supplier Product Code Supplier Notes:  2 / assembly  Supplier Notes:	\$19,602.00 \$21,000.00 \$22,800.00 \$22,851.06 \$25,254.00		Y Y
Agency Notes: FHP Tectonics Corp Product Code: Agency Notes: ENCO, LLC Product Code: Agency Notes: MBR CONSTRUCTION, INC. Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes:	First Offer - \$10,500.00  First Offer - \$11,400.00  First Offer - \$11,425.53  First Offer - \$12,627.00	Supplier Notes:  2 / assembly  Supplier Product Code Supplier Notes:  2 / assembly  Supplier Notes:  2 / assembly  Supplier Notes:	\$19,602.00 \$21,000.00 \$22,800.00 \$22,851.06 \$25,254.00	Attch.	Y Y

Emerald Construction Corp. [Ad]	First Offer - \$86.94	30 / each	\$2,608.20	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

	Broward County Board of County Commissioners		Ex Page 181	hibit 1 of 200	NC2120194B1
ENCO, LLC 🍃	First Offer - \$100.00	30 / each	\$3,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
FHP Tectonics Corp	First Offer - \$145.20	30 / each	\$4,356.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
West Construction, Inc. [Ad]	First Offer - \$168.705	30 / each	\$5,061.15		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
MBR CONSTRUCTION, INC.	First Offer - \$240.00		\$7,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
Waypoint Contracting, Inc.	First Offer - \$918.92	30 / each	\$27,567.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
PNC2120194B114-20 Division 33: Mechanical Joint Re	estraints for PVC				
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$95.40	30 / each	\$2,862.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$120.00	30 / each	\$3,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$145.20	30 / each	\$4,356.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$184.20	30 / each	\$5,526.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$202.05		\$6,061.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$300.00	30 / each	\$9,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$938.42	30 / each	\$28,152.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B114-21 Division 33: Mechanical Joint Re	estraints for PVC				
Supplier		e Qty/Unit	<b>Total Price</b>	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$127.20		\$2,544.00		Υ
Product Code:		Supplier Product Code Supplier Notes:	:		
Agency Notes:  FHP Tectonics Corp	First Offer - \$169.40		\$3,388.00		Υ
	50 One 1 \$105.40				•
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	•		
ENCO, LLC	First Offer - \$200.00		\$4,000.00		Υ
Product Code:		Supplier Product Code	:		

First Offer - \$227.70 20 / each

Agency Notes:

West Construction, Inc. [Ad]

Supplier Notes:

\$4,554.00

Υ

	County Commissioners			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Emerald Construction Corp. [Ad]	First Offer - \$229.14	20 / each	\$4,582.80	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC.	First Offer - \$360.00	20 / each	\$7,200.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$1,029.82	20 / each	\$20,596.40	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

# PNC2120194B1--14-22 Division 33: Mechanical Joint Restraints for DI

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$79.50	30 / each	\$2,385.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$88.25	30 / each	\$2,647.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$95.00	30 / each	\$2,850.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$133.10	30 / each	\$3,993.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$168.705	30 / each	\$5,061.15		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$240.00	30 / each	\$7,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$1,035.91	30 / each	\$31,077.30		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

# PNC2120194B1--14-23 Division 33: Mechanical Joint Restraints for DI

i i tell 120 i 5 i 5 i 1 i 25 di i	units 101 51					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs	
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$95.40	30 / each	\$2,862.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Emerald Construction Corp. [Ad]	First Offer - \$116.92	30 / each	\$3,507.60		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
ENCO, LLC	First Offer - \$120.00	30 / each	\$3,600.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
FHP Tectonics Corp	First Offer - \$145.20	30 / each	\$4,356.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
West Construction, Inc. [Ad]	First Offer - \$202.86	30 / each	\$6,085.80		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

Exhibit 1 Page 183 of 200 PNC2120194B1

MBR CONSTRUCTION, INC. First Offer - \$300.00 30 / each \$9,000.00 Υ **Supplier Product Code: Product Code:** 

**Supplier Notes: Agency Notes:** 

Υ Waypoint Contracting, Inc. First Offer - \$1,050.54 30 / each \$31,516.20

**Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** 

### PNC2120194B1--14-24 Division 33: Mechanical Joint Restraints for DI

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp 👔	First Offer - \$169.40	20 / each	\$3,388.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
Emerald Construction Corp. [Ad]	First Offer - \$180.00	20 / each	\$3,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
ENCO, LLC 🙀	First Offer - \$200.00	20 / each	\$4,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
West Construction, Inc. [Ad]	First Offer - \$217.35	20 / each	\$4,347.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
MBR CONSTRUCTION, INC. 👔	First Offer - \$360.00	20 / each	\$7,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
Waypoint Contracting, Inc.	First Offer - \$1,244.32	20 / each	\$24,886.40		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$1,282.60	20 / each	\$25,652.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		

### DNC2120104R1...14-25 Division 33: Fire Hydrant

PNC2120194B114-25 Division 33: Fire Hydrant					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp	irst Offer - \$3,509.00	4 / each	\$14,036.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	irst Offer - \$4,028.00	4 / each	\$16,112.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	irst Offer - \$4,657.50	4 / each	\$18,630.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	irst Offer - \$4,800.00	4 / each	\$19,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	irst Offer - \$5,000.00	4 / each	\$20,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	irst Offer - \$5,040.00	4 / each	\$20,160.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	irst Offer - \$8,104.51	4 / each	\$32,418.04		Υ

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

PNC2120194B114-26	Division 33: Poly	yethylene Water Service
-------------------	-------------------	-------------------------

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$6.00	100 / linear foot	\$600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$6.09	100 / linear foot	\$609.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$12.00	100 / linear foot	\$1,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$12.50	100 / linear foot	\$1,250.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$15.525	100 / linear foot	\$1,552.50		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$18.02	100 / linear foot	\$1,802.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$30.25	100 / linear foot	\$3,025.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

# PNC2120194B1--14-27 Division 33: Polyethylene Water Service

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$7.20	300 / linear foot	\$2,160.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$8.53	300 / linear foot	\$2,559.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
ENCO, LLC 👔	First Offer - \$13.50	300 / linear foot	\$4,050.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$14.40	300 / linear foot	\$4,320.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$18.02	300 / linear foot	\$5,406.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$18.63	300 / linear foot	\$5,589.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$30.25	300 / linear foot	\$9,075.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

### PNC2120194B1--14-28 Division 33: Polyethylene Water Service

	Broward County Board of County Commissioners		Ex Page 185 (	hibit 1 of 200 Pi	NC2120194B1
Supplier		Qty/Unit	Total Price	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$9.60	300 / linear foot	\$2,880.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$14.62		\$4,386.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$15.00		\$4,500.00		Υ
Product Code:		Supplier Product Code:	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		-
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$18.00		\$5,400.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$18.02	300 / linear foot	\$5,406.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	5' . 0'' . +04 705	Supplier Notes:	+< =00 =0		
West Construction, Inc. [Ad]	First Offer - \$21.735	300 / linear foot	\$6,520.50		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer - \$36.30	Supplier Notes: 300 / linear foot	\$10,890.00		Υ
FHP Tectonics Corp	riist Ollei - \$30.30		\$10,090.00		1
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Agency Notes		Supplier Hotes.			
PNC2120194B114-29 Division 33: PVC Sch. 40 Water S	ervice				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$6.09	100 / linear foot	\$609.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$9.00	100 / linear foot	\$900.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$9.00		\$900.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$12.00	100 / linear foot	\$1,200.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$13.455	100 / linear foot	\$1,345.50		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$19.08		\$1,908.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer - \$39.93	100 / linear foot	\$3,993.00		Υ
Product Code:		Supplier Product Code:	10/220100		
Agency Notes:		Supplier Notes:			
PNC2120194B114-30 Division 33: PVC Sch. 40 Water S	ervice				
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$7.43	300 / linear foot	\$2,229.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer - \$9.00	<b>Supplier Notes:</b> 300 / linear foot	\$2,700.00		Υ
	1 11 31 OHEI - \$5,00	5007 iiricai 100t	42,700.00		•



Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Emerald Construction Corp. [Ad]	First Offer - \$9.60	300 / linear foot	\$2,880.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC. 👔	First Offer - \$14.40	300 / linear foot	\$4,320.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$16.56	300 / linear foot	\$4,968.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$19.08	300 / linear foot	\$5,724.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
FHP Tectonics Corp	First Offer - \$42.35	300 / linear foot	\$12,705.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

#### PNC2120194B1--14-31 Division 33: PVC Sch. 40 Water Service

Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
First Offer - \$6.72	300 / linear foot	\$2,016.00		Υ
	<b>Supplier Product Code:</b>			
	Supplier Notes:			
First Offer - \$15.00	300 / linear foot	\$4,500.00		Υ
	<b>Supplier Product Code:</b>			
	Supplier Notes:			
First Offer - \$18.00	300 / linear foot	\$5,400.00		Y
	<b>Supplier Product Code:</b>			
	Supplier Notes:			
First Offer - \$18.28	300 / linear foot	\$5,484.00		Υ
	<b>Supplier Product Code:</b>			
	Supplier Notes:			
First Offer - \$21.20	300 / linear foot	\$6,360.00		Υ
	<b>Supplier Product Code:</b>			
	Supplier Notes:			
First Offer - \$21.735	300 / linear foot	\$6,520.50		Y
	<b>Supplier Product Code:</b>			
	Supplier Notes:			
First Offer - \$49.61	300 / linear foot	\$14,883.00		Υ
	Supplier Product Code:			
	Supplier Notes:			
	First Offer - \$6.72  First Offer - \$15.00  First Offer - \$18.00  First Offer - \$18.28  First Offer - \$21.20  First Offer - \$21.735	Supplier Product Code: Supplier Notes:  First Offer - \$15.00 300 / linear foot  Supplier Product Code: Supplier Notes:  First Offer - \$18.00 300 / linear foot  Supplier Product Code: Supplier Notes:  First Offer - \$18.28 300 / linear foot  Supplier Product Code: Supplier Product Code: Supplier Notes:  First Offer - \$21.20 300 / linear foot  Supplier Product Code: Supplier Notes:  First Offer - \$21.735 300 / linear foot  Supplier Product Code: Supplier Notes:  First Offer - \$49.61 300 / linear foot  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:	First Offer - \$6.72	First Offer - \$6.72

# PNC2120194B1--14-32 Division 33: Water Service Connection

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp	First Offer - \$726.00	5 / each	\$3,630.00		Y
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
ENCO, LLC	First Offer - \$750.00	5 / each	\$3,750.00		Y
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$826.80	5 / each	\$4,134.00		Υ

First Offer - \$1,419.81

10 / each

Supplier Product Code: Supplier Notes:

\$14,198.10

Υ

Waypoint Contracting, Inc.

**Product Code:** 

**Agency Notes:** 

	County Commissioners		Page 100 01 200		
FHP Tectonics Corp	First Offer - \$1,452.00	10 / each	\$14,520.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$1,600.80	10 / each	\$16,008.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2,226.00	10 / each	\$22,260.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2120194B114-35 Division 33: 2 in. Above Ground RPZ						
Supplier		<b>Unit Price</b>	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer	- \$1,176.00	10 / each	\$11,760.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer	- \$1,500.00	10 / each	\$15,000.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	:		
West Construction, Inc. [Ad]	First Offer	- \$1,552.50	10 / each	\$15,525.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	:		
MBR CONSTRUCTION, INC.	First Offer	- \$2,160.00	10 / each	\$21,600.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	:		
FHP Tectonics Corp 👔	First Offer	- \$2,178.00	10 / each	\$21,780.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	:		
Waypoint Contracting, Inc.	First Offer	- \$2,470.35	10 / each	\$24,703.50		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			

First Offer - \$2,639.40 10 / each

\$26,394.00

**Supplier Product Code:** 

**Supplier Notes:** 

Υ

# PNC2120194B1--14-36 Division 33: PVC Water Sewer Service

H G CONSTRUCTION DEVELOPMENT & INVESTMENT

**Product Code:** 

**Agency Notes:** 

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$14.40	300 / linear foot	\$4,320.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$21.94	300 / linear foot	\$6,582.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$22.70	300 / linear foot	\$6,810.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$24.00	300 / linear foot	\$7,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$25.00	300 / linear foot	\$7,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$31.80	300 / linear foot	\$9,540.00		Υ

	Broward County Board of County Commissioners		Exhibi Page 189 of 2	t 1 00 PNC2120194B1
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
FHP Tectonics Corp	First Offer - \$36.30	300 / linear foot	\$10,890.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2120194B114-37 Division 33: Sewer Service				
Supplier	Unit Price	Qty/Unit	Total Price At	tch. Docs
Waypoint Contracting, Inc.	First Offer - \$12.19	300 / linear foot	\$3,657.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC. 🔓	First Offer - \$18.00	300 / linear foot	\$5,400.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$18.63	300 / linear foot	\$5,589.00	Υ

**Supplier Product Code:** 

**Supplier Product Code:** 

\$6,360.00

**Supplier Notes:** 

**Supplier Notes:** 

First Offer - \$21.20 300 / linear foot

**Product Code:** 

**Agency Notes:** 

Product Code: Agency Notes:

H G CONSTRUCTION DEVELOPMENT & INVESTMENT

Agency Notes.		Supplier Hotes.			
ENCO, LLC 🙀	First Offer - \$25.00	300 / linear foot	\$7,500.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$30.00	300 / linear foot	\$9,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$36.30	300 / linear foot	\$10,890.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
PNC2120194B114-38 Division 33: Sewer Service					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$16.45	300 / linear foot	\$4,935.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$21.735	300 / linear foot	\$6,520.50		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$24.00	300 / linear foot	\$7,200.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
ENCO, LLC 🙀	First Offer - \$25.00	300 / linear foot	\$7,500.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$28.62	300 / linear foot	\$8,586.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$31.20	300 / linear foot	\$9,360.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 🙀	First Offer - \$36.30	300 / linear foot	\$10,890.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PNC2120194B114-39 Division 33: Sewer Service					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$18.10	300 / linear foot	\$5,430.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes: Emerald Construction Corp. [Ad]	First Offer - \$24.00	<b>Supplier Notes:</b> 300 / linear foot	\$7,200.00		Υ
Product Code:	First Offer - \$24.00	Supplier Product Code:	\$7,200.00		•
Agency Notes:		Supplier Notes:			
ENCO, LLC	First Offer - \$25.00	300 / linear foot	\$7,500.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$25.875	300 / linear foot	\$7,762.50		Y
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer - \$30.00	<b>Supplier Notes:</b> 300 / linear foot	\$9,000.00		Υ
MBR CONSTRUCTION, INC.	First Offer - \$30.00		¥9,000.00		ĭ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$33.92	• •	\$10,176.00		Υ
Product Code:		Supplier Product Code:	• •		
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$54.45	300 / linear foot	\$16,335.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
PNC2120194B114-40 Division 33: Sewer Service					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer - \$24.00	300 / linear foot	\$7,200.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:	¢7.211.00		v
Waypoint Contracting, Inc.  Product Code:	First Offer - \$24.37	300 / linear foot <b>Supplier Product Code:</b>	\$7,311.00		Y
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$36.00	300 / linear foot	\$10,800.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
ENCO, LLC	First Offer - \$40.00	300 / linear foot	\$12,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:	*40.004.00		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT		300 / linear foot	\$12,084.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$43.37	300 / linear foot	\$13,011.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$78.65	300 / linear foot	\$23,595.00		Y
		Supplier Product Code:			
Product Code: Agency Notes:		Supplier Notes:			
Agency Notes:  PNC2120194B114-41 Division 33: Sewer Service		Supplier Notes:	T		
Agency Notes:		Supplier Notes:  Qty/Unit	<b>Total Price</b> \$6,480.00	Attch.	Docs Y

	Broward County Board of County Commissioners		Ex Page 191	hibit 1 of 200 PNC2120194B1
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:		
Waypoint Contracting, Inc.	First Offer - \$24.37		\$7,311.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:  MBR CONSTRUCTION, INC.	First Offer - \$36.00	<b>Supplier Notes:</b> 300 / linear foot	\$10.800.00	Υ
Product Code:	11130 01101 430.00	Supplier Product Code:	410,000.00	·
Agency Notes:		Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$38.16		\$11,448.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
ENCO, LLC	First Offer - \$40.00		\$12,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:	First Offer - \$46.575	Supplier Notes: 300 / linear foot	¢12.072.E0	Υ
West Construction, Inc. [Ad]  Product Code:	First Offer - \$40.575		\$13,972.50	ĭ
Agency Notes:		Supplier Product Code: Supplier Notes:		
FHP Tectonics Corp 👔	First Offer - \$67.65	300 / linear foot	\$20,295.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2120194B114-42 Division 33: Sewer Service Supplier	Unit Price	Qty/Unit	Total Price	Attch. Docs
Waypoint Contracting, Inc.	First Offer - \$1.22	-	\$366.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:	First Offer - \$21.60	Supplier Notes:	\$6,480.00	Y
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$21.60	Supplier Product Code:	¥0,46U.UU	Ť
Agency Notes:		Supplier Notes:		
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$36.00	300 / linear foot	\$10,800.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$38.16	300 / linear foot	\$11,448.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:	First Offer - \$40.00	Supplier Notes: 300 / linear foot	\$12,000.00	Υ
ENCO, LLC  Product Code:	1113CONCI \$40.00	Supplier Product Code:	¥12,000.00	·
Agency Notes:		Supplier Notes:		
West Construction, Inc. [Ad]	First Offer - \$49.68	300 / linear foot	\$14,904.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
FHP Tectonics Corp	First Offer - \$67.65	300 / linear foot	\$20,295.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
PNC2120194B114-43 Division 33: PVC Clean-out with	Valve Box			
Supplier		e Qty/Unit	Total Price	Attch. Docs
ENCO, LLC	First Offer - \$250.0		\$3,750.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MBR CONSTRUCTION, INC.	First Offer - \$318.0		\$4,770.00	Υ
Product Code:		Supplier Product Code:		

	Broward County Board of County Commissioners		Ex Page 192	thibit 1 of 200	NC2120194B1
Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code:	First Offer - \$371.00	Supplier Notes: 15 / each Supplier Product Code:	\$5,565.00		Y
Agency Notes: West Construction, Inc. [Ad]	First Offer - \$403.38	<b>Supplier Notes:</b> 15 / each	\$6,050.70		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.  Product Code: Agency Notes:	First Offer - \$426.55	15 / each  Supplier Product Code:  Supplier Notes:	\$6,398.25		Υ
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$540.00	15 / each  Supplier Product Code:	\$8,100.00		Y
Agency Notes:  FHP Tectonics Corp	First Offer - \$544.50	<b>Supplier Notes:</b> 15 / each	\$8,167.50		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B114-44 Division 33: Gate Valve with Va Supplier		Qty/Unit	Total Price	Attch.	Docs
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$265.00	10 / each	\$2,650.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer - \$350.00	10 / each	\$3,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$356.95	10 / each	\$3,569.50		Υ
Product Code: Agency Notes:	F: + O((	Supplier Product Code: Supplier Notes:	42.770.00		v
Waypoint Contracting, Inc.  Product Code: Agency Notes:	First Offer - \$377.80	10 / each  Supplier Product Code: Supplier Notes:	\$3,778.00		Y
MBR CONSTRUCTION, INC.	First Offer - \$450.00		\$4,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]  Product Code: Agency Notes:	First Offer - \$504.00	10 / each  Supplier Product Code:  Supplier Notes:	\$5,040.00		Υ
West Construction, Inc. [Ad]	First Offer - \$621.00	10 / each	\$6,210.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B114-45 Division 33: Gate Valve with Va		Obs//Unit	Total Drico	Attab	Dogg
Supplier ENCO, LLC	First Offer - \$350.00	e <b>Qty/Unit</b> ) 10 / each	<b>Total Price</b> \$3,500.00	Attch.	Docs Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	•		
FHP Tectonics Corp	First Offer - \$356.95		\$3,569.50		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Waypoint Contracting, Inc.  Product Code: Agency Notes:	First Offer - \$396.08	10 / each  Supplier Product Code  Supplier Notes:	\$3,960.80 :		Y
Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$402.80		\$4,028.00		Y

	Broward County Board of County Commissioners		Ex Page 193	hibit 1 of 200	NC2120194B1
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$474.00	10 / each	\$4,740.00		Υ
Product Code:		Supplier Product Code: Supplier Notes:			
Agency Notes:  West Construction, Inc. [Ad]	First Offer - \$636.525	10 / each	\$6,365,25		Υ
Product Code:		Supplier Product Code: Supplier Notes:	,		
Agency Notes: Emerald Construction Corp. [Ad]	First Offer - \$780.00	10 / each	\$7,800.00		Υ
Product Code:	1.1.50 0.1.01 4700.100	Supplier Product Code:	•		·
Agency Notes:		Supplier Notes:			
PNC2120194B114-46 Division 33: Sampling Point					
Supplier		Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp	First Offer - \$229.90	20 / each	\$4,598.00		Υ
Product Code:		Supplier Product Code: Supplier Notes:			
Agency Notes:  H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$328.60	20 / each	\$6,572.00		Υ
Product Code: Agency Notes:	1 II SC GITC!	Supplier Product Code: Supplier Notes:			•
Emerald Construction Corp. [Ad]	First Offer - \$540.00	20 / each	\$10,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC 👔	First Offer - \$550.00	20 / each	\$11,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$621.00	20 / each	\$12,420.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$840.00	20 / each	\$16,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$1,742.77	20 / each	\$34,855.40		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B114-47 Division 33: Air Release Valve fo	or Force or Water Main				
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
FHP Tectonics Corp	First Offer - \$907.50	3 / each	\$2,722.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$2,014.00	3 / each	\$6,042.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$2,160.00	3 / each	\$6,480.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$3,600.00	3 / each	\$10,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$3,726.00	3 / each	\$11,178.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

Exhibit 1 Page 194 of 200 PNC2120194B1

**County Commissioners** Waypoint Contracting, Inc. First Offer - \$4,481.24 3 / each \$13,443,72 Υ **Product Code:** Supplier Product Code: **Supplier Notes: Agency Notes:** ENCO, LLC 👔 First Offer - \$5,500.00 3 / each \$16,500.00 Υ **Product Code:** Supplier Product Code: **Supplier Notes: Agency Notes:** PNC2120194B1--14-48 Division 33: Lift Station with pump Supplier Unit Price Qty/Unit Total Price Attch. Docs First Offer - \$222,870.00 \$222,870.00 Υ West Construction, Inc. [Ad] 1 / lump sum **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** First Offer - \$227,700.00 1 / lump sum \$227,700.00 Υ FHP Tectonics Corp **Supplier Product Code: Product Code: Supplier Notes: Agency Notes:** MBR CONSTRUCTION, INC. First Offer - \$240,000.00 Υ 1 / lump sum \$240,000.00 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** ENCO, LLC 🔓 First Offer - \$250,000.00 \$250,000.00 Υ 1 / lump sum **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** Emerald Construction Corp. [Ad] First Offer - \$264,000.00 \$264,000.00 Υ 1 / lump sum **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** H G CONSTRUCTION DEVELOPMENT & INVESTMENT Υ First Offer - \$291,500.00 1 / lump sum \$291,500.00 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** Waypoint Contracting, Inc. First Offer - \$310,774.31 1 / lump sum \$310,774.31 Υ **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** PNC2120194B1--14-49 Division 33: Concrete Septic Tank **Total Price** Attch. Supplier Unit Price Otv/Unit **Docs** FHP Tectonics Corp First Offer - \$3,630.00 1 / lump sum \$3,630.00 Υ **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** Emerald Construction Corp. [Ad] \$4,000.00 First Offer - \$4,000.00 1 / lump sum Υ **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** Υ First Offer - \$4,600.00 1 / lump sum \$4,600.00 West Construction, Inc. [Ad] **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** Υ Waypoint Contracting, Inc. First Offer - \$4,874.89 \$4,874.89 1 / lump sum **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** First Offer - \$5,000.00 \$5,000.00 Υ ENCO, LLC 1 / lump sum **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** H G CONSTRUCTION DEVELOPMENT & INVESTMENT First Offer - \$7,314.00 1 / lump sum \$7,314.00 Υ **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** 

First Offer - \$10,200.00

1 / lump sum

MBR CONSTRUCTION, INC.

\$10,200.00

Υ

**Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** 

PNC2120194B114-50 Division 33: Sanitary Drain field					
Supplier	Unit Price	e Qty/Unit	<b>Total Price</b>	Attch.	Docs
Waypoint Contracting, Inc.	First Offer - \$5,484.25	1 / lump sum	\$5,484.25		Υ
Product Code:		Supplier Product Code	•		
Agency Notes:		Supplier Notes:			
MBR CONSTRUCTION, INC. 👔	First Offer - \$7,300.00	1 / lump sum	\$7,300.00		Υ
Product Code:		Supplier Product Code	•		
Agency Notes:		Supplier Notes:			
ENCO, LLC	First Offer - \$8,000.00	1 / lump sum	\$8,000.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$9,075.00	1 / lump sum	\$9,075.00		Y
Product Code:		Supplier Product Code	•		
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$9,315.00	1 / lump sum	\$9,315.00		Y
Product Code:		Supplier Product Code	•		
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$14,840.00	•	\$14,840.00		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:	First Offer \$79,000,00	Supplier Notes:	\$78.000.00		Υ
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$78,000.00	1 / lump sum Supplier Product Code	,		ĭ
Agency Notes:		Supplier Notes:	•		
<b>,</b>		• •			
PNC2120194B115-01 Labor and Equipment: Site Grading					
PNC2120194B115-01 Labor and Equipment: Site Grading Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
	<b>Unit Price</b> First Offer - \$60.00	<b>Qty/Unit</b> 30 / hour	<b>Total Price</b> \$1,800.00	Attch.	Docs Y
Supplier		-		Attch.	
Supplier ENCO, LLC		30 / hour		Attch.	
Supplier ENCO, LLC  Product Code:		30 / hour  Supplier Product Code:		Attch.	
Supplier ENCO, LLC  Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code:	First Offer - \$60.00	30 / hour  Supplier Product Code: Supplier Notes: 30 / hour  Supplier Product Code:	\$1,800.00	Attch.	Y
Supplier ENCO, LLC  Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes:	First Offer - \$60.00 First Offer - \$121.87	30 / hour <b>Supplier Product Code: Supplier Notes:</b> 30 / hour	\$1,800.00 \$3,656.10	Attch.	Y
Supplier ENCO, LLC  Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$60.00	30 / hour  Supplier Product Code: Supplier Notes: 30 / hour  Supplier Product Code: Supplier Notes: 30 / hour	\$1,800.00	Attch.	Y
Supplier ENCO, LLC  Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code:	First Offer - \$60.00 First Offer - \$121.87	30 / hour  Supplier Product Code: Supplier Notes: 30 / hour  Supplier Product Code: Supplier Notes: 30 / hour  Supplier Product Code:	\$1,800.00 \$3,656.10	Attch.	Y
Supplier  ENCO, LLC  Product Code: Agency Notes: Waypoint Contracting, Inc.  Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes:	First Offer - \$60.00  First Offer - \$121.87  First Offer - \$137.80	30 / hour  Supplier Product Code: Supplier Notes: 30 / hour  Supplier Product Code: Supplier Notes: 30 / hour  Supplier Product Code: Supplier Product Code: Supplier Notes:	\$1,800.00 \$3,656.10 \$4,134.00	Attch.	Y Y Y
Supplier  ENCO, LLC  Product Code: Agency Notes: Waypoint Contracting, Inc.  Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes: Emerald Construction Corp. [Ad]	First Offer - \$60.00 First Offer - \$121.87	30 / hour  Supplier Product Code: Supplier Notes: 30 / hour Supplier Product Code: Supplier Notes: 30 / hour Supplier Product Code: Supplier Notes: 30 / hour	\$1,800.00 \$3,656.10	Attch.	Y
Supplier ENCO, LLC Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code:	First Offer - \$60.00  First Offer - \$121.87  First Offer - \$137.80	30 / hour  Supplier Product Code: Supplier Notes: 30 / hour  Supplier Product Code: Supplier Notes: 30 / hour  Supplier Product Code: Supplier Notes: 30 / hour  Supplier Notes: 30 / hour	\$1,800.00 \$3,656.10 \$4,134.00	Attch.	Y Y Y
Supplier ENCO, LLC Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes:	First Offer - \$60.00  First Offer - \$121.87  First Offer - \$137.80	30 / hour  Supplier Product Code: Supplier Notes: 30 / hour Supplier Product Code: Supplier Notes: 30 / hour Supplier Product Code: Supplier Notes: 30 / hour	\$1,800.00 \$3,656.10 \$4,134.00	Attch.	Y Y Y
Supplier ENCO, LLC Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: West Construction, Inc. [Ad]	First Offer - \$60.00  First Offer - \$121.87  First Offer - \$137.80  First Offer - \$180.00	30 / hour  Supplier Product Code: Supplier Notes: 30 / hour Supplier Product Code: Supplier Notes: 30 / hour Supplier Product Code: Supplier Notes: 30 / hour Supplier Product Code: Supplier Notes: 30 / hour Supplier Product Code: Supplier Notes: 30 / hour	\$1,800.00 \$3,656.10 \$4,134.00 \$5,400.00	Attch.	Y Y Y
Supplier ENCO, LLC Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes:	First Offer - \$60.00  First Offer - \$121.87  First Offer - \$137.80  First Offer - \$180.00	30 / hour  Supplier Product Code: Supplier Notes:	\$1,800.00 \$3,656.10 \$4,134.00 \$5,400.00	Attch.	Y Y Y
Supplier ENCO, LLC Product Code: Agency Notes: Waypoint Contracting, Inc. Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT Product Code: Agency Notes: Emerald Construction Corp. [Ad] Product Code: Agency Notes: West Construction, Inc. [Ad] Product Code: Agency Notes:	First Offer - \$60.00  First Offer - \$121.87  First Offer - \$137.80  First Offer - \$180.00	30 / hour  Supplier Product Code: Supplier Notes: 30 / hour  Supplier Product Code:	\$1,800.00 \$3,656.10 \$4,134.00 \$5,400.00	Attch.	Y Y Y
Supplier  ENCO, LLC  Product Code: Agency Notes: Waypoint Contracting, Inc.  Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code: Agency Notes: West Construction, Inc. [Ad]  Product Code: Agency Notes: West Construction, Inc. [Ad]	First Offer - \$60.00  First Offer - \$121.87  First Offer - \$137.80  First Offer - \$180.00  First Offer - \$299.00	30 / hour  Supplier Product Code: Supplier Notes: 30 / hour  Supplier Product Code: Supplier Notes: 30 / hour  Supplier Product Code: Supplier Notes: 30 / hour  Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 30 / hour  Supplier Product Code: Supplier Notes: 30 / hour	\$1,800.00 \$3,656.10 \$4,134.00 \$5,400.00 \$8,970.00	Attch.	Y Y Y Y
Supplier  ENCO, LLC  Product Code: Agency Notes: Waypoint Contracting, Inc.  Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code: Agency Notes: West Construction, Inc. [Ad]  Product Code: Agency Notes: West Construction, Inc. [Ad]  Product Code: Agency Notes: MBR CONSTRUCTION, INC.	First Offer - \$60.00  First Offer - \$121.87  First Offer - \$137.80  First Offer - \$180.00  First Offer - \$299.00	30 / hour  Supplier Product Code: Supplier Notes: 30 / hour  Supplier Notes: 30 / hour  Supplier Product Code: Supplier Notes: 30 / hour  Supplier Product Code: Supplier Product Code: Supplier Notes: 30 / hour	\$1,800.00 \$3,656.10 \$4,134.00 \$5,400.00 \$8,970.00	Attch.	Y Y Y Y
Supplier  ENCO, LLC Product Code: Agency Notes: Waypoint Contracting, Inc.  Product Code: Agency Notes: H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code: Agency Notes: Emerald Construction Corp. [Ad]  Product Code: Agency Notes: West Construction, Inc. [Ad]  Product Code: Agency Notes: West Construction, Inc. [Ad]	First Offer - \$60.00  First Offer - \$121.87  First Offer - \$137.80  First Offer - \$180.00  First Offer - \$299.00	30 / hour  Supplier Product Code: Supplier Notes: 30 / hour  Supplier Product Code: Supplier Notes: 30 / hour  Supplier Product Code: Supplier Notes: 30 / hour  Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 30 / hour  Supplier Product Code: Supplier Notes: 30 / hour	\$1,800.00 \$3,656.10 \$4,134.00 \$5,400.00 \$8,970.00	Attch.	Y Y Y Y

PNC2120194B1--15-02 Labor and Equipment: Laser Site Grading

**Product Code:** 

**Agency Notes:** 

**Supplier Product Code:** Supplier Notes:

	County Commissioners		5		
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
ENCO, LLC 🔓	First Offer - \$70.00	30 / hour	\$2,100.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$182.81	30 / hour	\$5,484.30		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$190.80	30 / hour	\$5,724.00		Υ
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$216.00	30 / hour	\$6,480.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	TI . 255	Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$300.00	30 / hour	\$9,000.00		Y
Product Code:		<b>Supplier Product Code:</b>			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$333.50	30 / hour	\$10,005.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$422.40	30 / hour	\$12,672.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
PNC2120194B115-03 Labor and Equipment: Constr	uction Laborer with justificat	tion			
Supplier	<del>-</del>	Qty/Unit	Total Price	Attch.	Docs
MBR CONSTRUCTION, INC.	First Offer - \$25.75	-	\$1,545.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer - \$29.68	60 / hour	\$1,780.80		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
ENCO, LLC	First Offer - \$30.00	60 / hour	\$1,800.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Waypoint Contracting, Inc.	First Offer - \$54.84	60 / hour	\$3,290.40		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$74.75	60 / hour	\$4,485.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$78.00	60 / hour	\$4,680.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FHP Tectonics Corp	First Offer - \$136.40	60 / hour	\$8,184.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
PNC2120194B115-04 Labor and Equipment: Electric	cal Journeyman or Electrician	with justification			
Supplier		Qty/Unit	Total Price	Attch.	Docs
ENCO, LLC	First Offer - \$60.00	100 / hour	\$6,000.00		Y
L-A0		· =	. ,		
Product Code:		Cumpling Draduct Cade			
Agency Notes:		Supplier Product Code: Supplier Notes:			

	oward County Board of ounty Commissioners		Exhibit 1 Page 197 of 200 PNC2120194B1		
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code:	First Offer - \$73.14	100 / hour  Supplier Product Code:	\$7,314.00		Υ
Agency Notes: Emerald Construction Corp. [Ad]	First Offer - \$78.00	<b>Supplier Notes:</b> 100 / hour	\$7,800.00		Υ
Product Code: Agency Notes:	1113CONC1 \$70.00	Supplier Product Code: Supplier Notes:	47,000.00		•
Waypoint Contracting, Inc.	First Offer - \$79.22	100 / hour	\$7,922.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$80.50	100 / hour	\$8,050.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC. $lacksquare$	First Offer - \$96.00	100 / hour	\$9,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$277.20	100 / hour	\$27,720.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120194B115-05 Labor and Equipment: Dump Truck					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Waypoint Contracting, Inc.  Product Code:	First Offer - \$304.68	3 / each  Supplier Product Code:	\$914.04		Υ
Agency Notes:		Supplier Notes:			
ENCO, LLC 👔	First Offer - \$400.00		\$1,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer - \$480.00	3 / each	\$1,440.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT  Product Code:	First Offer - \$530.00	3 / each  Supplier Product Code:	\$1,590.00		Υ
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$747.50	3 / each	\$2,242.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp 👔	First Offer - \$848.10	3 / each	\$2,544.30		Υ
Product Code: Agency Notes:	F: + Off	Supplier Product Code: Supplier Notes:	±0.000.00		.,
Emerald Construction Corp. [Ad]  Product Code:	First Offer - \$960.00	3 / each  Supplier Product Code:	\$2,880.00		Υ
Agency Notes:		Supplier Notes:			
PNC2120194B115-06 Labor and Equipment: Backhoe					_
Supplier	<b>Unit Price</b> First Offer - \$70.00	<b>Qty/Unit</b> 12 / hour	<b>Total Price</b> \$840.00	Attch.	Docs Y
ENCO, LLC  Product Code:	1113t Ollei - \$70.00	Supplier Product Code:	40 <del>4</del> 0.00		•
Agency Notes:		Supplier Notes:			
West Construction, Inc. [Ad]	First Offer - \$80.50		\$966.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Emerald Construction Corp. [Ad]	First Offer - \$102.00	12 / hour	\$1,224.00		Υ

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

#### PNC2120194B1--16-01 General Conditions: General Conditions

Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Emerald Construction Corp. [Ad]	First Offer -	1 / each		Υ	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
H G CONSTRUCTION DEVELOPMENT & INVESTMENT	First Offer -	1 / each			Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp	First Offer -	1 / each			Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
West Construction, Inc. [Ad]	First Offer -	1 / each			Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ENCO, LLC	First Offer -	1 / each			Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MBR CONSTRUCTION, INC.	First Offer -	1 / each			Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Waypoint Contracting, Inc.	First Offer -	1 / each			Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

### **Supplier Totals**

f MBR CONSTRUCTION, INC. \$6,113,586.07 (430/430 items)

Bid Contact Ron Boss Address 1020 NW 51st Street

ebroc@mbrconstruction.com FORT LAUDERDALE, FL

Ph 954-486-8404 33309

Fax 954-486-9579

Bid Bond (Status: Authorized on May 20, 2020)

Agency Notes: Supplier Notes: Head Attch:

w was a second of the second o

**Bid** \$600,000.00

Allowance

f ENCO, LLC \$6,483,764.30 (430/430 items)

Broward County Board of **County Commissioners** 

Page 199 of 200 PNC2120194B1

Address 5411 SW 25th Court

Pembroke Park, FL 33023

**Bid Contact Wilson Sanchez** 

wsanchez@encollc.com

Ph 954-342-2466 Fax 954-920-9040

Supplier Code VC000001610

Qualifications CBE

Bid Bond

**Allowance** 

Bid Bond (Status: Authorized on May 18, 2020)

**Agency Notes: Supplier Notes: Head Attch:** 

**Bid Allowance** \$600,000.00

f FHP Tectonics Corp \$7,510,748.84 (430/430 items) Bid Contact David Roy Address 2501 E Commercial Blvd

droy@fhpaschen.com 2501 E Commercial Blvd Ph 305-940-0264 Ft Lauderdale, FL 33308 Fax 305-940-0265

(Status: Authorized on May 20, 2020) **Head Attch: Agency Notes: Supplier Notes:** 

Bid \$600,000.00

f Waypoint Contracting, Inc. \$7,998,997.67 (430/430 items)

**Bid Contact Katrina Gonzalez** Address 1324 nw 29th st

kgonzalez@waypointci.com **MIAMI, FL 33142** 

Ph 786-608-1406

Qualifications SB WBE

**Agency Notes: Supplier Notes: Head Attch:** 

**Bid Allowance** \$600,000.00

f Emerald Construction Corp. [Ad] \$8,355,823.54 (430/430 items)

**Bid Contact Ramiro Gamez** Address 1211 Stirling Road Suite

ramiro@emeraldconstructioncorp.com 106 Ph 954-241-2583 Dania Beach, FL 33004

Qualifications MBE WBE

**Agency Notes: Supplier Notes:** Head Attch:

**Bid Allowance** \$600,000.00

f West Construction, Inc. [Ad] \$8,564,027.78 (430/430 items)

Bid Contact Martha A Morgan Address 820 N 4th Street

rbarrett@westconstructioninc.net Lantana, FL 33462

Ph 561-588-2027 Fax 561-582-9419

Bid Bond

(Status: Authorized on May 19, 2020) **Agency Notes: Supplier Notes: Head Attch:** 

Bid \$600,000.00 **Allowance** 

**f** H G CONSTRUCTION DEVELOPMENT & INVESTMENT \$10,633,396.54 (430/430 items) Broward County Board of County Commissioners

Exhibit 1 Page 200 of 200 PNC2120194B1

Bid Contact ANDRES MONTES DE OCA andres@hgconstruction.us

Address 4806 SW 74 TH COURT MIAMI, FL 33155

Ph 786-319-6507

Bid Bond

(Status: An error occurred during verification. Bond Not Found)

Agency Notes: Supplier Notes:

Head Attch:

\$600,000.00

Allowance

Bid

Industrial Shadeports \$149,900.00 (5/430 items)

Bid Contact Chip Breitweiser Address 1975 NW 18 Street

sales@shadeports.com Pompano Beach, FL 33069

Ph 954-755-0661

Supplier Code VC0000110122

Qualifications CBE SB SBE

Bid Notes See attachments for all additional information

Agency Notes: Supplier Notes:

See attachments for all additional information

....